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1. Which of the following is frue about the inferential method in statistics ?
i. It is used to describe and summarize the characteristics of a sample.
ii. This method falls within the class of confirmatory method.
(1) Only i (2) Only ii
(3) Bothiand ii (4) Neither i nor ii
Frafaiad & @ f9-a1 Gt § epuicis gsfad & aR § g7 8 7
i, 3EHE ITART AHA & fAqedrett @ gl ok |@ier A & e fhar Siren

2
ii. ge fafy giewor fafa & 9oft & ofd i ol B
(1) »ad i (2) Fadii
(3) i3N<ii AT (4) F q@i3NT T i

2. Which of the following is frue about the Skewness in statistics ?
i. Itis used to measure the degree of asymmetry in a sample.

ii. A negative skewness is the condition when there are a small number of low
observation and a large number of high observation.

(1) Only i (2) Only ii ~(3) Bothiandii  (4) Neither i nor ii
qitegant & fagaar & s 7 fr=fatag § @ #9-a1 g 8 7

i, SHH ITEAE T F TRty @ I @ Aw & fog feRar S 2

ii. Th AHRHS QuAar gs Rufq ® s/9 &9 @@ § $H sadied AR J9i

g ¥ I=g YA B g |
(1) daad i (2) Had ii 3) iATiigAT  (4) T AiAT T ;ii

3. Which of the following is a characteristic of closed-ended question.?

(1) Itis difficult to uSe, score and codify for analysis.
(2) Possibility of missing true response of an individual.
(3) It tends to open the answers by providing alternatives.

(4) It allows for more individualized responses.

Frafafag & § PF-O de-gaia are g9 # A ¥ 7

(1) fareqeoT & g ITANT AT, B HIAT AR HIS HAT G ¢ |
(2) fpell aaferT & == ufafkar & TH BN & GHWEHT |

(3) TE Ihe9 ToM HTH IAX @A P UgRT W& ¢ |

(4) 7 e ik gfafkarett & e \ergafa 3T 81
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4. Which of the following is false about Personal Interview ?

1. Highest Response rate

il. Most Expensive

(1) Only i (2) Only ii (3) Bothi and ii (4) Neither i nor ii

=g & & $H-a1 afreT anrer @ ar § owe & 7

i. J==ay gfafskar aX

i. 9 #7EM '

(1) Padi (2) Faaii (3) ialRiid=T @) 7 ari R 7 @i
5. With reference to Sampling Error, consider the following statements :

1. The difference between the actual value of a parameter of the population and its
estimate (from the sample) is the sampling error.

ii. The sampling error decreases with increasing sample size.

iii. It occure when some members of the target population could not p0551bly be
included in the sample.

Which of the given statement/s is/are correct ?

(1) ii and iii (2) iand ii (3) iionly - (4) i,iiandiil

AR i & Hed H, Frefaiad sl o) faemr St

i. SHEEd & Uh QUHIER & ardidsd qod R S8d FgHE (AT 9) & &
FHT AT TAT JfT B

ii. AT AR F gie & 9 T g " AR 2

iii. g8 q9 BT & 59 AR AEE B BB GG & b HHGd: T F enfAaa
&l T ST a2

feg wq wHuAl § § P-4 T e/ 7

(1) ii S iii (2) i37Tii (3) Fad ii 4) i, ii 3N i

6. Which of the following techniques is suitable for showing the frequency distribution
of grouped data? »
(1) Pie chart (2) Bar chart (3) Line graph (4) Frequency polygon
ﬁwﬁfﬁgﬁﬁﬁwﬂﬁd%dmwﬁaﬁaﬂﬁ%mmﬁwﬁ%
forq Sugert & °?

(1) g = (2) SX = (3) Y@ % (4) sTgRT ST

7. Which of the following statement/s is/are true ?
i. The Upper Quartile has 75% of the items of the distribution below it.
ii.. The second Quartile has 50% of items above it.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
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frfafad & & P=-a1/8 o7 dF 2/8 7
i, S Fgals d 3Ee A= @aeer & 75% Agen g
i, TR IgdE H 39H HUC 50% 3TESH 2 |

(1) dadi (2) Fadii (3) iAXii AT (4) T Ari A T i
8. Type II error refers to :

(1) Rejecting true hypothesis (2) Rejecting false hypothesis

(3) Accepting true hypothesis (4) Accepting false hypothesis

ersy 11 Ffe dfia & B
(1) T BT Bl SRR HAT (2) 3T GIRepeadT el FAEHR HIAT
(3) T UREhIAT T R HT (4) 3T GRheaAT el EIhR HIAT

9. One Sample T test is used in which of the following cases ?
i.  When population variance is unknown.
ii. When the sample size is big.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii
frfefeag & @ e ama § b A1 & gheer @ IuE e S @ 7
i S9 SHEEd fa=Rer o= @
ii. S/ 99 9G5St 997 | :
(1) Paai (2) ad ii (3) iaNTiia=AT  (4) 7 @i T DA

~10. Which of the following statement/s is/are true regarding correlation ?
i. Correlation measures causation.
ii. A scatter diagram is a correlation technique for visual examination.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
geady & day § Frafaied § 9 sE-91/8 9 g 2/8 ?
i. Oeddy HH-FHROT HI HGTT € |
ii. @Ermmgswﬁw%%quuawﬁm%l
(1) Pad i (2) dad ii Q) idRiiaA  (4) T @i T A

11. Which of the following is frue about map scale ?
i. Large-scale maps show large portions of the Earth's surface.
ii. Small-scale maps are less detailed. :
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
AT & WM & IR J FEfeied § & d9-91 @@t e ?
i, 92 M P At g @ 9ae B 92 Rey B Raa ¥
ii. B YW % AFRE w9 fawgd 8 2
(1) Faai (2) dad ii @) islRiigEt () 7 arisiT T i
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12, Which of the following defines the orthographic projection based on the source of
light ?
(1) The light emanated from the center of the globe
(2) Light source is at the point opposite the point of tangency
(3) The light emanated from the infinity
(4) None of the above
fFrfaiea & & B9 umsr & 919 $ N 93 offeamfthe wager @ afiHIEd
H B P
(1) ™™g & b= F Fabar weprer
(2) 91T Hq W@ & faoda g 9w @
(3) ST+ A FreheT epTer
(4) IR H q RS TE+

13. Which of the following is true about The Universal Transverse Mercator (UTM)
system ?
1. Itis a coordinate system that covers the entire world from 84° South to 84° North.
ii. Itis subdivided into 66° zones that are elongated in the north-south direction.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

gadd giFad Adhex (UTM) fawew & s § fefefag & @ f9-a1 g

g7

i. & TH GEGS TUMCH B SN G g @ 84° afeer | 84° IR A A
FHA B

ii. I8 66° &= ¥ Iu-faaifora & o Io-=feror Rem & fawga &

(1) Hadi (2) Fad ii (B) idARiHIF[ (4) T Ariei T Fii

14. Which of the following is false regarding maps ?
(1) Chorochromatic : When different objects are shown by different colors.

(2) Choropleth : When different degree of value is shown by different shades of lines

or a single color.
(3) Choro-schematic : When different values are shown by different types of diagrams.

(4) Isopleth : All those maps in which lines of equal values are shown.

qHAfRET & deag & frafaiead § 9 d9-91 g B °

(1) FREpAfeE : s/ - awgstt @ - & @ Raer ser 8

(2) PR : FH AAT-TAT TN & [T A1 T & [T SRT AT
e # g @ S 2

(3) BV-FSHAEE : WWW%WWWWE@QG{%%\

(4) g @1 2 T gt "EfEE S 9w A= S @ g9iE Sy ¥
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15. Which of the following statements are frue about dot density method ?

16.

17.

18.

i. Itis an effective way of illustrating variations in spatial density.

ii. Large ranges in data values is suitable for this technique.

(1) Only i " (2) Only ii (3) Bothiandii  (4) Neither i nor ii
fag oo fafar & e & Frafafaa & @ P9-9 Fo9 g7 € 7

i. ¥ et g ffguaredt @1 g @ wh g9l T B

ii. 39 dep-ieh @ [T Ser Iy # 9t ¥ IugE B

(1) Padi (2) Fadii (3) idMTiiaAr  (4) T AT T i

Which of the following statement/s is/are frue about atmospheric interaction of
electromagnetic radiation ?

i. All electromagnetic radiation detected by a remote sensor has to pass through the
atmosphere once.

ii. Non-selective scattering results in haze in photography and blue sky.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinor ii

Frefafad § & B-a1/3 Hu Rega-ge9m AT # agHsdE s

frar & X & @@ 8/ ?

i REe 93 @@ 91 @ e g fAgga g fafeer & us ar
FIAERT | ST Sl B

. gT—aamm T @ URETHEEY BRI AR AT AR H gy e

| _

(1) Padi (2) Fad ii () iiiAA @) T @i T i

Which of the following objects spatial reflectance curves shows the peak and valley

configuration ?

(1) Vegetation (2) Water (3) Soil (4) Glaciers

frafafaa & @ #9-91 9% @b Weas g% Rew o ard fF=ra @

geram 8 7

(1) areaf (2) o () (4) SRR

Which of the following statement/s is/are frue about Geostationary satellites ?

i. They are located at an altitude of about 36,000 km and above.

ii. GOES and METEOSAT are some of the satellites under this category.

(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii
fes IqUel & ar 7 Fr=fafad & & fF-91/8 ®29 gw.8/8 7

i. T T 36,000 T SR IEQ o1 # SHars ux R ¥

ii. GOES 37X METEOSAT 39 2t & %5 Iue |

(1) dasi (2) dad ii (3) iRiia=AT  (4) T AiIARX T i
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19. Which of the following type of resolution is the capability to differentiate the spectral

reflectance between various targets ? '
(1) Spectral . (2) Spatial (3) Temporal (4) Radiometric
ﬁwﬁﬁmwwﬁﬂsﬂﬁ%mﬁ%eﬂaaﬁ%ﬁﬂwﬁﬁ

ST BT HI &HAT TGAT & °

(1) Rz (2) Tt (3) THORA (4) EaHATH
20. Which of the following pairs is false ?
(1) RADARSAT—India (2) OCEANSAT — India
(3) IKONOS - USA (4) CARTOSAT — India
fFr=fefaa & @ f9-81 g o/ B 7
(1) TRAT - 9”a (2) NIEAT - AT
(3) 3HEE - JUEY (4) FE—E - HA
21. Which of the following statement/s is/are true about Geometric correction in Remote
Sensing ?

i. It is the transformation of a remotely sensed image into a map with a scale and
projection properties. :

ii.” The performance of the sensors is continuously monitored by applying Geometric
correction.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

;ﬁzﬁﬁmﬁmﬁ?ﬁagm%ﬁﬁﬁtﬁ%ﬁﬁﬁéaﬁ?—m/ézﬁw e
/B ?

i. TE U I HI&T Bf @ UHM SR "e9l N & | uh AEES o
SIECE Y |

i, SOfET U AR FR@ A% B gR9T A TaR MR @ SRl 2

(1) dad i (2) Had ii (3) isMTiigA  (4) F AiAR T ;i

22. Which of the following statement/s is/are frue about Digital Image Classification ?
i. It is a procedure to automatically categorize all pixels in an image of a terrain into

land cover classes. _
ii. Classification methods that relay on use of training patterns are called supervised

classification methods.
(1) Only i - (2) Only ii (3) Bothiandii  (4) Neither i nor ii
fefired sy affetsr & IR & Fr=fafaa # & d=-91,/9 FoH g /8 ?
i F8 Y-oTERY N A - H vl A @ Nea b e w9 d

gifiepd ¥ @ T Gfeear B
ii.mﬁmw%aﬂ%ﬁrmﬁzﬁ%aqmwﬁﬁrm%qﬁ%

FaffeR<or fAfr @ead 2 |
(1) Pae i (2) Fas ii (3)iaﬂ1iiaﬁ=ﬁ 4) 7 qrisle T i
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23. The term 'Base Level' was proposed by ?
(1) J. W. Powell (2) W. M. Davis
(3) James Hutton (4) Dutton
‘AT dgd’ = [T R gxdraa fedar TaT ar ?
(1) o s=go daw (2) T=go THo SfaH
(3) S BaA (4) 3<H
24. Which of the following statement/s is/are frue about Davis Cycle of Erosion ?
i. Landforms are the evolved products of the interactions of endogenetic (diastrophic)
forces only.
ii. There is a long duration of upliftment and it goes hand in hand with erosion.
(1) Only i '(2) Only ii (3) Bothiandii  (4) Neither i nor ii
M b TR B AR F FrAfeRad § § H-A/A BT GF 8/ 7
i. ;—aﬁ%ﬁ%mﬁa(m)aﬁﬁmzmﬁ%mm
|
i, I @ e oy At ¥ oY g® aRer B Ar-|r HeAd 2 |
(1) Fasi (2) Bad i (3) i AAT  (4) T AriAR 7 Fii
25. Which of the following statement/s is/are frue about Seismic Waves ?
i. 'P' waves, are analogous to light waves.
ii. The speed of L wave is greater than P and S waves.
(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii
gl aah & IR 7 Freafiad § @ SH-91/8 wuT g 2/8 °
i, 'P' G weRlel OEI B STIEY onil ¢ |
i, L a¢r @t A P SR S a3 § A et T
(1) Fai (2) Had ii () idRiiaA  (4) T A@riedR T ;i
26. The concept of sea floor spreading was propounded by :
(1) Mckenzie and Parker (2) Hary Hess
(3) Alfred Wegener 4) Vine and Mattheus
I 0 &g & AGUREN e T gfaarfed @ T8 oy ?
(1) AFSH R g ) 5 =9
(3) TFHE AT (4) a5 SR Fegw
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27. Which of the following statement/s is/are frue about magnetic anomalies along the mid 31.
oceanic ridges ?
i. Normal and reverse magnetic anomalies are found in alternate manner on either
side of the mid-oceanic ridges.
ii. There is absence of parallelism in the magnetic anomalies on either side of the
mid-oceanic ridges. =
(1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii :
Ty HEENE FeE B A gudg emtEr & oan § Frefaed J 8
PH-T/H FIH T /8 ?
i. FE-HEAFd wedl F aFt ok Aeeds w9 @ grra SlY faud|
gaeha fagnfeat i Sl ¥ )
ii. qum%ﬁaﬁ?ﬁuﬁmﬂ%ﬁﬁmwam%l |
(1) Ha i (2) Fae ii (3) iadwiiddt  (4) T A@iAR T i 32

28. Which of the following statement/s is/are frue about Isostasy ?
i.  This term denotes the horizontal mechanical balance of various landforms on the

earth's crust.
ii. Airy's views on Isostasy was influenced by law of Compensation.
(1) Only 1 (2) Only ii (3) Bothiandii  (4) Neither i nor ii

ST & AR § Frefeiag § § dM-ar/d wud g 28 ?
i qgsmg&tﬁﬁu@@%%a—mﬁﬁ%%uﬁm@aﬁ

graT B
ii. guRefyd o o8 & e afagit & FEE @ o 9
(1) adi (2) dadii S 3) islTiig| (@) ¥ Arisik F ;i
29. Which of the following Intrusive Igneous rocks formation resembles to a bowl shape ?
(1) Sills (2) Lopoliths (3) Laccoliths - (4) Phacoliths
freRfEd ¥ @ A orddl g At B R weR @ o S o
gar e ? '
(1) fae (2) SqifcTed O RSEAUNES (4) Bpiferes
30. Which of the following pairs is false regarding original rock and their metamorphic - 2
forms ? .
(1) Limestone — Marble (2) Shales — Schists
3) Conglomerates — Gneisses (4) Shales — Slates
Prafafag & @ @9-91 3H O0 9eM AR 6 SUART w9 F day F
T T 7
(1) TAT TR - FHTEL (2) 94 - farew
(3) HieHRe - T (4) A - wWeH kR
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31. Which of the following statement/s is/are frue about types of folds ?
The difference in the intensity and magnitude of compressive forces also causes

variations in the characteristics of fold.
Recumbent folds are formed when the compressive forces are so strong that both

the limbs of the fold become parallel but not horizontal.

(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii

RrfRad # @ HT-a1,/Q HoF aed B THRK B TR T FF /8 7

i T et @ dgar ok aReer § ofax off gom @ faRwenett 7 afRad
T T IAT 2 |

i éagw%wm%maﬁﬁm@ﬁsaﬁwé?ﬁ%ﬁﬁ%%
AT ST FEEER & S & Qfeed afost A8 8 |

(1) ®aati (2) FaeT ii (3) islwiigdr  (4) T @ik T i

32. Which of the following statement/s is/are true about sliding continental theory of Daly
on mountain building ?

E A solid crust was formed much later after the origin of the Earth.

ii. Mountains have formed by the folding of geosynclinals sediments as a result of
lateral pressure exerted by the sliding of the continental crust towards the
geosynclinals seas.

(1) Only i gg) Only ii (3) Bothiandii  (4) Neither i nor ii

gga FEloT W) & WISET Hifeded &0 & IR F '

HA-/8 FIT FF /8 7 e

L gl Bl SR & TgT S A w31 suew 1 i g

; BIEGILESESE] Wﬁﬁﬁ%ﬁ v p B "

W%ﬁgmwﬁmﬁfﬁhgaﬂ%l

(1) FadT i (2) P i Q) iRiHIA @) T ariedk T i

33. Which of the following chemical weathering involves the process "Kaolinization" ?
(1) Hydratiop (2) Hydroloisis (3) Chelation 4 Cart())c::;f?otlon |
'Fv‘r':ima(l H | e At owem § “grelfemrssies gfepar sfeer & ?

) STAGST 2) eERfEEE (3) S@YH (4) HERIT

34. Whi;:h (;tl” the following statement/s is/are frue about Slope development ?
1 -
arrxl 1 ope replacczment, the steepest part of the slope progressively d i
gle, accompanied by the development of a convexity and concavit}}ll e

ii. I i i
n slope decline, the maximum angle decreases through replacement from below by

gentler slopes, causing the great
concavity. & the greater part of the profile to become occupied by the

1.

il.

\

(1) Only i ii
y (2) Only ii (3) Bothi and ii (4) Neither i nor i

! PG-EE-June, 2023/(Geography)(SET-X)/(A)
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Frafafed & & H9-a1,/8 FoF o e & ar § g 8/8 7

i, oA dfeRees #, eAe & dey ao Rwd guear oY sfadedr & [
F AR-EY HY H ITRIAL gedT ST 2 |

ii. oo FREe ¥, sfusmas HIv7 &8 oaMl qa)r A Q@ giqened & ATEH
q gedr B, 9d NwEd & 927 fewd sfgdaddr & WY Sl © |

(1) aai (2) @A ii @) i AR (4) T Vi AT T i

35. Consider the following statements :

i. Antecedent streams are those which are originated prior to the upliftment of land
surface.

ii  Antecedent stream is a type of insequent drainage system.

iii. Superimposed Drainage System is a type of obsequent streams.

Which of the statements given above are correct ?

(1) iandiionly  (2) iiandiiionly (3) iandiiionly (4) i, iiandiii

Frefafaa Het o fEr Hifm |

i, gdad g 7 ¥ S qft @ dae B S d usd S &8 € |

ii. gdaclt 9T T UBIK & e S e gomel 2 |

iii. guigmaes 39 T o geR @ wadl gR ¥ |

TR RY ™ FEt F F FE-9 @7

(1) BadialRii  (2) da«ii Al (3) FawriATiii  (4) i, i ;i

36. Which of the following landforms is a result of erosion and deposition both at the same

time ?

(1) Structural benches (2) River terraces

(3) Meanders (4) Gorges ‘

B & @ P9-91 Sgia eTURE AR MEmer 9l Uk & g9y H qiRend
g 7

(1) §EAHS o9 (2) &1 afenr

(3) =4 (4) TSt

37. Which of the following statement/s is/are frue about sand dunes in an arid location ?
i. Longitudinal dunes are generally formed in the heart of trade wind deserts.

i In Barchan dunes, the horns always project upwind.

(1) Only 1 (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Preffag § & PF-91/8 B9 T g%h WH F W0 B det & aR 7 a9

2/8 7
i. fragr STHAR UX ARG o< WA & = § a9 & |

ii. s fesm H, sjﬁ(gﬁ)aﬁsnwwnﬁqwaﬂ%%«

(1) Bae i (2) I ii (3) iSRii g (4) T @ielk 7 &
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38. Which of the following statement/s is/are frue about ecological approach of Man-
Environment relationship ?
i A man is not considered as an integral part of nature/environment.
ii. It lays emphasis on rational exploitation of resources and optimum utilization but
not the recycling of resources.
(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii
AFg-gEtaRer ey 3 aiRiefe gfteder & gk § Frafafad & @ Se-ar/a
HIT FH 2/8 7
i, A B U/ oEtERer B AR T FE A ST
ii. g8 gEeEl @ addTd e ofR gedd SWN X ST AT B Al
HEgEl & gAEshe 9 e |
(1) I i (2) @ad i 3) iARii g (@) T @iAR T i
39. Which of the following statement/s is/are true about ecosystem ?

i. Low species diversity of a mature ecosystem representing a 'climax community 1s
related to more stability of natural ecosystem.

ii. Ecosystem instability results when an ecosystem becomes unable to adjust with
environmental change. - '

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

giRkRefest &5 & sk § Frefiag ¥ § SE-a1/8 FA9 FF /8 7

i. TP TRy "I’ & AfAHEE # a0 aiRge aiikfRefaent = @
frr gomfer fafaear orepfes oitfafoa o5 @ siftes Rerar @ d@dfad 2

ii. gRRefya o= @1 FReRar &1 ooy a9 2191 @ o9 U giiRefasr a5
qgfeyer aReds & a7 FEETg s & 37Eae 8 S dr 2

(1) & i (2) &ad ii 3) isMRiiaAT  (4) T @iAX A i
40. Which of the following statement/s is/are frue about Food chain and food web ?

i.  Richer the biodiversity, the food web becomes longer and more complicated.
ii. A more complicated food web is more stable.

(1) Only 1 (2) Only ii (3) Bothiandii  (4) Neitherinorii
fFrfifead & @ SE-81/8 FI9 TEd Jaw R @ed 39 3 axX ¥ g7 8/F ?
i. Sg fafggar ol @9= erffl, @eE S Sar & der R Sifed @xar

SITQT |
ii. o oIt Sifed @ed S Afes Tl e B
(1) dadi (2) dad ii @) iARiigA  (4) F i T i
PG-EE-June, 2023/(Geography)(SET-X)/(A) P.T.O.
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41. Which of the following is correct about tropical evergreen forest biome ?
i.  Presence of climbers, creepers and epiphytes.
ii. The germination of plant seeds and sapling growth is extremely slow.
iii. The moisture content in the air decreases from the uppermost canopy
the ground surface. ' 44
(1) iand ii only (2) iiandiiionly (3) iandiiionly  (4) i, ii and iii
oS GeEER a9 aEE # ar § e § 8 - ger & ?
i, FRE, aar oY AfgEy @i IufRefd |
i %%Wwwﬁ@rﬁﬁq@éﬁwéﬁ?ﬁ%l
i BT § T A AT 9 Sud sl § @ & &Y ST B FAE T PH
g SR 2 |
(1) daaiadTii  (2) dad ii Wi (3) FaeriATiii (4) 1, i SR i
42. For the Assertion (A) and Reason (R), choose the correct alternative from the
following :
Assertion (A) : The primary ecological productivity of the tropical rainforest biome is
the highest.

Reason (R) : There is maximum competition among the various members of
vegetation communities of the tropical evergreen rainforest biome to get light.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

W(A)@TW(R)%F@ ﬁwﬁfﬁaﬁﬁr% el faseg g -

AT (A) : SwEHeSd aufad aEH H Gt iRfEEfas ScrEshdl

I=aH B
W(R):wmm‘am%%{qw&ﬁmﬁawaﬁaﬁa@n%

gt EgErE A R qeedl & di9 sftenan wfoest 2
(1)A@1Raﬁw%aﬁ11{mﬁa@m%l
2) ARG @ € AfpT R, AH w1 e & 2 |
3) ATE & 9y R A B
(4) ASTHS B Ig RAA B

43. Which of the following statement/s is/ate correct about marine biome ?

downward to

i Distributions of marine plants and animals are less widespread in nature.
ii. The food chains and food webs of the marine biome are simple.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neitheri nor ii

PG-EE-June, 2023/(Ge0graphy)(SET-X)/(A)
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qgE aEE & A § fretarad § @ @e-ar/8 U @@ 8/ 7
i, FgE N oI AER @ AT g § S ©
ii. TGN IEE H @ gEdd AR @Ed S 61 2

(1) &Ha i (2) Bad i (3) iiiq=r  (4) F Ari AR A i
44. Which of the following factors is not associated with coral bleaching ?

(1) Global warming (2) El Nino Phenomenon

(3) Subsistence Fishing | (4) Black Band Disease

Frefefad & @ PH-a1 HR vard [@io | ddfed 87 © 7

(1) e arfH (2) ST AT "l

3) fHate #e= g (4) &p F3 T
45. Isohypse connects the places having same values of :

(1) Fluid velocity (2) Precipitation  (3) Elevation (4) Temperature

STEAIElES G gedl ai T Hy Siedl 8§ 7

(1) &= a7 (2) agor (3) =M (4) qaHA

46. Which of the following statement/s is/are correct about Composition of the
Atmosphere ?
i. The volume of CO, and other gases is constant over the years.
ii. Water vapour increases from equator to poles.

iii. The highest concentration of dust particles is found in sub-tropical region than
equatorial region.

(1) iandii (2) ii and iii - (3) i, 1i and iii (4) Only iii
agHed @ & aR H§ fFrefiad § 8 fF-a1,/8 w9 @@ 28 7o
i. CO, oIR =g T4l & 7= a9 q ReR 2|
ii. STeraTsd Yo 3@ q gal Hl IR dedl ¢ |
i, YHERGE & H gAI H IUWEHREAS a5 ¥ g B HON H I=adw
gisdr 918 S 2 |
(1) i3 ii (2) ii ST i (3) i, i 3N ii (4) Fadt iii
47. Which of the following statemnt/s is/are correct about tropopause ?
i. Air temperature at this area varies from equator to poles.
ii. The vertical temperature at this layer varies.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinor ii
Frefafad & @ SH-a1/8 Hue e & IR § gt 88 ?
i. 39 &F F &1 B AQIUHM YHE @1 & ygal d% deddr &dl 2 |
i, 39 9XG WX FATEX IqAE 5= 8ar 2
(1) Padi (2) Fadii 3) iR A 4) T arisk T ;i
PG-EE-June, 2023/(Geography)(SET-X)/(A) | P. T.O.
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48.

49.

A

For the Assertion (A) and Reason (R), choose the correct alternative from the
following :

Assertion (A) : Equator receives comparatively less insolation than the tropics.

Reason (R) : Maximum insolation is received at sub-tropical arca due to less
cloudiness.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false. '

(4) A is false but R is true.
W(A)ﬁw&)%%rg,ﬁmﬁ%ﬁﬁa@?ﬁwww
HITY
W(A):w&ﬁdsﬂqaﬁwﬁyw@mmﬁmw
Tl A 2 |

T (R) :mwéﬁ%wﬁwmﬁﬁeﬂwaaﬁaﬁﬁww
oI e B | '

(1) ASIRREAT da & R, AH & AT B

(2)A@TRMW%WR,AE«%H@WH§%|‘

(3) AFE T 9= R ™A B |
4) ASTEeT & AfFT REA B

Which of the foHowing correctly defines Albedo ?
(1) The difference between reflected solar radiation and scattered solar radiation.

(2) The difference between shortwave solar radiation and long wave terrestrial
radiation
(3) The percentage of absorbed solar radiation by dust particles.

(4) The percentage of visible light reflected by an object.
Wﬁﬁmmﬁwmﬁmw%?

(1) wrafda d ffee o) fer ge aX R & 9= e
(2) AT G YeueE oY AT 3 RMEFT Weew B ¥ o
(3)&@%@%@3%6@?%%9%%

(4) Rpet &g g0 gREfia 3 TP SINEIN]

PG-EE-June, 2023/(Geography)(SET-X)/(A)
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50. For the Assertion (A) and Reason (R), choose the correct alternative from the

51.

following :
Assertion (A) : Tropical cyclones are not formed near equator.

Reason (R) : At the equator, the coriolis force is zero and wind blows perpendicular to
the isobars.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false.

(4) Ais false but R is true.

HIF (A) X HROT (R) & fon, Fr=feiad & § gt fwea &1 === v -
ARHYT (A) : A @1 F UrF IWEheFNT AT Ael F9d- 8 |

FROT (R) : e @ W, HiReNferd g g7 &dr & T sdr F9a [@m3l
% ddad gl B

(1) AT R AN T & IR R, Al 981 are 2|

(2) AR RIAT T & AfbT R, A& Gl e =&t 2

(3) ATT & =] RTAH B

(4) AFEH & AfBT RIS T

Which of the following statemnt/s is/are correct about temparate cyclone ?

i. These move from east to west direction.

ii. These originate over ocean and land.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
AN =ehatad & aR A Fr=faiad § @ S9-a1,/8 so09 g8 28 ?

i. ¥ gd | ufyEm fRem & o) Tl )

ii. ¥ F oM YA & FIX IA Bl 2|

(1) Pa | (2) P i G) iMRiAT  (4) 7 Fielk 7 &

Which of the following pairs is incorrect ?

(1) Rainfal — precipitation in the form of water
(2) Hail — Small and rounded solid pieces of ice
(3) Sleet — very fine raindrops

(4) Frost — Ice crystal of water droplets
fr=iffaa & & &9-91 g9 Toa & ?

(1) a9t - ST & &9 F guor

(2) e - 9% F B R T o9 TH
(3) et aul - 9gaq @& aut =&

(4) 9T - 9T @ SET BT % B fheed

PG-EE-June, 2023/(Geography)(SET-X)/(A) P.T.O.
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53. Which of the following type of cloud is formed by loss of heat or mixing of air

masses ?

(1) Cumulus (2) Stratus (3) Nimbus (4) Cirrus
ﬁwﬁ@ﬁmwa&rmnﬁf%wma@mﬂ%ﬁrwﬁm
g7

(1) == (2) &ed (3) fiee OREA

54. Which of the following statement/s is/are correct about Cs climate as per Koppen
classification ?

1. They occur around equatorial zone.

ii. This climate is characterised by dry winters and rainy summers.

(1) Only i (2) Only ii

(3) Bothi and ii (4) Neither i nor ii

PO FHBIOT & FFER Frfafad § & SHi-ar/8 HoF Cs ST@arg & G
e /8 ?

i T qEEREE & & A e 2 |
ii. 39 Sioarg & geh <fiaerd SR ast WsTeha | STET Ser ©

(1) Pad i (2) FHad ii
(3) i3 ii a=AT (4) F @i T &rii
55. In which part of the ocean floor does the Canyons and trenches are observed ?
(1) Continental Slope (2) Continental Shelf
(3) Deep Sea plains (4) Along mid Oceanic ridges
HETErTOd a0 & fh9 R # =918 3R @sdr 918 Snft & ?
(1) A& e (2) HETENT TH
(3) TEX TR H A& (4) AT HEEARTRA Hedht & qrey

56. Which of the following statement/s is/are correct about Oceanic salinity ?
i. Salinity lower in Black sea than Mediterranean sea.
ii. Salinity is higher in Arabian sea than Bay of Bengal.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ij
TerarTie daorr & gk & Frefafad § 8@ S9-a1/8 due g8 2y o
i, spTer @R @ gaT H BT AR F AU w7 8
i, e @ @l @ g § oRE ArR H d9I S ¥
(1) Faat i (2) B (3) 1A (4) 7 Qiair 7 & i

PG-EE-June, 2023/(Geography)(SET-X)/(A)
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57. Which of the following statement/s is/are correct about tides ?
i.  The gravitational force of Sun is more dominant than the Moon.

ii.  On the opposite side of the earth to moon, centrifugal force is more dominant than
gravitational force,

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

SR & 9R # Frefatag & § S9-ar,8 #a gd@ 2E 7

i gd B TEEdY g9 g @ v gae &ar 1

i, gl ¥ dmm F Ruda R § dwraans ad EErENe ad @ gear &
3fereh guret Ear ¥ '

(1) et i (2) Fae i 3) iATiigFAr  (4) 7 ari N T i

98.  Which of the following statement/s is/are correct about Geostrophic winds ?

i. They originate when pressure gradient force and Coriolis force balances each
other.

ii. It occurs near the equator on the earth surface.

(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii
fFr=fafad & @ fF-ar,/a Foe gfedd eaet & ax ¥ g7 2,8 2

i. T TG IAA BT T ST I ggUEL 59 IR ARSI 99 o g@y @

qferd & 21
ii. 98 A9 @1 & 9E Yl & @8 9T B 8|
(1) Fae i (2) ®ad i 3) iR I (4) T Aislk T i

59. Which of the following is/are frue regarding BSh climate as per Koppen's climate
classification ?

i. Potential evaporation exceeds precipitation.

ii. Average annual temperature is more than 18°C.

iii. They are found along the fringes of sub-tropical deserts.

(1) iand ii (2) 1, ii, and iii (3) only i (4) only iii

HA & oAy FHT B FIAR AT Siearg B dey § Prefarad § @
FH-91,/8 GH /8 7 _

i, derad arsfieer a9l @ SHAfuE B

i, oNgg afde daaHE 18°C 4 Ay B

iii. 75 SuwTEeddE WA & R amEr Sy ¥

(1) i3Mii (2) i, ii 3T i (3) Faei (4) St i
PG-EE-June, 2023/(Geography)(SET-X)/(A) ‘ P.T.O.
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60. Which of the following is a cold current ?

(1) Gulf stream (2) California Current
(3) North Atlantic Drift (4) Brazilian Current
frr & @ H- S a=T ® 7 .

(1) 6 W (2) HAHIHAT HIE

(3) I STedifesd o™ (4) STeNferETg B

61. Which of the following statement/s is/are correct about models ?
i. Iniconic model, the real world is represented by just a change in the scale.
ii. In analogue model, real world properties are represented by other properties.
(1) Only i (2) Only ii
(3) Bothiand ii (4) Neither i nor ii
Aee & AR A Frefafad § & Se-ana wuT @@ o8 v
i. ufifed dfew &, ardfass g & R & geaE & gaT q9IEr S 2
i, T i@ §, anfaes fva qer e i g@arT &2 S 2 |
(1) I i (2) Had i
(3) i 3T ii AAT (4) 7 A@isdR 7 i

-62. The term Ecumene represents which of the following in Geography ?
(1) Inhabitated portion which remain sparsely populated and contain few resources.
(2) Empty Space with no foreseable development

(3) War zone
(4) Biodiversity rich ecosystems with no human population.

Ecumene 9Ts= i # fr=fafeaa & & e gfafire war & 7

(1) 99 gu BEy ST &7 AR 9 wd 8 oI H g5 ga e 8 g
2) @t STe el Frepe wfias & wE faer JE€ ®

(3) Z= &

(4) RFT 719 STErd g g fafgyaar a9 aiRRafes d

63. Theory of intervening opportunities of migration was propounded by :

(1) Ravenstein (2) Stouffer
3) G.K. Zipf (4) Bogue
U & ewRY & oEERt H e ha® aRT gk fhar war ep ?
(1) A== (2) &%
(3) Sfro Fo ™ (4) SL

PG-EE-June, 2023/(Geography)(SET-X)/(A)




A 19

64. Which of the following statement/s is/are correct about Population Pyramids ?
LA stationary population produces a wide-based and regularly tapering pyramid. .
ii. A regressive population produces regularly tapering pyramid.
(1) Only i (2) Only ii (3) Bothiand ii (4) Neither i nor ii
STHEE s & anr & frafafed § @ S9-ar/8 FuE g8t 28 2
i. U Rt A us age-anaia ofR Frafrg w9 & gaar e g9y

2
i % g sHeer fraftg w9 @ g9en Rifrs &= 2
(1) &ae i (2) B ii (3) iMiiAAT  (4) 7 A@rislk T i

65. The flow theory given by E. L. Ullman, which of the following is not a factor affecting
interactions between regions ?
(D) Complementarity (2) Intervening opportunities
(3) Size of the population (4) Transferability
3o Wfo 3T a0 Rar w1 vae Rrerg, frafafag 8§ § S9-91 & a5t
® & sta:fhar @ g 98 e © 7
(1) 9T (2) B89 B IGEX
(3) STEEAT T STHR C R SINESIR G|

66. Which of the following statement/s is/are correct about Earth as a system ?
i.  Earth's energy equilibrium is an example of an open system.
ii. [Earth's physical matter is an example of a closed system.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Oh TN b T9 OH gl & ar F FrefeRad ¥ ¥ fA-and sue g
g/8 ?
i el 1 FHoll FGIH Th Gell WOTA H Uh ISR ¥
ii. gedt &1 HAIfeh JaTe Uk ST OTRH T U ISR T
(1) ael i (2) Fad ii 3) iMii A @) 7 qriaNx T i

67. For the Assertion (A) and Reason (R), éhoose the correct altematirve from the

following : -
Assertion (A) : In the second stage of Demographic Transition Theory, population

expands. .
Reason (R) : At this stage, the process of industrialisaion, urbanization and

modernization becomes prominent.
(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A is true but R is false.
(4) A is false but R is true.

PG-EE-June, 2023/(Geography)(SET-X)/(A) P.T.O.
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ATDTT (A) M BT R) & fow, Freaferiag & & @@ @Hd F1 T
S () ¢ TR S i § qe won A e F1 R

!

HROT (R) : 38 3faen § sheirfepor, s@wwaﬁaﬂwﬁmé“”
TqE 8 A e
(1) ASIRREN! a9 ¥ 3R R, A 9 @8 amrey 2
(2) AR AT 9 ¥ AfFT R, A 91 |81 sqrem 78 2
(3) ATT & 93g RamEd B
(4) ASTHM & AT Ra B

68. Which of the following statement/s is/are incorrect about Central Place theory ?

i. For each hierarchical level of central places, there is corresponding network of
hexagonal complementary areas of higher order.

ii. The concept of threshold is related to minimum distance to be covered.

iii. The range of goods is the minimum volume of business necessary.

(1) 1and ii (2) iiand iii (3) i, ii and iii (4) Only iii

FL1T W FEr ® AR § FeEffag § § Se-ar,Q wuT Ted ¥ 7

i. wm%mmw%m,mw%mw
&=l 1 ST Aeds Biar B

ii. JEES H FAURET T H TN Al GAdH g4 F Fefug T
iii. AT H AN ZadE H AGFTFH AT TS B |
(1) i Aqii (2) iiaNTiii  (3) i, i 3Miii (4) Ba< iii
69. Which of the following statement/s is/are correct about Von Thunen Model of
Agricultural Landuse ? ‘

i.  The prodcution of fresh milk and vegetables is'concentrated in the zone |.
ii. Zone VI is good for the production of Firewood and Lumber production.

(1) Only i (2) Only ii

(3) Both i and ii ' (4) Neither i nor ii
wﬁh@zﬁv%ﬁﬁgﬁ?mﬁ%aﬁﬁﬁwﬁﬁaﬁﬁaaﬁq_m/gaw
et e/g ?

i A gy SR afstar &1 I o 1 H B B
ii. S VI Siel® dhel 3K dhsl & Sed & i aresy &
(1) Baei (2) e ii

. (3) iefvii Mt (4) AR T &

PG-EE-June, 2023/(Geography)(SET-X)/(A)
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Which of the following statement/s is/are correct about Weber's Theory of Industrial
Location ?

i. Fora weight losing industry, the location will be near to the market.

ii. Isodapane is the line joining the points of equal additional transportation cost of
production and supply of finished product.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

I B oM = F frmra @ ar § Frefatgg § @ @E-ar8 w5

e B /¥ ?

. I Y HE G AR B 1T T R B ASTEIE en |

. STEERNT R Ide # Sard ok ol @ Fum efafe aftaed
AT & Rregel @ e anht e B

(1) aeTi (2) B ii (3) isiRiigqar (@) 7 arisl} T ;i

Which of the following statement/s is/are correct about Rostow's stages of
development ?

1. It assumes that socialism is the underlying structure of society.

ii. In the drive to maturity stage, diversification of industries take place.

(1) Only i (2) Only ii (3) Bothiandii (4) Neitheri nor ii

VT & foprd & =)ol & aR § frafafed § @ S9-ar,/8 w29 g8 28 ?
i. T AFar g & gumER au st & sk dxemr B

ii. BT T A=A €S 7 IAF w1 Afgdiaor gar 2

(1) Fasi (2) Bad i 3) i A (@) 7 AvisdR 7T i
Which of the following regions was a part of Midland basin proposed by Mackinder in
1943 ? |

(1) Japan ' (2) North Atlantic Ocean

(3) South America " (4) Northern Africa

Prafafag & @ @-a1 & 1943 ¥ P Fr g e ARy @
feeqr ar ?

(1) S9= (2) TN sTeqifes @R

(3) afeyor e (4) ITQ STrepr

'Rimland' Theory was propounded by ?

(1) Spykman (2) Karl Haushofer (3) Klaus Dodds  (4) Saul Cohen

e faara as s sfaufRa fear T oor ?

(1) Tz (2) F AHEER (3) FATE SrgH  (4) TSA FRA

PG-EE-June, 2023/(Geography)(SET-X)/(A) P.T.O.
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74.

75.

76.

77.

Which of the fo]l?Wlng statement/s is/are correct about Frontiers and Boundaries ?
i. Frontiers are inner oriented while Boundaries are outer oriented.
ii. Boundaries are areal while Frontiers are linear in Nature

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Frfeiad & & PIT-A1/8 Fo dimig o dmeii & § @@ 2% 7

i. Frontiers 3TAR® I@ BNt ¥ 19 Boundaries amed @ a2 |

ii. Boundaries &= 2t & Safy Frontiers gepfey & e el €|

(1) &ad i (2) Haad ii (3) ialx iidMT  (4) 7 ar i T & i
Which of the following statement/s is/are correct about Rank Size Rule ?

i. Forces of unification result in the emergence of few large settlements.

ii. Rank Size relationship is absent in India at the national level.

(1) Only i (2) Only; ii . (3) Bothiandii (4) Neitherinorii

Yh AR o & ar 7 f=fafad § @ S9-ar/8 waa g 2/8 7

i THDHOT H AfFTAT & IROTHEET FE T gRaqar T 389 g3 |

ii. ¥ SRR oy ARG F T X I AR 2 |

(1) pas i (2) &ad ii B) i iiqaqar  4) T A i T LA i

Which of the following statement/s is/are correct about Concentric Zone Model ?

i. It was proposed by Homer Hoyt and M. R. Davis.

ii. Zone III is the zone of transition characterized by residential deterioration.

(1) Only i (2) Onlyii ~ (3) Bothiandii  (4) Neither i nor ii
Rrfefag § @ B-a1,/8 Hud sl & Jied ® IR F & 22 7

i. 7 Y e9e 3R wHo aiRo 3fad =i w&ad far = |

i, S I oy Prere & S HHET BTA R

(1) Baet i ) Fad ii (3) iR AT (4) T A iAT T & i
Which of the following is a built up area created by the coalescence of once separated

urban settlements ?
- (2) Urban Sprawl

(4) Rural-Urban Continuum
T N TH IR ST g8 Y SRaE B

(1) Conurbation
(3) Megalopolis
Prfefag & § f-ar o @ &
e 4 ?

i DEGURSE

(1) BFRas=
(3) e (4) TFT-EY AT
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78.  Which of the following river drainage pattern is found in the Western Ghats of India ?

(1) Radial (2) Herringbone  (3) Centripetal (4) Rectangular
T & ofyenfl qef & Prefafag § & SF-a SE oT9aE SRET 9@ Sy R
(1) s (2) G (3) F=ETERE  (4) HATIATHR

79. | Which of the following is an essential characteristic of Quantitative Revolution ?

1. Positivism

ii. Hypothesis Buildings

iii. Mental Maps

iv. Human Perception .

(1) Onlyi (2 iii,iii,and iv (3) iandii (4) i, ii and iii

T/ H-a1 AEES A8 @ Uh AETH [Ny 8 ?

I geEe

i EEqERRE fafeer

iii. AARES A=

Iv. AFET groyy

(1) ad i (2) i, i, iii T iv  (3) i8N ii (4) i, ii T iii
80. Bhat and Rao presented the regionalization scheme of India based on :

(1) Resources and Agricultural Land use

(2) Physiographic factors

(3) Industries and Trade .

(4) Rivers and watershed

HE S WA T ARG B AAEET AT B e e

(1) 9199 R HN Gy Igg

(2) ANAEH HREH

(3) SENT S AR

(4) ARAT AR A

81. Which of the following statement/s is/are correct about origin of Himalayas ?
i. Great Himalayas were formed in the first phase that commenced about 120 million

years. ' _
ii. The Himalayas have attained the isostatic equilibriym
(1) Only i (2) Only ii () Bothiandii  (4) Neither i norii

ferrera @ I B IR H FEied ¥ ¥ Be-wr, & puq g2,
i. %'WW'““'@Wﬁ@WﬂT@leoﬁmﬁsﬁ

ST T | . .
. %qm%eﬂs@@%wmwm%,
(1) P i @) e i () iSMT AT () 7 F o A G i
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82.

83.

84.

A

Which of the following statement/s is/are correct about the Peninsular plateau of India ?
i.  Garo, Khasi and Jayantiya hills are the parts of Peninsular Plateau of India.

ii. Naga and Mizo hills are the parts of Peninsular Plateau of India.

(1) Only i (2) Only ii (3) Bothi and ii (4) Neither i nor ii

AR F TEET W $ A #§ freftag § @ Be-ar/d o @ 28 v
i T, @T@@TWWW%WW%%@%'

. W@Tﬁﬁrwﬁmw%mﬁuw%m%l

(1) &ad i () Fa ii (3)1@-{113@ @) T @ i T A i

Which of the following statement/s is/are correct~about the River drainage system in

India ?

i. Himalayas rivers are mostly superimposed, and rejuvinated resulting in trellis,
radial, and rectangular patterns.

ii. Most of the Peninsular rivers are in youthful stage.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

fr=fefad & § P-a1,/3 HoF 9RT § 74 udE GO F A F gel /8 7

i, fRAcE @ ARET TR gaiesics €, X T & diRemHEEd oo,
T o IEaEe Yo 2|

ii. oiftrepisr uraEETdE AT gar saren F B

(1) &ad i (2) Had ii B) iR iige @ Farisik 9 i

For the Assertions (A) and Reasons (R), choose the correct alternative from the

following :
Assertion (A) : There is a sudden burst of monsoon in India after 1st June.

Reason (R) : The easterly Jet stream sets in after the westerly Jet stream has

withdrawn from the region.
(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A s true but R is false.

(4) A is false but R is true.

HAHPEA (A) X BT (R) B fo Frafafad & | @& faweg g+ -
SHFHET (A) : 17 F 9% ARG H AGYT H I=AMH T&€Fed S ¢ |
HROT (R) : &l Sic &1F9 a5 § ikl S §\ & 84 & 9% |t B
(1) A3 R & & &R R, A% @& & 2
(2)A@1Raﬁm%aﬁo—aR,Aﬁa—aa@naﬁ%l

(3) AS™ 8 X=J R 2|

(4) ASTHY 8 9] R9d 2|
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85. The pre-Monsoon shower is known as 'Mango shower' in which of the following
states ?
(1) Maharashtra (2) Karnataka (3) Assam (4) West Bengal
Wﬁ@mwﬁﬁ—wwﬁ,‘fﬁﬁsw’%ﬂm%ww
?

(1) 7Ry 2) FAfess (3) TEH (4) afs= s
86. Which of the following states in India exhibit Dfc type of climate as per Koppen's
classification ? ’ ' :
(1) Western Rajasthan (2) Assam
(3) Arunachal Pradesh (4) Uttar Pradesh and Bihar
ARG F FrAfaRad & @ Hm-ar a9 BT B FHT B STFER Dic THR @
STy yefeid @ar B ?
(1) ofe=rft Torem= (2) 3TEH
(3) ITEMTA H_ST (4) ITX U=y X fyer

87. Which of the following statement/s is/are correct about the Tropical Evergreen Forest
in India ?
i. They are found in the warm and humid areas with annual precipitation over 200
cm.

ii. They are found in the hills of North-Eastern region in India.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii-
ARG # IR IR a9 & IR F =faiag § @ @9 978 w9
gere/E ? -

i F 200 FH & Y Al aul o ok o A% ¥ qiw oy ¥
i, ¥ 9T d IOyl A H qerfsdt § gmw oy ¥
(1) et i 2) R i @) M d (@) T @ ishe T & i
88. Which of the following is the first Biosphere reserve in India ?
(1) Nanda Devi (2) Nilgiri (3) Sunderbans (4) Pachmarhi
frafafaa & & H-91 9RG o I8 SEpER Rod & ?
(1) =er 2 (2) SR (3) Gaxa @) T
89. Which of the following statement/s is/are correct about the soils in India ?
i. Bhangar alluvial soil are found in the low areas and valley bottom.

ii. Regur soil is the largest soil group by geographical area in India.
(1) Only i (2) Only ii . (3) Bothiandii  (4) Neither i nor ii

PG-EE-June, 2023/(Geography)(SET-X)/(A) P.T. O.
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Prefafad & A A9-81,/Q &2 wRa & g & 9 A get /8 7
Wi o B R st ol A e & arg s 2
i TR P wRa § i o Ew aed st P @ ©
(1) Bae i ) B i G) g i@t (@) T @ i T A
90. Consider the following statements about population growth in India.
i. 1901-21 is characterized by stagnant population.
ii. 1951-81 is characterized by steady growth.
iii. 1981-2011 is charactrized by high growth but signs of slowing downs.
Which of the statement/s is/are correct ?
(1) Only i (2) Only ii (3) i and iii (4) iandii
Wﬁmﬁwq@%ﬁﬁﬁw%%$ﬁwwmﬂl
i, 1901-21 31 ReX SHEEAT | ST ST 2 |
i, 1951-81 Re% gig @ =T ST B
i 1981-2011 S=7 Repra & ST AT ® AfeA v 89 & dhd T
HA-AT/q FIT e /T 7
(1) as i (2) A ii (3) 18 iii (4) i3 ii
91. Which of the following Union Territory of India has the highest proportion of ST
population as per 2011 census ?

(1) Andaman and Nicobar Islands (2) Lakshadeep
(3) Dadar and Nagar Haveli (4) Daman and Diu
201‘1#W%Ww%ﬁwﬁf@ﬁﬁ@ﬁm%€wﬁﬁﬁﬂﬁ
STIEfRI STSTIRy @1 SATETET T ST | e 27
(1) Sfsa IR FepER gdiv e O RSLEL
(3) aEX AR TR Bael (4) TF9 AR &9
92. Which of the following statement/s is/are incorrect about the irrigation in India ?
i. Tank irrigation is popular in the North-Eastern part of India.
ii. The canal irrigation is popular in the Northern plains of India.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Prefafag F @ AF-91/8 HF 9Ra § g & aR § 70 3/8 ?
i ARG @ STR-GET 9FT 7 e REE et ©
i, TeT R 9Ra & Sad AeMl § WlE T
(1) &aa i (2) @A ii @) iAR iidA @) F Qi T &l
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93. Which of the following statement/s is/are correct about the agriculture in India ?
i.  India has a Jow percentage of reporting area under cultivation.
ii. About 3/4 of (o1a] cropped area is under irrigation.
(1) Only i (2) Only ii
(3) Both i and i (4) Neither i nor ii -
Wﬁ%ﬂﬁ%aﬁq—W/ﬁWWﬁﬁ%aﬁﬁ e 2 /E 7
i. Wﬁ@‘cﬁ%aeﬁﬁ@lﬁh%aaﬂnﬁfsmw%l
. B BEA A e 34 it A D
(1) Fas i (2) Bas ii
(3) 137X ii =Y 4) T arisk 7 & ii
94. Which of the following statement/s is/are incorrect about Cotton cultivation in India ?
i. It required uniformly high temperature above 30°C.
ii. Itis a Rabi crop that takes 6 to 8 months to mature.
(1) Only i (2) Only ii
(3) Bothiand ii ’ (4) Neither i nor ii
| Wﬁmﬁ@ﬁ%aﬁﬁﬁwﬁ%ﬁﬁa%m/ﬁm TTT E/E ?
i. @30°Cﬁwww@ﬁwﬁaﬂawaﬂa?ﬁ%l
ii. T8 IS F HET B Y g5y F 69 8 7 B WY T R

(1) HI i (2) e i
(3) i ii Q=T @IFdaishk 7 i
95. Which of the following is incorrectly matched about Irop ore deposit in India ?
(1) Gorumahisani — Chhattisgarh ~ (2) Kiriburu — Odisha
(3) Kundem Surla — Goa - (4) Bababudan hills — Karnataka
Frfafad & & HF-81 7T F A8 9w B 9UeR & gy & ToTeT AR & 7
(1) Tremfear - BaiaTe (2) Rgs - aifzern
(3) B Gl - M (4) ST eI - ety
96. Which of the following states in India has the largest Lithjum reserve ?
(1) Karnataka (2) Jammu and Kashmir

(3) Jharkhand (4) Rajasthan
(1) HATewh (2) 57 AR Heix
3) TGS (4) oI
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97.

98.

99.

100.

A

Which of the following is incorrectly matched about Petrolium Refinery Industry in
India ?

(1) Mathura — Indian Oil Corporation  (2) Mumbai — Hindustan Petrolium

(3) Jamnagar — Reliance Industries Ltd (4) Manali — ONGC

Fr=fafaa & & fF-ar sra § YR Reead sar & ar J Tog a0
q AF @rar B ?

(1) 7T - oo offgq @Ry (2) §og - g™ Agierdd

3) TR - ReEw gseiw ffes (4) #9 - ONGC

Which of the following is incorrectly matched ?

(1) Nathpa-Jhakri in Himachal Pradesh — Hydroelectricity

(2) Tanda in Uttar Pradesh — Hydroelectricity

(3) Bargi in Madhya Pradesh — Nuclear Power Plant

(4) Kalakot in Jammu and Kashmir — Thermal

= 8 | P9-91 7o A @ g 7

(1) feHrae gasr # -3l - STAfded |
(2) ITR gasT H ST - FAAtagd

(3) SN HeF gAY H - GRA] Foll dAGH

 (4) STE-HR F FIAHIE - AqH

The book "Nature of Geography" was written by :

(1) Ratzel (2) Hettner (3) Hartshorne (4) Immenuel Kant
‘FeR T ST’ g&ih s & et 18 8 ?
(1) =i (2) BE X (3) eréen (4) FAET Hiw

What does the word "Entropy" mean ?

(1) A region typically characterized by a culture

(2) A measure of the disorder within a system

(3) A phenomenon of widespread dispersal of innovation
(4) A location from which a particular culture has evolved

Tl g T o SR B T
(1) T 85 # AR I fIAYAT Th ST &0 Iar oy
(2) TH goTelt @& Hiax [ @ q9

(3) ™R B ANEH DA Hl ST

(4) U T STEr & Th 99 FEpa A g8 2
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1. Which of the following is #rue about map scale ?
1. Large-scale maps show large portions of the Earth's surface.
ii. Small-scale maps are less detailed. |
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
TEREE b WHE & AR ¥ retfed ¥ @ oF-ar g R p
i T3 YN B AERE gl B wwe @ a2 RE @ R B
ii. B WM & AetE B9 g 9y ¥ ‘
(1) e i (2) dad ii 3) iU (4) 7 driadvw 7 & i
2. Which of the following defines the orthographic projection based on the source of
light ?

(1) The light emanated from the center of the globe

(2) Light source is at the point opposite the point of tangency
(3) The light emanated from the infinity
- (4) None of the above

W@ﬁﬁ%ww%@a%eﬂmweﬁeﬁmﬁﬁmﬁmﬁa
HEAT 8 ?

(1) ™9 & = J Mrwen v

(2) wep1eT W wweREr & Roda Ry aw
(3) oTHa | TepeTr TemTar ~
(4) SR & ¥ S TS

Which of the following is true about The Universal Transverse Mercator (UTM)
system ?

i. Itis a coordinate system that covers the entire world from 84° South to 84° North.

1. It is subdivided into 66° zones that are elongated in the north-south direction.
(1) Only i (2) Only ii

(3) Bothiandii  (4) Neither i norii
-MWW(UTM)M%ﬁﬁWﬁﬁ@ﬁH—WW
?7 |
IE Uh EEE gomen ® S q@ g @ 84° afror ¥ 84° SwX O wAx

FHE B

L wE 66° AT F Iu-Rywii ¥ N se-aRer Rem F frege B
(1) Tei 2) Faetii () iR 4) 7 FisR 7 A
Which of the following is false regarding maps ? | '
(1) Chorochromatic : When different objects are shown by different colors.

(2) Choropleth : When different degree of value is shown by different shades of lines
or a single color.

1.

(3) Choro-schematic : When different values are shown by different types of diagrams.
(4) Isopleth : All those maps in which lines of equal values are shown.

PG-EE-June, 2023/(Geography)(SET-X)/(B) P.T.O.



W%Wﬂﬁﬁﬁ%@aﬁﬁaﬁ?—wm%? o B

() PRERAfeE : ot BT aegell # Frer-frmy 1 & R :

(2) PO : o/ swET-oT Gt A T@re ar oH & T1 & S-S
T § oo R ot 2 '

(Dﬁfr—zﬁm:mﬁﬁwm%aﬁ@rmaﬁifmm;ﬁ%l

(4) 9 J@ : F g A Red gue 5Er @t [and g9 Sl €

5. Which of the following statements are frue about dot density method ?
i. Itis an effective way of illustrating variations in spatial density.
ii. Large ranges in data values is suitable for this technique.
(1) Only i (2) Only ii (3) Bothi and ii
foig o Rfy & 9 & Prafafad § @ H9-8 Fa7 g7 & ?
i. I8 @i o F Rfquarelt Y a9y @1 gs gt aiE

. 9 T & R Se1 3 F 9t o7 Suga B
(1) Fawi (2) Pae ii 3) isMRiiq=r (@) 7 arishT T i

6. Which of the following statement/s is/are frue about atmospheric interaction of

electromagnetic radiation ?
i. All electromagnetic radiation detected by a remote sensor has to pass through the

atmosphere once.
ii. Non-selective scattering results in haze in photography and blue sky.
(1) Only i (2) Only ii (3) Bothi and ii (4) Neither i nor ii
Fr=fafea & @ f9-ar/8 g ﬁgga—ﬁaaﬁaﬁma%mgqgsﬁa' =
fror & sk & g 2/8 ? -'
i. ﬁ%ﬁar@mwwwmﬁﬁggaawaﬁaﬁ%{wa%@m
qrTeReT § ICIRAT g 8|
ii. %—WW%WW@T%W&Tﬁ@ﬁ
2l
(1) Paeri (2) e i (3) i M ii Y B T arisik 7 & ij

7. Which of the following objects spatial reflectance curves shows the peak and valley
configuration ?

(4) Neither i nor ii

(1) Vegetation (2) Water (3) Soil (4) Glaciers
Aﬁw%ﬁaﬁﬁﬁaﬁq—ma«;wﬁzswmﬁawﬁmaﬂrmaﬁ:mqﬁ
gerieT B 7 )

(1) g=eafa (2) gt (3) (4) DfIE
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8. Which of the following statement/s is/are frue about Geostationary satellites ?
i. They are located at an altitude of about 36,000 km and above.
ii. GOES and METEOSAT are some of the satellites under this category.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
St & Ak # Frefiigg 7 @ -G8 U §9 88 7
L& ST 36,000 REH oM SER otfies @ SHarg 9T Re ¥
ii. GOES 31X METEOSAT 3§ 9t & %5 IU¥E ¢ |

(1) aai (2) dad ii B3) iTii AT (4) T AVi AR T A

9. Which of the following type of resolution is the capability to differentiate the spectral
reflectance between various targets ?
(1) Spectral (2) Spatial . (3) Temporal (4) Radiometric

e & 8 e yer & TiegyH Ry @at & = ol 9yedE @
ST B H &HAT TEAT & 7

(1) St (2) =R (3) TS (4) Wsamfes
10. Which of the following pairs is false ?

(1) RADARSAT - India (2) OCEANSAT - India

(3) IKONOS - USA (4) CARTOSAT - India

e & @ A9-a1 g s/gw s ? .

(1) TTEE - 9I=A (2) SNIFAT - AR

(3) PG - guEW . (4) HEdE - A

11. Which of the following Union Terrlitory of India has the highest proportion of ST
population as per 2011 census ?

(1) Andaman and Nicobar Islands (2) Lakshadeep

(3) Dadar and Nagar Haveli ' (4) Daman and Diu

2011 @ SFFOMT & SGER ARG & FrEeiaa 7 | e s e gier J
TG STy @ STETET T STIUT qed Ay ¥ ?

(1) ofeaM X FoeR @&@iv 998 (2) S&EY

(3) TEX M R &« 4) =79 X &=

12. Which of the following statement/s is/are incorrect about the irrigation in India ?

i. Tank irrigation is popular in the North-Eastern part of India.

ii. The canal irrigation is popular in the Northern plains of India.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
FrafeRaa & @ Ha-ar/Q woF 9 ¥ e & a) & qog /8 7

i 9RT & Iae-gdl W § arena Rierd el ©

i, Tex e wra & S0 fe H Aeha ¥ .
(1) Haa i @ Fawii @) isiidA @ FaridR T A
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13. Which of the following statement/s is/are correct about the agriculture in India ?
i.. India has a low percentage of reporting area under cultivation.
ii. About 3/4 of total cropped area is under irrigation.
(1) Only i (2) Only ii
(3) Both i and ii (4) Neither i nor ii
=i & & A9-a1,/8 Fom 9xa ¥ N 3 S 7 g8 8/8 7
L 9T d et & qeq RAfET &7 o gfie &9 2|
ii. BB wEelt A B wET 3/4 R & ¥
(1) o i (2) Fae i
(3) i3 ii AT (4) T ¥ ieMT T & i

14.  Which of the following statement/s is/are incorrect about Cotton cultivation in India ?
i. It required uniformly high temperature above 30°C.
ii. Ttis a Rabi crop that takes 6 to 8 months to mature.
(1) Only i (2) Only ii
(3) Bothi and ii ' (4) Neither i nor ii :
Wﬁzﬁmﬁaﬁ@?ﬁ%aﬁﬁﬁwﬁmﬁﬁ@raﬁmw@w IAT /8 T
. @30°Cﬁwwmﬁmmaﬁm&m€ﬁr%u
ii. ¥ T B e & R 9 F 67 8 HER H gy @i

(1) ®a<T i (2) Fa i
(3) i N ii ST (4) T is} 7 & i
15. Which of the following is incorrectly matched about fron ore deposit in India ?
(1) Gorumahisani — Chhattisgarh (2) Kiriburu — Odisha
(3) Kundem Surla — Goa (4) Bababudan hills - Karnataka
ﬁﬂ%@ﬁﬁ%ﬁ?—mwﬁﬁgm%w@r%aﬁﬁ AT AT ® 7
(1) MEARET - BRIETS O (2) BRgE - afEen L
- (3) BSH W - WA (4) AL TR - Frtess
16. Which of the following states in India has the largest Lithium reserve ? |
(1) Karnataka : (2) Jammu and Kashmir
(3) Jharkhand (4) Rajasthan _ :
mﬁﬁwﬁf@aﬁﬁﬁmmﬁmwmww%?
(1) FHteh | - (2) g IR mydi
(3) ARES e gt ‘ ‘(4) ST
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17. Which of the following is incorrectly matched about Petrolium Refinery Industry in
India ?

(1) Mathura — Indian Oil Corporation ~ (2) Mumbai — Hindustan Petrolium
(3) Jamnagar — Reliance Industries Ltd (4) Manali — ONGC

ﬁwﬁiﬁaﬁﬁﬁﬁﬂ—mwﬁﬁiﬁﬁuﬁﬁqﬁmm%ﬁﬁ ToT OB
JAT @ T ?

(1) A - 33T ofoe HReE (2) {3 - Rgam IdRkEs

(3) SR - RAEE s faifres (4) |94 - ONGC
18. Which of the following is incorrectly matched ?

(1) Nathpa-Jhakri in Himachal Pradesh — Hydroelectricity

(2) Tanda in Uttar Pradesh — Hydroelectricity

(3) Bargi in Madhya Pradesh — Nuclear Power Plant

(4) Kalakot in Jammu and Kashmir — Thermal

= & § P9-a1 7o A @ T 7

(1) TB9m=e u_er # Aq-smed - STt

(2) ST u=er # ST - SAtagd

(3) ST Heg U H - YA Fell GO

(4) STI-HNX § HAEHT - 99 d

19. The book "Nature of Geography" was written by :

(1) Ratzel (2) Hettner (3) Hartshorne (4) Immenuel Kant
‘AR Sl I gEIw fRee g e g 2
(1) &« (2) BeAX (3) BrEM= (4) 3B9ES Hie

20. What does the word "Entropy" mean ?

(1) A region typically characterized by a culture

(2) A measure of the disorder within a system

(3) A phenomenon of widespread dispersal of innovation

(4) Alocation from which a particular culture has evolved

TS st 1 = ofef ® 7
(l)waaq%mwﬁﬁw@mmwzﬁwﬁ%
(2) T gl & fiax @ &1 "7

(3) FaER $ A9k BA W TSAT

(4) T w9 SET 9 o Aty dephr et g8 '
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21. Which of the following statement/s is/are correct about Rostow's stagés of
‘development ? :
i. It assumes that socialism is the underlying structure of society.
ii. In the drive to maturity stage, diversification of industries take place.
(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
AR B Reprg & Tt B SR 7 Frafaiad & § Se-ar/Q BT e /8 7
i. gE AFar @ R aaeEe gqe @ sdafHea |93 2 -
ii. gEg g ARG ®s # IR FH Ry i |

(1) Fasi (2) a< ii (3) i3NTii TAT - (4)???[13?[’(7{6‘1114
22, Which of the following regions was a part of Midland basin proposed by Mackinder in

1943 ?

(1) Japan ‘ (2) North Atlantic Ocean

(3) South America 4) Northem Africa _ j]

ﬁwﬁiﬁhﬂﬁﬁaﬁ?—mﬁawnﬁﬁﬁﬁrmmﬁﬁgmaﬁr 3

e o ?

(1) SA9= : () m il HETERR .

- (3) =faror SRR - (4) IAQ STHIHT e T

23. 'Rimland’ Theory was propounded by ?_ |
(1) Spykman _. (2) Karl Haushofer (3) Klaus Dodds (4-)7 Saul Cohen
‘Foets’ R e & giaaiisa fear ar an ? el
(1) @EHE - (2) F AEEUR () G DTH  (4) ASH e

24. Which of the following statement/s is/are correct about Frontiers and Boundaries ?
i, Frontiers are inner oriented while Boundaries are outer oriented.
ii. Boundaries are areal while Frontiers are linear in Nature. | Y
(1) Onlyi - ) Onlyii (3) Bothiandii  (4) Neither i nor ii
e & & @-ar/Q wHud @ oK @anslt & ar F &ef 2 /8 7
i. Frontiers STAR® I=g@ &Il & ST Boundaries e 3E ERfl T1 -

- ii. Boundaries &7 2Kl & STSilh Frontiers TBRY ¥ i &t T1. |
/ (1)#@'1 () Bad i - (3)1a$r<u€|=?r (4)=re?na?r¢=rau

25, Which of the following statement/s is/are correct about Rank S:ze Rule ? .

‘

-i. Forces of unification result in the emergence of few1" ge sg;tlements

(ii. Rank Size relatlonshlp is absent in India at the n
(1) Only i (2) Onlyii = (3) Both. i and'-‘
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27.

= R & aR ¥ eafafaa § @ f9-91/8 w9 gg@t /8 ?

i, wHHTT W iRl F AReTEEEY HE S aikEl B 38 ge |

ii. Yep STHR Y ARG 7 TEY WX U STIRS ¢ |

(1) ®ad i (2) T ii @) iR A (@) F A iR T & i
Which of the following statement/s is/are correct about Concentric Zone Model ?
i. It was proposed by Homer Hoyt and M. R. Davis.

ii. Zone III is the zone of transition characterized by residential deterioration.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
frafafed & @ BF-91/8 How Gl & dAtea & I J g e 7

i. I8 BFX Be 3R WHo 3TRo Sfa¥ ara gwiad fRar @ ar|

ii. S I A FREe § S AT &0 89 © |

V(l)%clﬁi (2) haet i B) iR iig=t @ Farisie T & i

Which of the following is a built up area created by the coalescence of once separated
urban settlements ?

(1) Conurbation (2) Urban Sprawl
(3) Megalopolis (4) Rural-Urban Continuum

- Frefafea & & A9-a1 uw [T 89 ¥ S 0% 9RO g2 el SRadl &

28.

29.

g @ ST ® 7

(1) (2) 0 FAE

(3) T (4) THOT-BA FI™

Which of the following river drainage pattern is found in the Western Ghats of India ?
(1) Radial (2) Herringbone  (3) Centripetal (4) Rectangular

AR @ et Grer ¥ Fraiied ¥ § AH-ar 99 S[9EE gfaed 9 S g ?
ORERS! (2) =R (3) H=TERE  (4) STIATHR

Which of the following is an essential characteristic of Quantitative Revolution ?
i. Positivism

ii. * Hypothesis Buildings

iii. Mental Maps

iv. Human Perception

(1) Only i (2) i, ii, iii, and iv  (3) iandii (4) i, ii and iii
PrefRag § § @F-ar 9ETeTE REE @ T STEwds Adeer € 7

i. TgeEe

ii. =EURitaE [T

ili. AFE AFRE

iv. AT 9O - o
(1) ¥ i @) i, i, i SMiv  (3) iSMT i (4) i, ii ST i

; P.T. O.
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30. Bhat and Rao presented the regionalization scheme of India based on :

(1) Resources and Agricultural Land use
(2) Physiographic factors

(3) Industries and Trade

(4) Rivers and watershed

T olX qa T ARG B StgEer AT B TG AT
(1) damas o FHfa 9ffy ST
(2) \rMfeE HIEh
(3) SET 3R AU
(4) T ol areds
31. Which of the following statemnt/s is/are correct about temparate cyclone ?

i These move from east to west direction.

ii. These originate over ocean and land.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
AT AT & At Prefetea § & Se-ar/8 BT et 8/8 7

i ¥ gF 4 qREw Raw @ oiT =Rl ¥

i, ¥ Tgx oK 9 B HUX IE B F

(1) Pad i (2) Pad ii (3) iNTii At (4) 7 aA@ri N T LA

32. Which of the following pairs is incorrect ?
(1) Rainfal — precipitation in the form of water
(2) Hail — Small and rounded solid pieces of ice
(3) Sleet — very fine raindrops
(4) Frost— Ice crystal of water droplets
Frffad & @ @e-ar ITH Toa & 7
(1) a5t - 57 & &9 F 9T
(2) SemEfe - aF & BRI M 3| gHS
(3) feeft amt - =ga =ET aut o2 Sy
(4) grelr - 9T @ &l Bl % bl hted

33. Which of the following type of cloud is formed by loss of heat or mixing of air

masses ?

(1) Cumulus (2) Stratus . (3) Nimbus . (4) Cirrus
gﬂ?ﬁ%ﬁwmwaﬁamﬁ%wﬁa@mﬂ%fﬁwam.
HwEETE @ ®ew 0 @) FEm (4) Rww

PG-EE-June, 2023/(Geography)(SET-X)/(B)
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34, Which of the following statement/s is/are correct about Cs climate as per Koppen
classification ?

i. They occur around equatorial zone.

ii. This climate is characterised by dry winters and rainy summers.

(1) Only i (2) Only ii

(3) Bothiand ii (4) Neither i nor ii

B BT &H AR Frafeiaa § 4 HH-91/8 FEUF Cs Sieearg & = |
g e/E?

i @ YHEREE 8F $ ETE B g
i, ¥ SIA9g B gh ofcTpr W) ant fiovepret § =T ST B

(1) dad i (2) Bad ii

(3) i A ii T (4) 7 @i} T i
35. In which part of the ocean floor does the Canyons and trenches are observed ?

(1) Continental Slope (2) Continental Shelf

(3) Deep Sea plains (4) Along mid Oceanic ridges

HETENTT e & e 9rT ¥ 9t ol @rgat i o ¥ 7

(1) "eEEdT s (2) AETET ATH

() X ¥ & N (4) 991 HEEFTRE Hedht & g
36. Which of the following statement/s is/are correct about Oceanic salinity ?

i. Salinity lower in Black sea than Mediterranean sea.

ii. Salinity is higher in Arabian sea than Bay of Bengal.

(1) Only i (2) Only ii (3) Bothiandii - (4) Neither i nor ii

HEEFE F@vT & SR Frafaiad § § S8 Fue g 28 7

i HET HEC @ goe § el 9 ¥ qEom e R

ii. SIS W @IS ge § R @rN § weor s D

(1) Tawi (2) Faet i () iARiIAT (@) F arishw 7 &ii
37.

Which of the following statement/s is/are correct about tides ?
L. The gravitational force of Sun is more dominant than the Moon.

1l On the opposite side of the earth to moon, centrifugal force is more dominant than
gravitational force.

(1) Onlyi  (2) Onlyii (3) Bothiandii  (4) Neither i nor ii

PG-EE-June, 2023/(Geography)(SET-X)/(B) P.T.O.
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- 39.
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38.

40.

R B AR Frerfiee § & S-ar/d Fa w@ BE

i T P TEmmmer o g @ oftes SEe e B

. Q@Wﬁm%mﬂaﬁsnﬁmmwwﬁwﬁ
s gt Sy B

(1) Fae i (2) St ii Gy il At (@) 7 @il T il

Which of the following statement/s is/are correct about Geostrophic winds ?

- i.  They originate when préssure gradient force and Coriolis force balances cach

.other.
ii. It occurs near the equator on the earth surface.
(1) Only i (2) Only ii (3) Bothiandii, (4) Neither i nor ii
ﬁmﬁ@aﬁﬁeﬁq—m/ﬁwﬁ%@ﬁrwﬁ%aﬁﬁ get /8 ?
| 3 qw o= 8 ¥ o qEr v S ST ARGARE I T LA A
Hfa & 2 . '

ii. 5 9mer Y@ B UG g T 9 A
(1) Hasi (2) e i (3) i s ii T (4) 7 @rief} = @i
Which of the ‘following is/are frue regarding BSh climate as per Koppen's climate
classification ? '
i°a P‘ote‘ntial evaporation exceeds precipitation.
ii. Average annual temperature is more than 18°C.
iii. They are found along the fringes of sub-tropical deserts.
(1) iandii (2) 1, ii, and iii (3) only i (4) only iii
PR B STy T B STgER AwEwE searg $ el § Frefree ¥ 9
P-AT/q TF /B T ' Sk
i, Gwfae arsieRer a8 e
i, ofwa aiffes arge 18°C & 3ifEres & |
i, 7e SuTmEREdE WEEr $ FEER 9E S © :
(1) idIxii ) i,iieMiii ~ (3) A (4) A iii,
Which of the following is a cold current ?
(1) Gulf stream _ (2) California Current .
(3) North AtlanticDrit -+~ (4) Brazilian Current

g W A HH-E S g9 B ? i
(1) T &I  (2) IRRET HiE

(3) ST SrETieH TeE (4) FEhfTEE w5t
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42,

43.

44.
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Which of the following statement/s is/are frue about types of folds ?

i. The difference in the intensity and magnitude of compressive forces also causes
variations in the characteristics of fold.

ii. Recumbent folds are formed when the compressive forces are so strong that both
the limbs of the fold become parallel but not horizontal.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii
frefaiag § @ AF-91/8 FF 909 & TR B g ¥ g 28 7

i, dfis® Sl @ dEar ) afmmer # ofaw f gew @ Rdwaredt § gfgds
T HIOT IHT B |

ii. ST B3 TS O« ST & o9 HATAG B g+ Foigd exnt & %5 Pres B
A S GG 8 S § AfeeT Affesy &t 81

(1) dawi (2) Faaii Q) iARiiAAT (4 T AiARX T i

Which of the following statement/s is/are true about sliding continental theory of Daly

on mountain building ?

i. A solid crust was formed much later after the origin of the Earth.

Mountains have formed by the folding of geosynclinals sediments as a result of

lateral pressure exerted by the sliding of the continental crust towards the

geosynclinals seas.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitheri nor ii

g T )OSl & WERT #ffeded w0 & s # FrafaRea & &

HA-A1/A HIT THF /8 7

i geE &l IART @ 9gd 9% H Th S YU<o i FHETT g3 |

i. Rl 9E! & IR FEENN me & BEet @ IO 999 9| 5
gReTTEEd Rl aase & 98 SR Yelel & AT 9T B |

(1) Hasi (2) ad ii () iARiigAT  (4) F @idqR T i
Which of the following chemical weathering involves the process "Kaolinization" ?
(1) Hydration (2) Hydroloisis (3) Chelation . (4) ‘Carbonation
FrefeRaa & @ frg TaEtE ofue § “wrefifemrssem” uftkar aifde & ?
(1) SEawH () sEgiwEa (3) IeE (4) HEAAA

Which of the following statement/s is/are true about Slope development ?

i. In Slope replacement, the steepest part of the slope progressively decreases in
angle, accompanied by the development of a convexity and concavity.
ii. Inslope decline, the maximum angle decreases through replacement from below by

gentler slopes, causing the greater part of the profile to become occupied by .the
concavity.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

ii.

PG-EE-June, 2023/(Geography)(SET-X)/(B) P.T.O.
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47,

45.

46.

i. Antecedent streams are those which are originated prior to

¥ 7
ﬁﬁ%@ﬁﬁﬁaﬁa—m/ﬁmwm%aﬁﬁ T &/
I TAM g #, aﬁmmmaaa%waﬂmaﬁraaﬂaﬂ%m

%w—maﬁwﬁaﬁffﬁ'{mw%l

ii. a9 fREe ¥, SR ae FIOT HH TAFT G
q gedl g, ﬁaﬁmzﬁrwﬁwmﬁﬂm%'

(1) et i (2) Fad ii (3) i i AT (4) 7 ari e} T e

Consider the following statements : .
the upliftment of land

surface. 4
ii Antecedent stream is a type of insequent drainage system.
iii. Superimposed Drainage System is a type of obsequent streams.
Which of the statements given above are correct ?
(1) iandiionly  (2) iiandiiionly (3) iandiiionly (4) i i and iii
Frefafaa @El o e ST ¢
i, Wm%%ﬁr{iﬁaﬁw%aﬂmﬁqﬁmﬁ%n
i, Ydadl 4IT T GBI B HiED S Rl gomed ¥ |
m.gmrq’lﬁaﬁvrfamwwa%qmﬁm%
TR R T FA A A DAY 7T E 2 ‘
() FawieiRii  (2) dawiiel}iii (3) PawiA}iii  (4) i, ii SN i

Which of the followmg landforms is a result of erosion and deposition both at the same
time ? - ;

- (1) Structural benches ' (2) River ierraces

(3) Meanders e (4) Gorges
ﬁwﬁﬁﬁﬂ—mmﬁwﬁrﬁwaﬁwwamﬁw
29

(1) HEATHS aa : ‘ (2) 7&r afeen

3) A=d (4) 7T

Which of the following statement/s 1s/are true about sand dunes in an arid location ?

i. Longitudinal dunes are generally formed in the heart of trade wind deserts.
ii. In Barchan dunes, the horns always project upwind.

44

" (1) Onlyi. (2) Only i (3) Bothiandii  (4) Neither i nor ii

mﬁ%ﬁ—m/ﬁmwwwﬁiﬁ%m%wﬁw
Pl o

. orgRel e oTAR WX iR 99T P B e F gy ¥

e R, g (1) &R &1 B SR B ¥ | :

(1)a}cﬁn : (2)a‘rc|au?-ﬁ (3)xaﬂrua’|='r‘r (4)=ramear=fgn.
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48. Whlch of the following statement/s is/are frue about ecological approach of Man-
Environment relationship ?
A man is not considered as an mtegral part of nature/environment.

i

' ii. It lays emphasis on rational explmtatmn of resources and ‘optimum utilization but
not the recycling of resources.

i

\

(1) Only i (2) Only ii (3) Bothiandii ~ (4) Neither i nor ii

w—wﬁwwa%mﬁﬁaﬁmg&ﬁw%aﬁﬁﬁmﬁﬁaﬁﬁﬁﬁﬁ—w@

HIT GI 5/8 ? :

i, HgH B TR/ IAEReT B AR S TAE AT ST B |

ii.wwﬁ%maﬁaﬁrmwwﬁr%ﬁ%%ﬁﬂ
wﬁ%gﬂéaﬁﬂrqrﬂtﬁl .

(1) dadi - (2) Badii. (3) i3 ii AT (4)ﬂﬁriaﬂ-<=r-€ri§

49. Which of the followmg statement/s is/are frue about ecosystem ?

i. Low species dlver51ty of a mature ecosystem representlng a 'climax commumty is
related to more stability of natural ecosystem.

ii. Ecosystem instability results when an ecosystem becomes unable to adjust wnh
environmental change.

(1) Only i ~ (2) Onlyii (3) Bothi and ii (4)° Neither i nor ii
TiRRAfER = % SR # Fefiea . d § H-91/8 F99 g /8 7

i. U ‘TXEIehY "99ad’ @ Uit B a9l G 9y gk O @
- = weri fafedr grepiies aikRefan 95 $r siftes Rexar & st 2

i, TRRORET oF 3 ARYRAT @1 IR T ST T o9 o aRRatE O
- RO gRadd & A GHEIN B9 ¥ oTqHe & Sfar 2

i (1) Fadi Q) dawii - (3) i3ANii AT (4)=[E?r16ﬁ1'=¥'§fu
t 50. Which of the following statement/s is/are true about Food cham and food web ?
: S b Rlchcr the b10d1vers1ty, the food web becomes longer and more complicated.

3) Bothland ii  (4) Neither i nor ii
lCl-T ﬁg@maﬁtwaa%aﬁﬁ HTR/E?
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51. Which of the following statement/s is/are frue about Geometric correction in Remote
Sensing ?
i. It is the transformation of a remotely sensed image 1nto a map with a sca]e and
projection properties.
ii. The performance of the sensors is contmuously monitored by applymg Geomclrlc

correction.
(1) Only i (2) Onlyii (3) Bothland i @) Neitherinorii
ﬁﬁtﬁﬁﬂﬁwﬁﬁugm%mﬁﬁfﬂmﬁﬁaﬁa—wﬁmﬁw
2/8 7
. ﬁwwmsﬁwﬁnﬁaﬁtqw?ﬁ%mwmﬂﬁ
giasi 2 |
i, mﬁ?ﬁqgmmaﬂ%ﬁm%msﬁaﬁmﬁmwﬁﬂaﬁ%l
(1) Fawri - (2) Faii @3) iehxiigqar (@) T @isi}k T &ii

52. Which of the following statement/s is/are frue about Digital Image Classification s

i. Itis a procedure to automatlcally categorlze all plxels in an image of a terrain into. :
land cover classes.

-ii. Classification methods that relay on use of trammg pattems are called superv1sed
classification methods.

(1) Onlyi (2) Only ii (3) Bothiand ii (4)'Neitherinor ii
%ﬁmsﬁaﬁaﬂw%ﬁﬁﬁmﬁi@aﬁﬁaﬁq—m/ﬁw qT 28 7

it %ﬁmﬂﬁﬁwaﬁaﬁﬁwmaﬁrwﬁ‘ﬂwﬁ
mﬁ%aﬂi’fﬂ%@m%l |

aﬁaﬂw%aﬁ%ﬁrmﬁﬁ%mwﬁsﬁm%qﬁ%
 gffepeor fafy weema E

(1) e i () dawii (3)1aﬂrna=ﬁ (4)‘=rehieﬁ-c.;r o i
s 53 Iheterm "Base Level' was propose_d by ? ; :

(2) W. M. Davis
4) ‘Dutton
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Merm =p B UEA B IR # e F § AH-918 FAT g e/E ?
i TRl dad ST (SEReE) St @ oidRharelt 3 Rl I

2 |
ii. S @ o orafr & ¥ o Tw et & wry—aTy geET B
(1) & i (2) daii 3) iARiiTA (4 T AiM T D

55. Which of the following statement/s is/are frue about Seismic Waves ?
i. 'P'waves, are analogous to light waves.
- ii. The speed of L wave is greater than P and S waves.
(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
TR TN & aR H Fraffag & @ S9-a1/8 Fo99 g 2,8 ?
i. 'P' TET gebIsT AEN B AgEY B ¥
ii. L aGT & afy P iR S a7 @ aAfeyes & 21

(1) Baeri (2) Baii @) idRiiaqa @) T arisdk T fii
96. The concept of sea floor spreading was propounded by :

(1) Mckenzie and Parker (2) Hary Hess

(3) Alfred Wegener (4) Vine and Mattheus

g a9 A @ SEART e BN SRR @t T oy ?

(1) A X g 2) &0 B9

(3) T A=Y (4) arge AR Fegy

57. Which of the following statement/s is/are frue about magnetic anomalies along the mid
oceanic ridges ?

i. Normal and reverse magnetic anomalies are found in altemate manner on either
side of the mid-oceanic ridges.

ii. There is absence of parallelism in the magnetic anomalies on either side of the
mid-oceanic ridges.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

quw%mWWﬁﬁ%aﬁﬁﬁwﬁf@aﬁa

BH-|T/Y YT G 2/ 7

L. AO-HEER Hedhl B QAT R Jhas ww @ 9 eX RAdd
g faefeal a8 SRl € |

i, o wErarTE Het B Mt IR g REREt § wnedr ®r ot e ¥

(1) #aai (2) e ii 3) islRiidET @) 7 d@rislk T &ii

PG-EE-June, 2023/(Geography)(SET—X)/(B) P.T. O.
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58. Wn - t/s is/are frue about Isostasy ?
ich of the following statement/s < atious: landforms on the |

i Thls term denotes the horizontal mechanical balance O

earth's crust.
ii. Airy's views on Isostasy was influenced by law of Compensation.
(1) Only i (2) Only ii (3) Both i and ii (4) Neither i nor ¥
TR 3 ax & Frefaraa § § HE-ar/8 HAT gg /87
i. %smgeﬁﬁw@wﬁﬁﬂﬁaﬂzgﬁﬁ%éﬁamwﬁ

F9TiaT B |

i, TR 9T 48 3 RER aRgkt & Fam § e 91 5
(1).Paai (2) dad ii (3) i ii & (4) T QriefT 7 i
4
99. Which of the following Intrusive Igneous rocks formation resembles to a bowl shape ?
(1) Sills (2) Lopoliths (3) Laccoliths (4) Phacoliths
ﬁmﬁ#@aﬁ%aﬁq—waﬁeﬁaﬁéﬁﬁwﬁnﬁﬁ%wﬁw
BT & 7 i
(1) R (2) ST (3) SPpifered (4) Bl
60. Which of the following palrS is false regarding original rock and their metamorphlc
forms ? ]

- (1) Limestone — Marble (2) Shales — Schists
(3) Conglomerates — Gneisses (4) Shales — Slates

ﬁﬂ%ﬁaﬁﬁ@aﬁ?—mwﬁa@#eﬁ?mmwﬁ%waﬁ

ST 8 7 »
(1) AT &R — HIHHET , (2)§1w—f\re_3=r
(3) HeERe - AfE . (4) ™ - wWIgE

61. Which of the following is correct about tropical evergreen forest biome ?
i. Presence of climbers; creepers and epiphytes. |
The germination of plant seeds and sapling growth is extremely slow.
. The moisture content in the air decreases from the uppermost canopy downward to
the ground surface. : |
(1) iandiionly (2) iiandiiionly (3) iandiiionly (4) i,iiandiii
_m%wmm%ﬁﬁmﬁﬁﬁﬁa—m gg}% ?
i. STEL, TT I ARy &t IuRT |
@rﬁr%ﬁwa@aﬁt@r&aﬁq@aﬁﬁﬁ@?ﬂ%l ,
mﬁﬂﬁaﬁwwﬁmﬁm%ﬁaﬁmmﬁaﬁmmm

R L
¢y dadidRii  (2) %Eﬁrue?l'{'m 3) W;@'{m (4) i, if @Y i

W (‘g

ii.

PG-EE-J une, 2023/(Geography)(SET-X)/(B)
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For the Assertion (A) and Reason (R), choose the correct alternative from the

following : . . : .
Assertion (A) : The primary ecological productivity of the tropical rainforest biome is

the highest.
Reason (R) : There is maximum competition among the various members of

vegetation communities of the tropical evergreen rainforest biome to get light.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Aistrue but R is false.

(4) A is false but R is true.

AT (A) 3R ®HROT R) & fog, Frafafaa 9 @87 Reea o+
%(A):m&ésﬁqmﬁqa@qﬁm&ﬁmmﬁﬁuﬁzﬁm
3=dH = |

W(R):Wﬂwaﬂﬁ%mmﬁaﬁﬁwaﬂaﬁa@w%
TAET a7 AR gadt & e otftepas ufedat 2

(1) ASTRRIAT & & SRR, A& 981 =me=y B

(2) ASTRREAT ¥ & AfFT R, A&t 987 arem =18t 2
(3) AT & 93] Rac B

(4) ASET 8 ] RE¥H 2|

Which of the following statement/s is/are correct about marine biome ?

_ 1. Distributions of marine plants and animals are less widespread in nature.

ii. The food chains and food webs of the marine biome are simple.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
I 9 & ar 7 frefafaa § @ fe-ar/Q wue ga@t 8 ?

i T A o et @ {awer vl ¥ wy araw ¥

i. WEEA 9 B Eg Eed o wEg S X ¥

(1) Paeri (2) dadAii (3) idMiiIFA  (4) T qrisdk T Fii
Which of the following factors is not associated with coral bleaching ?

(1) Global warming (2) El Nino Phenomenon

(3) Subsistence Fishing (4) Black Band Disease

e & @ B-ar Hre ya BRe Q@ geie 9@ R ?

(1) et arfefr (2) o1 T EewT

3) MaE o= g (4) =H I AT

PG-EE-June, 2023/(Geography)(SET-X)/(B) P.T. O.
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65. Isohypse connects the places having same values of :
(1) Fluid velocity (2) Precipitation ~ (3) Elevation - (4) Tgmperature
STEEEEE THF Tl a Tl Eﬁr Stsam & 7 S50 ‘
(1) &= a7 (2); TIT T A(3) w@ (4) T9H

66. Which of the following statement/s is/are correct about Composmon of the

Atmosphere ?
i, The volume of CO, and other gases is constant over the years.

ii. Water vapour increases from equator to poles. . : 3

iii. The highest concentration of dust particles is found in sub-tropical reglon than
equatorial region.

(D) 1and il (2) ii and iii (3) i, ii and iii 4 Only iil |

: aﬁwm%aﬁﬁﬁwﬁﬂf@ﬁﬁﬁﬁ?—wﬁwaﬁ%/%? |

i. CO, ¥R o At & AEn a5t F Rex ¥ ' o e

ii.aamwang%@%gﬁaﬁaﬁ'{aw%l |

ﬁqmi@a%aaﬁr@amﬁaﬁmﬁsﬁaeﬁaaaﬁu@%ﬁaﬁaﬁaﬁj

HiEaT 918 SR B |

(1) iMii () ii S i (3) i, ii N iii (4) Had iii |

67. Which of the following statemnt/s is/are correct about tropopause ? e ;
i.  Air temperature at this area varies from equator to poles. s 1
ii. - The vertical temperature at this layer varies. - - o
(1) Only i (2) Onlyii (3) Bothiandii (4) Neitheri norii
PrefiaT & @ BE-A/A woT aeEe B e ¥ @@EA
i. w%ﬁmwwww%@%gﬁwwm%l |

ii. 39 9Xd W FHATYT aeEE B e ' | x
(1) Fadi . (2) Fawii (3) i N ii AT @) 7 qisx 7 & ii

seriiqn : A) :and Reason (R), choose the 'correct alternative from the
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B
IS -
A) : W@qqﬁwﬁﬁqwmwmﬁmw
gl A 2 |
W(R);ﬁmw@ﬁ%zﬂww&ﬁa%ﬂﬁaﬂ@ﬁnw
g exdT B |

(1) ASRREMT @ & TR, A Hel T B

2) AR a1 ¥ ARBT R, A TE e TE B
(3) AT™ ¥ UX=g R 3TEH B

(4) AT T AfFT REHA 3|

69. Which of the following correctly defines Albedo ?
(1) The difference between reflected solar radiation and scattered solar radiation.
(2) The difference between shortwave solar radiation and long wave terrestrial
radiation
(3) The percentage of absorbed solar radiation by dust particles.
(4) The percentage of visible light reflected by an object.
fFrafaiaa & @ A9 oiR"sT & 98 <7 & aRiRE war & ?
(1) gEfiia d9r R iR ey g |k ffer & fim sfax
(2) 9iEAT AeX WeueE SR AT A9 RWNRTIS WeusE & §i9 3iax
(3) 9 B FHo FERT FaMta AR AR & ofvee
(4) o axg /T g}aRia g9 9T @1 gferere
70. For the Assertion (A) and Reason (R), choose the correct alternative from the
following :
Assertion (A) : Tropical cyclones are not formed near equator.

Reason (R) : At the equator, the coriolis force is zero and wind blows perpendicular to
the isobars.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.
(3) Ais true but R is false.

(4) Ais false but R is true.

PG-EE-Junpe, 2023/(Geography)(SET-X)/(B) | P.T. O.
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71.

72.

: B
FET (A) IR HROT (R) & g, Frffag § @ g Roed. &1 @07 #ie :
SHBIT (A) : T @7 & GE SwEpREdy Smard T8 S ¥

BT (R) : S @M WX, A o g &ar 2 oK &ar anas ared
& AT Tl B |

(1) ASRR AT @ & ofXR, A 98 = )
(2)Aaﬁ'{Raﬁ=ﬁw%@rﬁﬁRAa%H€ra@rﬂ‘eﬁ%l
() AFT ® =g R 19 B

(4) ATEE 2 A9 Ra T

Which of the following statement/s is/are correct about models ?
i. Iniconic model, the real world is represented by just a change in the scale.
ii. Inanalogue model, real world properties are represented by other propcrtles

- (1) Only i ~ (2) Onlyii

(3) Bothiandii . | (4) Neither i nor ii
ﬁﬁﬁﬁ%aﬁﬁﬁwﬁr@aﬁﬁaﬁm—m/ﬁaﬁﬂﬁﬂﬁ%/ﬁ? '

i. Hlafeq dea F, amﬁmgﬁm@rﬁmﬁﬁw%ma&ﬁmw%l
ii. QAT Hisq H, arwﬁasﬁrsagwmgvﬁmasﬁqmﬁ%n |

() dadai . ~ Q) FEdii :

3) i s} ii AT ' (@) T AR T i

The term Ecumene represents which of the following in Geography ‘7

(1) Inhabitated portion which remain sparsely populated and contain few resources.

(2) Empty Space with no foreseable development
(3) War zone '

4) Biodiversity' rich ecosystems with no human pdpulation

;,Ecumeneﬂﬁ'@ﬁﬁﬁﬂ%f@ﬁﬁ%ﬁmwnﬁﬁmm%?

‘ﬁwmﬁﬁaﬁwﬁ%aﬁ%ﬁﬁaﬂwaﬁél
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74. Which of the followin

(3) Both i and ii (4) Neither i nor ii
o Hﬂ@rﬁ‘ﬂﬁg%aﬁﬁﬁﬁ%@aﬁéaﬁm—m/ﬁmw werR/E ?

i gaa mmww—awﬂﬁaehﬁn&mw%mﬁtﬁg'm
|
ii w%wﬁ%m%mﬁ%mﬁ%
(1) e i (2) Faatii 3) iMiidF @) 7 Qs 7 & i
75. The flow theory given by E. L. Ullman, which of the following is not a factor affecting
interactions between regions ?
(1) Complementarity (2) Intervening opportunities
(3) Size of the population

(4)" Transferability

éowommﬁmwmﬁm,ﬁ%ﬁﬁ%ﬁ?—wmésﬁ

%Eﬂaeiﬁz%ma?rnﬂﬁaaﬁ

FHET T ?
(1) gxehem | (2) e<8T B HgEY
(3) STTEET W1 SRR (4) s&IERNTET

76. Which of the following statement/s is/are correct abo

1. Earth's energy equilibrium is an example of an 6pen system.
ii. Earth's physical matter is an example of a closed system.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ij
Wwﬁ%mﬁgﬁﬁ%aﬁﬁﬁtﬁ%ﬁgﬁﬁ%m—W/ﬁ%waﬁ
e/ ? ‘

L. 9T 1 Fofl HITT TH G Tome B @ Iarewer
ii. gt F1 AN g TH ST gONR B wF arE T
(1) Pae i (2) Patii 3) iMTiHA @) 7 Friedx 7 &ii

For the Assertion (A) and Reason (R), choose the correct alternative from the
following :

Assertion (A)
expands.
Reason (R) : At this stage, the process of industrialisaion, urbanization and
modernization becomes prominent.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false.

(4) A is false but R is true. |
P.T. O.
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ut Earth as a system ?

1.

: In the second stage of Demographic Transition Theory, population



'78.

B
sifree (A) ok & (R) & fg, ﬁmﬁf@aﬁaa@?ﬁwaﬁrw

HIeTY

AT (A) ¢ wﬁﬁaﬁﬂwm@ﬁ%e@%aﬂﬁmzﬁrw
BT B

FROT (R) : mﬁeﬁ@ﬁaﬂwsﬂﬁwaﬁraﬂgﬁWﬁm
;rg@'e’rtrrﬁﬁ%l ‘

(1) ASIRREAT = & TR, A% T& AT B
(2)AeﬁTRa’|=i’fW%?rﬁF{RAEﬁH€rm@T=r€f%l

(3) AT T W=y R EH B

(4) A STET B ABT REA B

Which of the following statement/s is/are incorrect about Central Place theory (%

For each hierarchical level of cgntral places there is correspondmg network of

hexagonal complementary areas of higher order. i
ii. The concept of threshold is related to minimum distance to be covered.

iii. The range of goods is the minimum volume of busmess necessary.
(1) iandii (2) iiandiii (3) i, ii and iii (4) Only iii
%ﬁuwﬁt@ﬁ%aﬁﬁﬁmﬁﬁqﬁﬁﬁaﬁﬂ—wﬁw eI B/ ?

i.

@5t 1 G Seas o Bl
. aﬂ@c—sﬁmm@naﬂaﬁmﬁmwgﬁ@rwﬁﬁ%l

i, T @ A FaEE Y STEEs g HE 2|

| (1) i Mii () ua?r(m 3) i, ueﬁ'(ul (4) E{ﬁiﬁii ;

79.

R The prodcutmn of fresh milk and vegetables is concentrated m the zone I.

1" 'l,oo'_ 1ZQneVI' 2

Which of the following statement/s 1s/are correct about Von: Thunen Model of
Agricultural Landuse ? ‘

d for the production of Firewood and Lumber productlon
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g0. Which of the following statement/s is/are correct about Weber's Theory of Industrial
Location ?

i. For a weight losing industry, the location will be near to the market.
il. Isodapape is the line joining the points of equal additional transportation cost of
production and supply of finished product.

- (1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii
' W%%%eiﬁﬁmw%%w%aﬁﬁﬁwﬁ@ﬁﬁﬁﬁﬂ—wﬁmw
qET B /® °

i, OO B BT A SENT B g e G @ AT 8T
ii. emgﬁq%anma%wmaﬁeﬂ@ﬁwaﬁﬁaﬁqﬁaﬁ
AN & fargedt @1 siea awht 3@ g

(1) o i (2) Faetii (3) il At (4) T AriSAT T i
81. Which of the following is frue about the inferential method in statistics ?

i. TItis used to describe and summarize the characteristics of a sample.

ii. This method falfs within the class of confirmatory method.

(1) Only i (2) Only ii

(3) Bothiandii : (4) Neither i nor ii

ﬁmﬁf@ﬁﬁ@t%ﬁ—maﬁ@ﬁﬁmq@%%ﬁﬁ gge?

i. ms@ﬂmﬁaﬁﬁﬁwﬁwwaﬁ?wﬁwm%ﬁmﬁw

2 .
ii. qg%ﬁgﬁamwmﬁ%vﬁ%mm%l
(1) SHad i - (2) Fae i
(3) ia?RjiH"F-ﬁ @4 = drislk | &ii

82. Which of the following is frue about the Skewness in statistics ?

i 1Itis used to measure the degree of asymmetry in a sample.

ii. A negative skewness is the condition when there are a small number of low
observation and a large number of high observation. :

(1) Only i (2) Only il (3) Bothiandii  (4) Neitherinor ii

Wﬁﬁm%aﬁﬁﬁwﬁf@ﬁﬁﬁaﬁﬂ—m FITT 7

i. mm#@ﬁmﬁ%aﬁ%ﬁﬁm%mmm%l

ii. @Wﬁm%m%mwmﬁrmmﬁa@

(1) Pasi (2) A ii (3) i3 ii AAT (4) 9 qrisR 7 &ii
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83.

84.

85. .

Which of the following is a characteristic of closed-ended question ?

(1) It is difficult to use, score and codify for analysis.

(2) Possibility of missing true response of an individual.

(3) It tends to open the answers by providing alternatives.

(4) 1t allows for more individualized responses.

Rreifefaa & @S-8 dq-aaia ar g9 @ @R & 2

(1) RIeRoT 3 Ry STAM T, WX BT AT B T FRA
(2) fet =afag = =N ufafean & 9 S & FHE |

(3) TE faeT 9SH H IAX Qe & TgRT T e |

(4) & ot =i SRRt & R orgAfy a1 B 1

Which of the following is false about Personal Interview i

i. Highest Response rate
- ii. Most Expensive

(1) Only i (2) Only ii (3) Bothiandii _ (4) Neither i nor ii
ﬁwﬁmﬁﬁﬁaﬁﬂ—mmw%aﬁﬁ T T ?

i, SomaH "fdafhar <X

ii. |Q "7EM - & |
(1)%aai (2) Fad ii (3) i3 ii AL (4):re?r_ieﬁt:raii
With reference to Samplmg Error, consider the following statements': |

i. - The difference between the actual value of a parameter of the population and its
estimate (from the sample) is the sampling error.

ii. The samplmg error decreases with increasing sample size.

{ii. It occure when some members of the target population could not posmbly be
included in the sample.

Which of the given statement/s is/are correct ?

(1) ii and iii . (2) iandii (3) ii only 4) i, ii and iii -

AR YT & et ¥, frefeiag, Ul 0¥ FEr S

i W%@W%WW@TWW (ﬂ@ﬁ)
1 AT AT AR B .
Wmﬁq@%m#ﬁaﬁ‘f%aﬁ%l

ii. %ﬁéﬁ%maﬁﬁmﬁ%@mﬁm q@?—rsﬂﬁﬁ
A&t fpar ST HET 81

fu T HeE F ¥ BE-EA wa?%/% ?

) iiaTiii | (2)16?['{11 - (3) Badii (4) i,iieﬁ'{‘iii
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Which of the following techniques is suitable for showing the frequency distribution
of grouped data? '

(1) Pie chart (2).Bar chart (3) Line graph (4) Frequency polygon
Frfied & & B-t qeies aeiige aifeel @ SERET fFaRer @ &y B
T Sugeg & ?

(1) uig = (2) 9K =7E (3) @1 O (4) gy g

Which of the following statement/s is/are true ?

i.  The Upper Quartile has 75% of the items of the distribution below it.

ii.. The second Quartile has 50% of items above it.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Frfofea & § S=-ar8 w99 g 2,/8 7

L SO0 aguier & gEd Y RAawer & 75% ongen ¥

i, TEY O ¥ 3@ S 50% oTEen ¥

(1) Pasi (2) Faii Q) idRiidA @) T Aidx T i
Type II error refers to :

(1) Rejecting true hypothesis (2) Rejecting false hypothesis

(3) Accepting true hypothesis (4) Accepting false hypothesis

a9 I Jfe i & B
(1) I IRFHTAT Bl FAEHR HET (2) FAAS URFBETAT 7 TABIT BT
3) I INFHTAT B EhR HET  (4) FqE IRBTAT Y LB FHET

One Sample T test is used in which of the following cases ?

i.  When population variance is unknown.

ii. * When the sample size is big. -

(1) Only i (2) Only ii (3) Bothi and ii (4) Neither i nor ii
=i & | fohd A & o T & qferT @1 Sude Rear o © 7
i. S SHEEE fERer sEa @

ii. ST Hud A= g1 8 |

(1) Ba i (2) Fae ii B) iR  4) T iR T Hi
Which of the following statement/s is/are true regarding correlation ?

i. Correlation measures causation.

ii. A scatter diagram is a correlation technique for visual examination.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
gegdy & Hag ¥ f=fafad § @ S9-a1/8 s gy 28 2

i. HeHsY HRE-HROT H AqGGT T

ii. ¥heX S 3T qleT B R us Tegsy a%de T

(1) Bas i (2) Haii (B) iR @) 7 qriedw T i
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91.

92.

3.

Which of the following statement/s is/are correct about origin of Himalayas ?

i. Great Himalayas were formed in the first phase that commenced about 120 million

years. : :
ii. The Himalayas have attained the isostatic equilibrium. S :
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

AT N SRy & s Frafofag ¥ @ Se-ar,q soT @@ S8 7
i. ﬁz%trmwﬁﬁwqaﬁawﬁgaﬂm.@raﬂwnoﬁ%maéaﬁ

Which of the following statement/s is/are correct about the Peninsular plateau of India ?
i. Garo, Khasi and Jayantiya hills are the parts of Peninsular Plateau of India.

ii. Naga and Mizo hills are the parts of Peninsular Plateau of India. .

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
W%Hﬂg@ﬁﬂq@%aﬁ'ﬁﬁwﬁr@aﬁﬁﬁﬂ—W/ﬁaam TeTB/E ?

i. wmmmmw%m@mm%%@%l

Which of the following statement/s is/are correct about the River drainage system in

India ? : : gt 132 ¢

i. Himalayas rivers are mostly superimposed, and rejuvinated résulting in trellis,
radial, and rectangular patterns. L

ii. Most of the Peninsular rivers are in youthful stage. P :

(1) Onlyi" (2) Only ii - (3) Bothiandii  (4) Neither i norii :

ﬁﬁmaﬂﬁaﬁﬂ-m@wwﬁﬁ,wm%aﬁﬁw%/%?

i feARE @t aREr e %ﬁTWl%Qﬁmiaﬁ,

() IR AT @) T A ik T & i
ns (R), 'chqosg the correct alternative from the

ndia after Ist June,
: westerly Jet stream has




SAFTT (A) IR BT (R) F Rw Frfifad § & @2 Raea 97
SAHFET (A) : | B A AR F AEEA B D TEGE O B
FT (R) : G ST & 89 § aiRerd S W & s & o o B
(1) AR REFT & ¥ iR R, A% @et e B

(2) ASTX RANT & ¥ AfpT R, A | e E B

(3) ASE B 9Xg R otEd T

(4) ASTHE B 93] REd B

95. The pre-Monsoon shower is known as 'Mango shower' in which of the following

states ?
(1) Maharashtra  (2) Karnataka (3) Assam (4) West Bengal
| Wﬁﬁmmﬁﬁ—wwaﬁ,‘ﬁsm’%mﬁmw
?
(1) werT (2) Fteh (3) orEm (4) ofymm s

96. Which of the following states in India exhibit Dfc type of climate as per Koppen's
classification ?

(1) Western Rajasthan (2) Assam
(3) Arunachal Pradesh (4) Uttar Pradesh and Bihar

aRa d Fr=ifafad | | SF-a1 TS0 e & e $ oEr Dic ShR @
Sqarg YERid Hiar © 7

(1) ufdeet o= 2) /89
(3) STHUTEA 39T (4) I W=y IR WEr

97. Which of the following statement/s is/are correct about the Tropical Evergreen Forest
in India ?

i. They are found in the warm and humid areas with annual precipitation over 200
cm.

ii. They are found in the hills of North-Eastern region in India.

(1) Onlyi (2) Only ii (3) Bothiandii (4) Neitherinor ii
ARG # SUReady aEer av & O] § =g & & f9 9r/8 &2
geTe/8 ?

i 200 F ¥ s Tt aul gt T STX STE &= H 9iY S 2 |

i, ¥ 9YRg § IUe-ydi & & gBriedl § 9w A g

(1) Fas i - (2) A i (3) i iigAT (@) T A i T & i
PG-EE-June, 2023/(Geography)(SET-X)/(B) P.T.O.
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98. Which of the followmg is the first Biosphere reserve in India ?

100.

() Fer () g (3) Faea (4) gL -

i ,.ggg_lgzggl-gw ﬁ'cm'r a ST ST % AR e 'e?ﬁ % H%er %1

(1) Nanda Devi (2‘) Nilgiri (3) Sunderbans (4) Pachmarhl
fFr=ffea & 9 Hi9-91 9RT & gsan sEesay Red & 2

Which of the following statement/s is/are correct about the soils in India ? _

i. Bhangar alluvial soil are found in the low areas and valley bottom. :

ii. Regur soil is the largest soil group by geographical area in India. |

(1) Only i ~ (2) Onlyii (3) Bothiandii  (4) Neither i nor ii

Fraffed & & S-a1/8 B g § g & ar § g@r 32 7

i. T Siefe g Frem aet o art oo & o o 2
Wﬁ@wﬁﬁﬁm%mmwﬁ%ﬁw%l

(1)%36{1\ (2) Baw ii @) i i @) T A iR T A i

Consider the following statements about population growth in India.

i.  1901-21 is characterized by stagnant population.

ii. 1951-81 is characterized by steady growth.

iii. 1981-2011 is charactrized by high growth but signs of slowmg downs.

 Which of the statement/s is/are correct ‘7

(D Onlyi  (2)Onlyii - (3)iandiii -r‘(4)i‘andii
Wﬁmqﬁg%aﬁﬁﬁwmawﬁwﬁaﬁm|
i. 1901-21®WW%WW%|
ii. 1951-81 R gis & ST SIar. &1 '
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Which of the following is correct about tropical evergreen forest biome ?
i. Presence of climbers, creepers and epiphytes.
ii. The germination of plant seeds and sapling growth is extremely slow.

iii. The moisture content in the air decreases from the uppermost canopy downward to
the ground surface.

(1) 1iand ii only (2) ii and iii only  (3) i and iii only (4) i, ii and iii
SeTERERT qaEER 9T aEE & S Freafied § @ $A-ar @87 e
i o, war olR stferaray @ SuRef | |
i, 9 @ ot @ oigeEr ok G o ghx Y i Sl T
G omar § 9 @) AT 999 S8 sad @ N oIR SHIA & |qe a6 HH
- & oIl B |
(1) BaaiaTii  (2) Fawii Al (3) FaerieiTiii (4) i, ii A
2. For the Assertion (A) and Reason (R), choose the correct alternative from the
following :

Assertion (A) : The primary ecological productivity of the tropical rainforest biome is
the highest.

Reason (R) : There is maximum competition among the various members of
J vegetation communities of the tropical evergreen rainforest biome to get light.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false.

(4) A s false but R is true.

S (A) SR BT (R) & R, Fraffed & & @2t e v
W(A):Weﬁﬂaﬂhﬂa@ﬂ_aﬁmammﬁﬁaﬁzﬁmm
I==H B

aﬂwﬁrﬁgmﬂﬁﬁfﬁﬁrﬂm%@aaﬂwmﬁ%l
(1) AR & & SRR, A S FEl A gl
2) ANRIE @ ¥ AT R, AFH T R e B
(3) A & Ty RTEH 2| '
(4) ASTHE & Ui=g REA B
3. Which of the following statement/s is/are correct about marine biome ?
i Distributions of marine plants and animals are less widespread in nature.

ii. The food chains and food webs of the marine biome are simple.
(1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii

PG-EE-June, 2023/(Geography)(SET-X)/(C) P.T.O.
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T WA F AR § Prefeied § @ A9-a18 = g8 28 2

i WP M SR SeEd B R wepfy § w9 e 2

ii. YR 9 A wreE e oK @rg o w61

(1) Paeti (2) Fae ii (3) i 3T ii AT 4 T @i 7 §;
Which of the following factors is not associated with coral bleaching ?

(1) Global warming (2) El Nino Phenomenon

(3) Subsistence Fishing (4) Black Band Disease

e & § Ao-a1 Fre vaw e § dfg 9@ S 7
(1) *elerer arfefer

(2) o/ A= ge
3) et 707 qre= (4) <% F= AT
Isohypse connects the places having same values of :
(1) Fluid velocity (2) Precipitation  (3) Elevation (4) Temperature
SAHETRE THE gt art et &y shear & 7

(1) &= (2) agor (3) Ha (4) a9E=H
6. Which of the following statement/s is/are correct about Composition of th
Atmosphere ? :

1. The volume of CO, and other gases is constant over the years.
ii. Water vapour increases from equator to poles.

iii. The highest concentration of dust particles is found in sub-tropical region thar
equatorial region.

(1) iandii (2) ii and ii (3) i, i and iii (4) Only iii
AIHST Bl WA & IR A FeAfeRad § & De-ar, A wug g 28 2
i CO, X o1 N&f &t 9mm avf  Re 3 |

i, STETST e @1 § gat @ SI) sedr 2

iii.gqm%@a%aﬁgﬂmﬁsﬁwmﬁamaaﬁaﬁ%mﬁaﬁw
HiEar 918 SRt By
(1) i3MRii (2) ii oM i (3) 1, ii 3N iii (4) et iii
Which of the following statemnt/s is/are correct about tropopause ?
1. Air temperature at this area varies from equator to poles.
ii. The vertical temperature at this layer varies.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Fr=ifeiaT & & -1,/ wom e & a) & g8 88 ?
i ¥ A F & w aEE ywen Y@ @ gal q% agaar @ 2
T T W SEER o R 2 8|
(1) ot i ) Faii (3) i AT ii T
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8. For the Assertion (A) and Reason (R), choose the correct alternative from the
following : :

Assertion (A) : Equator receives comparatively less insolation than the tropics.

Reason (R) : Maximum insolation is received at sub-tropical area due to less
cloudiness.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.
(3) Aistrue but R is false. |
(4) Ais false but R is true.

AT (A) X BN R) 3 Riw, Frefoiag ¥ @ g8 BT @ =999

T
W(A):wmﬁﬁ@aﬁwﬁwwi@mwéww
T I 2|

BT (R) : AEB~AT B BN & HROT INwrpesey a5 ¥ offrmaw gatay
I BT B

(1) ASTRREIFAT a0 & 3R R, A& 981 = ¥

(2) ASIRRINET 9 ¥ AfhT R, A &8t are 18t 2
(3) A¥d™ & =g Ra™Ed B

(4) AT © AfpT Ra= B

9. Which of the following correctly defines Albedo ?
(1) The difference between reflected solar radiation and scattered solar radiation.

(2) The difference between shortwave solar radiation and long wave terrestrial
radiation

(3) The percentage of absorbed solar radiation by dust particles.
(4) The percentage of visible light reflected by an object.

fFr=ifeRag & @ @9 ofeasy & 9@ &1 § aRwia &ar 8 ?

(1) wafkfa @R fafpeer ok feret gu @) fafder & @g ofax

(2) AT Ak Yeuem oI AT Ja RRgaw WueH & N i
(3) g & Ol garT SAgMNRG AR fafeHTer Hr gfaea

(4) et axg =T qYERid ged SehteT BT Ffrerd
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10. For the Assertion (A) and Reason (R), choose the correct alternative from the
following : ‘
Assertion (A) : Tropical cyclones are not formed near equator.

Reason (R) : At the equator, the coriolis force is zero and wind blows perpendicular to
the isobars.
(1) Both A and R are true and R is the correct explanation of A.
' (2) Both A and R are true but R is not the correct explanation of A.
(3) A is true but R is false.
(4) A is false but R is true.
FHIT (A) X &HROT (R) & forg, Fr=feReaa & @ ws?ﬁzsaqaarazmaﬁﬁm
SARTRET (A) : I @1 F I IFTHRAHNT THard qef &9 &1
HROT (R) : OHE @1 GX, HISNAT g I 81T 8 S a7 gusE &1l
% SEad el B
(1) ASRRIAT & & 3R, AHl 98 ==t 2
(2) ASTRREA! 9 & AfFT R, A 9 G aarear F81 2
(3) AE™ & u=g R HH ¥
(4) ASTHE 2 AfhT REH 2|

11. Which of the following statement/s is/are frue about Geometrlc correction in Remote
~ Sensing ?

i. It is the transformation of a remotely sensed image into a map with a scale and

projection properties. ‘

ii. The performance of the sensors is continuously monitored by applying GCOITlCtI'lC

COl’t‘CCthl‘l

(1) Only i (2) Only ii (3) Bothiandii = (4) Neither i nor ii
gﬂgﬁmﬂﬁmﬁ?ﬁu@m%aﬁﬁﬁmﬁmﬁﬁﬁﬁw—m/ﬁaﬁm ey

/8 7 bk :
'i.%wgﬂaﬂaﬁaﬁrwfmﬁaﬁrnm % ™ T®H
| Ky ot e #
. mﬁﬁagmwm%%%msﬁﬁmﬁﬂﬁaﬁaﬁﬁ%u

(1) Faai (2) Fae i ) ieMRii gt (4) T Aishk 7 &if

12. Which of the following statement/s is/are frue about Digital Image Classification ?

i. It is a procedure to automatically categorize all pxxels in an image of a terrain into
land cover classes.

ii. Classification methods that relay on use of training patterns are called supervised
classification methods. B, : - }

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ij
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e B aiET & e § P § @ @e-ar/a 509 g 28 7

i ¥8 9-oTERl @ H f-9rr H ey ¥ gl Remw H wEfeta &9 9
geffepd A Sl Teh UihAT B |

ii. gifERLer & b ST UREer Yo & Suanr @)X R o § oHafea
gaftereor fafyr weama 21

(1) et i (2) Fa i 3) isMRiid|t  (4) 7 @i 7 i
13. The term 'Base Level' was proposed by ? |

(1) J. W. Powell (2) W. M. Davis

(3) James Hutton (4) Dutton

T A’ = fReeh. & e e T o ?

(1) o s=go URAW (2) s=go wHo Maw

(3) S¥9 & (4) Se

14. Which of the following statement/s is/are zrue about Davis Cycle of Erosion ?

i. Landforms are the evolved products of the interactions of endogenetic (diastrophic)
forces only.

ii. There is a long duration of upliftment and it goes hand in hand with erosion.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

ME =h B ot B AR FrafeRag & @ Ho-a1,/Q Fu gy L 2

i, g—aﬁﬁﬁ e ST (SEEIhH) S @9t Iia-frarelt R sar
| . :

i, S W ol oy Bt ® o wE amvT & W-ww = T
(1) Paeti (2) e i 3) iMiidF (@) T Avid T i
15. Which of the following statement/s is/are #rue about Seismic Waves ?
i. 'P'waves, are analogous to light waves.
ii. The speed of L wave is greater than P and S waves.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor i
IHIT TN B IR § Fr=fefaa & 4 PH-91/8 F99 g 28 ?
i. P TG wemtyr 4N & ITIE B 2 |
ii. L qG7 3 iy P R S T & offyes exlit B
(1) Fasi (2) FHad ii (3) iMRiigET @) 7 avielR T &ii
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16. The concept of sea floor spreading was propounded by :

(1) Mckenzie and Parker (2) Hary Hess

(3) Alfred Wegener (4) Vine and Mattheus
I a@ Bl B SuRen fhEd ERT ufaafed @ g o ?
(1) AFsh ok TR 2) B0 2=

(3) TSHS JX (4) arza I fegy

17.  Which of the following statement/s is/are frue about magnetic anomalies along the mid

oceanic ridges ? -

i. Normal and reverse magnetic anomalies are found in alternate manner on either
side of the mid-oceanic ridges.

ii. There is absence of parallelism in the magnetic anomalies on either side of the
mid-oceanic ridges.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

Hel HETEFRIEI %Hedh & Ay gae QEniar & s ¥ frefaiaa J @

PH-TT/9 HIT T 2/8 ? |

i. AH-FRErTdd &chl & Al AR JHUH ©Y § THFA AR fgda
. g fagnfadr g SR € |

ii. qmwm%ﬁwwmﬂﬁﬁﬁmmam%l

(1) Fad i (2) dadii (3) i S} ii qAT 4) F Wil T Aii

18. Which of the following statement/s is/are frue about Isostasy ?
i. This term denotes the horlzontal mechanical balance of various landforms on the

earth's crust.
ii. Airy's views on Isostasy was influenced by law of Compensation.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

eTzERedl & a) H frefafed & @ aF-91/8 FUE g 8 7
b %amg@ﬁqqéwﬁmﬁaﬂm%%mﬁaﬂwaﬁ

gerfem B

i, TR X ¥ B Rew Rkt 3 Pew & mwRe |
(1)#@1 (2) FHad ii () iiidA (4) T A@riel} 9 i

19. Which of the following Intrusive Igneous rocks formation resembles to a bowl shape ?

(1) Sills (2) Lopoliths (3) Laccoliths (4) Phacoliths
fFrefafaa & & PH-a1 orwaet omAg dat @ MM FER F e ST
er 8 7
RS (2) wdifered (3) Tenifered (4) Bepiferes
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21.

22,

23.

7

Which of the following pairs is false regarding original rock and their metamorphic

forms ?
(1) Limestone — Marble (2) Shales — Schists

(3) Conglomerates — Gneisses (4) Shales — Slates

Prmfofad § @ @F-a1 gH g9 "gM X Ik SdiEid w9 P H€d A

ST & 7

(1) AT JeaX - ETHEHY - (2) 98 - RregH

(3) HieRe - R (4) S - Sed

Which 'of the following is frue about the inferential method in statistics ?

i, It is used to describe and summarize the characteristics of a sample.

ii. This method falls within the class of conﬁfmatory method.

(1) Only i (2) Only ii

(3) Bothiandii ' (4) Neither i nor ii

Rrefefaa & @ A9-ar aifee § freputes gefa & o ¥ T 7

i. ;ﬂwmwﬁaﬁﬁﬁwﬁwaﬁﬂaﬁ?amﬂm%‘mﬁﬁmw

|

ii. g8 Ry giestor Ay & ot & Sfaia ol 21

(1) Fa i (2) o ii

(3) iefii aAT @) T AiAR T &

Which of the following is #rue about the Skewness in statistics ?

i. TItis used to measure the degree of asymmetry in a sample.

ii. A negative skewness is the condition when there are a small number of low
observation and a large number of high observation.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

aifeme § Rgar @ Ik & Frefefad & § H9-a1 T ® 7

i, = SuEnT TE & sremtfy @ R @ A & R fen St g

ii. T THHE AT g8 Refy § oo w9 oded # &H ofaeh ol 99
e § g oTEahd e © | '

(1) Bad i (2) Had ii G) iedRiid_t  (4) 7 Wi T i

Which of the following is a characteristic of closed-ended question ?

| (1) It is difficult to use, score and codify for analysis.

(2) Possibility of missing true response of an individual.
(3) It tends to open the answers by providing alternatives.

(4) It allows for more individualized responses\.
P.T. O
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FrfRae & & - se—ami e gee @i ke & ?
(l)ﬁSW%%HWW,@TW@TﬁEWgﬁm%I
(2) P8l =fry =t @=t ufifehar & 7 € W HHIEAT |

(3) & Ry yaH HXH I Qi @ HIRT @A B |

(4) F& Siftes =i wfifpaTell @ R ergafa 3ar €|

24. Which of the following is false about Personal Interview ?
i. Highest Response rate

ii. Most Expensive a
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor 11

Frfafad & & $H-a1 R Rl ® Sk § T e 7
i. Seaaq gfefear =3 .
ii. 99 #7Eh ! . S
(1) Padi (2) +Had ii (3) ielTiigaqT (4) T arieix 9 #ii
25. With reference to Sampling Error, consider the following statements :
The difference between the actual value of a parameter, of the population and its

estimate (from the sample) is the sampling error.
The sampling error decreases with increasing sample size.
It occure when some members of the target population could not possibly be

included in the sample.
Which of the given statement/s is/are correct 2
(1) ii and iii (2) iandii (3) ii only (4) 1, ii and iii
THATRYOT Y B daef H, Frafafaa wUEl o) fEr @it
SEEAT % T Rl & aKias 50 oK SHd SgHE (T Q) B S

T FHAX THAT e 2|
ii. mmﬁq@a‘swmgﬁwaﬁ%l
ii. 8 9 BT & o9 e STEEl & HE "Il Bl GHaa: TR T enfa
© Fel rar ST g B
RY TQ et & | H-91,/8 Jel 8/8 7
(1) ii 3N i (2) i i (3) A i 4) i, ii N iii

Which of the following techniques is suitable for showing the frequency distribution

i.

ii.
iii.

1.

26.
of grouped data?
(1) Pie chart (2) Bar chart (3) Line graph (4) Frequency polygon
Wﬁﬁ%—ﬁmmﬁ%m%mmﬁﬁﬁ%%
forq SugesT 8 7

() oz =€ (2) 9 =1 (3) e T -(4)34_@%31@
PG-EE-June, 2023/(Geography)(SET-X)/(C) | i



27. Which of the following statement/s is/are frue ?
i. The Upper Quartile has 75% of the items of the distribution below it.
ii.. The second Quartile has 50% of items above it.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Prfafea & @ fH-91/8 F99 g 8/8 7
i, Frd agafe ¥ @d R fawer & 75% g €
ii. gAY IgEE ¥ $HH HIX 50% HEEH T

(1) a i (2) Pad ii (3) iR A (4) T AVi AT A i
28. Type Il error refers to :

(1) Rejecting true hypothesis (2) Rejecting false hypothesis

(3) Accepting true hypothesis (4) Accepting false hypothesis

argy 11 e d@=f¥fa & & ¢
(1) T 9R&BTIT Bl TR HIAT (Z)Wqﬁmmﬁaﬂzﬁamm
(3) T UREHETAT B WBR HET  (4) T IRBIIAT Bl TIBRX DHTAT

29. One Sample T test is used in which of the following cases ?
i.  When population variance is unknown.

ii. When the sample size is big.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neitheri norii

ﬁwﬁ-‘r@aﬁaﬁmmﬁ@maqﬁmwmﬁmw% ?

i, o9 SaEe RERer ST |

ii. st fuq qgeT g7 8|

(1) Fasti - (2) Bad ii 3) iATHIA (@) T AV T i
30. Which of the following statement/s is/are true regarding correlation ?

i. Correlation measures causation.
ii. A scatter diagram is a correlation technique for visual examination,

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor jj
geddy @ ddy § Frefiiag ¥ ¥ S-A/8 B gy 28 7

i. TEHSY HEA-HROT B HG 2 |

ii. ®heX STHUTH g9F TOET & [T UH Heddy g ©

(1) Fae i (2) Fadii (3) i T ii A @) T Aiale

31. Which of the following Union Territory of India has the T &;ij
population as per 2011 census ? ighest Proportion of ST
(1) Andaman and Nicobar Islands 2) LakShadeep \

(3) Dadar and Nagar Haveli (4) Daman ang
an iu
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34.

PG—EE-J une, 2023/(Geography)(SET-X)/(C)

32.

C

2011 & SR & AT ST ﬁﬂﬁf@ﬁﬁﬁm%ﬁwﬁmﬁﬂﬁ

'ﬂgﬁ;ﬁrﬁmﬁrﬁmﬁmaﬁqﬁaﬁm%?

(1) stz IR PR FET ¥E (2) ST
(ﬂw@rwsﬁrﬂ (4) g9 X <4

Whlch of the following statement/s is/are incorrect about the irrigation in India ?

. Tank irrigation is popular in the North-Eastern part of India.
ins of India.

ii. The canal irrigation is popular in the Northern plai
(4) Neither i nor ii

(1) Only i (2) Only ii (3) Bothiandii
ﬁm%f@ﬁﬁ%aﬁﬂ—m/ﬁmmﬁﬁ{ms‘%m’(ﬁ T 8/8 7

i W%W-tgﬁﬁmﬁwmaﬁm%l

33.

(1) Fad i (2) @I i 3) i3 ii AA

., Which of the following state
i, It required umformly high temperature above 30°C

~(1)'?naﬁx 8 e s 0 (2) AT

ii.aﬁ%ﬁéw%aﬂﬁﬁaﬁﬁm%n .
(4)=rfﬁia?rr={'€rii

Which of the following statement/s is/are correct about the agriculture in India ?

i. India has a low percentage of reporting area under cultivation.

ii. About 3/4 of total cropped area is under irrigation. -

(1) Only i (2) Only ii

(3) Bothiand ii (4) Neither i nor ii -
ﬁmﬁmﬂﬁazﬁw—wﬁwwﬁaﬁ%aﬁﬁ qere/8 ?

L area & A & e AT & B g B

agscsaﬁﬁéﬁsraﬂmw3/4mﬁa%a%«
(I)WI Foce o 2) Fad ii
(3)1@‘(11?(*?? » (4)#?‘?[16?\‘(3@11

ment/s 1s/are mcorrect about Cotton cultwatxon in Indxa ?

ii. Itis aRabi crop that takes 6 to 8 months to mature
(1) Only i ' A2) Only ii
(3) Bothi and ii ‘ i (4) Neither i nor Ty
Wﬁmaﬁr@?ﬁ%ﬁﬁﬁwﬁﬁaﬂﬁﬁaﬁﬁwﬁwm%/ﬁ‘?
3@30°C@(WWW§@W@W\;._@?ﬁ%l
%ﬁaﬁm%ﬁ%qﬁﬁGﬁSq@%ézﬁr ,

Ay IR E g g (4) ;:pﬁ'r
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35. Which of the following is incorrectly matched about Iron ore deposit in India ?

(1) Gorumahisani — Chhattisgarh (2) Kiriburu — Odisha
(3) Kundem Surla — Goa (4) Bababudan hills — Karnataka
Frafafad & @ H-91 91 F e 99 $ AUSR P IR § o0 gafea R ?
(1) MeaErE - SIS (2) fPRgs - AfEam
(3) =9 AT - AT (4) SETgES gEIAT - FAleH
36. Which of the following states in India has the largest Lithium reserve ?
(1) Karnataka (2) Jammu and Kashmir
(3) Jharkhand (4) Rajasthan
TRa # Freafafea & @ e oo & e o 999 g9 der R ?
(1) &AteH (2) 5777 3R HeR
(3) FEs (4) TSR
37. Which of the following is incorrectly matched about Petrolium Refinery Industry in
India ? .

(1) Mathura — Indian Oil Corporation  (2) Mumbai — Hindustan Petrolium

(3) Jamnagar — Reliance Industries L.td (4) Manali - ONGC

fFr=fefag & @ H9-a1 9Rg J 0 ReEad S8 & s 3 7oq ada
GAT @ e ?

(1) 7Y - A7 fige SURE (2) g3 - Rgw dgifeas

(3) TR - RaEd s [@fRes (4) 79t - ONGC

38. Which of the following is incorrectly matched ?
(1) Nathpa-Jhakri in Himachal Pradesh — Hydroelectricity
(2) Tanda in Uttar Pradesh — Hydroelectricity
(3) Bargi in Madhya Pradesh — Nuclear Power Plant
(4) Kalakot in Jammu and Kashmir — Thermal
M= % § -1 7o 39 @ @ 7
(1) R a_er & AA-SE - e
(2) SR Wy # TS - TGS
() ST 7y WRA F - GATY Fell /A
(4) S-HeIR 7 FHEERIE - gHA

39. The book "Nature of Geography" was written by :

(1) Ratzel (2) Hettner (3) Hartshorne '(4) Immenuel Kant
YR ol AT’ gEH fhEd & e W] 8 7 |
(1) &= (2) B (3) sTEen= (4) FhE &Hie

PG-EE-June, 2023/(Geography)(SET-X)/(C) P.T.O.
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40,

41.

42.

43.

What does the word "Entropy" mean ?

- (1) A region typically characterized by a culture

(2) A measure of the disorder within a system
(3) A phenomenon of widespread dispersal of innovation
(4) A location from which a particular culture has evolved

Tl 9% 1 o/r ofef & ?
(l)whﬁwﬁwﬁﬁw@mmwwié
(2) TF 9Tl & HiaX R & A9

(3) AR & =9s BaTg & gEAT

(4) 9% I ST § o R Gy Refag g

Which of the following statement/s is/are correct about models ?

i. Iniconic model, the real world is represented by just a change in the scale.

ii. In analogue model, real world properties are represented by other properties.

(1) Only i : * (2) Only ii ’

(3) Bothi and ii (4) Neither i nor ii

oisel & SR # Fraffad § & De-ar,8 su g 23 2

i. ufaftea Afsa H, amﬁagﬁmﬁﬁnﬁﬁw%masﬁmw%l
ii. qqrﬁfwﬁfsaﬁ areitas faga o7 ot ol qERT qei S ¥

(1) Fasi - (2) Basii -

(3) i aN¥ii QT @) 7 Qielx 7 i

The term Ecumene represents which of the following in Geegraphy ui

: (1) Inhabitated portion which remain sparsely populated and contain few resources :

(2) Empty Space with no foreseable development

(3) War zone
4) Bmdwers:ty rich ecosystems with no human populatlon

Ecumene 975 3l & frr=ifolRaa & @ frdesr afaffe swar & 2

(1) 98 W R S FH A A e € oMW R g wwem @ ¥

(Z)WWaaﬁmﬂﬁrmﬁa%éfaﬁmqﬁ%
(3) g= &

.(4)ﬁmwamaﬁaaﬁﬁwaqaqlﬁﬁaﬁzﬁaa"

Theory of intervening opportunities of migration was propounded by‘:

(1) Ravenstein - * (2) Stouffer ~  (3) G.K.Zipft  (4) Bogue .
W%W%memmgﬁqﬁamwm?
(1) [¥ATENT -‘ (2) VB (3) Sfo %o RTh (4)@11 *: %




44. Which of the following statement/s is/are correct about Population Pyramids ?
i. A stationary population produces a wide-based and regularly tapering pyramid.
ii. A regressive population produces regularly tapering pyramid.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
seraE e & 9§ Frefafag § @ f9-ar/8 sam q@t 28 7
i. T R O UF AME-onEiRa o Frafa w9 & qaar RafEs g4l

2
ii. Th AT SHEE Mt v @ gaer Rt 9 2
(1) ®aeri (2) dae ii @) ieMRiid™i  (4) T Ariel} 9 &ii

45. The flow theory given by E. L. Ullman, which of the following is not a factor affecting
interactions between regions ?

(1) Complementarity (2) Intervening opportunities

(3). Size of the population (4) Transferability

3o Welo I B Ram &1 yare Ry, Frafafaa & § @9-91 are =t
% =g Sla:frar @ g 787 wear ® ?

(1) QE=war (2) s5I&9 & ITFEX

(3) SEEEAT FH ITMHR (4) sEACETIAr

46. Which of the following statement/s is/are correct about Earth as a system ?
: i. Earth's energy equilibrium is an example of an open system.
ii. Earth's physical matter is an example of a closed system.

(1) Only i (2) Only ii (3) Bothiand ii (4) Neither 1 nor ii
?%Wnﬁr%mﬁqeﬁr%aﬁﬁﬁfwﬁﬁqaﬁﬁﬁm—wxﬁmwaﬁ
/8.7

. gE B S G TH G TOTRN Bl Ush IaEI9T © |

ii. ge o AIfTEs 951 O §% YOTRl 1 T SEeIOT B

(1) Pae i (2) Had ii () idRiiIA @) 7 Frishw T i
For the Assertion (A) and Reason (R), choose the correct alternatlve from the
following :
Assertion (A) : In the second stage of Derhographic Transition Theory, population
expands.

Reason (R) : At this stage, the process of industrialisaion, urbanization and
modernization becomes prominent.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.
(3) Aistrue but R is false.

(4) A is false but R is true.

47.
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48.

49.

C

%m)mmm)%m,ﬁﬁwﬁﬁw'amﬁw

_mm:wmuwm@a%@%wamww
| : ' :

PROT (R) : 60 o@eer § ofeifeer, sedetor ol emgRiaser @ S
9@ & SR ¥

(1) ASIRR AT g & oRR, A% 9 amer 2

(2) ASTRR AT T & AfBT R, A 3t 98 =rear T8 2

() A¥T ® 93=g RaET B

(4) ASTE™ © AfFT Ru B

Which of the following statement/s is/are incorrect about Central Place theory ?

i.  For each hierarchical level of central places, there is corresponding network of
hexagonal complementary areas of higher order.

ii. The concept of threshold is related to minimum distance to be covered.

iii. The range of goods is the minimum volume of business necessary.

(1) iandii (2) iiandiii = (3) i,iiandiii  (4) Only iii

T M e & IR § Freiiieg ¥ ¥ Se-ara e TAT B8/E ?

i. ﬁuwﬁ%uﬁmm@%w%mﬁm%mw
8=l 1 T Aeas er B |

ii. SHERS I SHURCN TF & A ael AT g8 Q@ defag

iii, AT B ACM =TT H SFEARH LATH HE=T L | : 5

(1) i3fTii (2) ii 3NTii (3) i, ii SN iii (4) Fad i’

Which of the following statement/s is/are correct about Von Thunen Model of

Agricultural Landuse ? , ; ;

i.  'The prodcution of fresh milk and vegetables is concentrated in the zone'I‘.r

ii. Zone VI _is: good for the production of F irewood and Lumber production. -

(D Only i £ i (2) Only ij

(3) Both i and ii (4) Neither i nor ii |

T A ST E At o Ao B AR A P 7 Bl

wa?%/%?-. |
i. W@WWWW@?Iﬁ%%I‘

i WVlmaﬁeﬁrm%W%mm%{

(1) Fasti e (2) FasTii |
(3)iaﬂri_ia‘|=ﬁ_ g @ T @i 7 & i
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50. Which of the following statement/s is/are correct about Weber's Theory of Industrial

51.

52.

Location ? _
i. For a weight losing industry, the location will be near to the market.

ii. Isodapane is the line joining the points of equal additional transportation cost of
production and supply of finished product.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

I F AEe WF & fOura & ar § afefea & 9 #9-919 sg9
TeTB/E ?.

i. I HH HE I IR B U WWH IR P ASTEIS 2N |

ii. FFASAT IR IAE & I@ed R ogfd & a9qF AfafRed aRass
AN & gl Y Shie awlt Y@ &1

(1) Basi (2) A« ii Q) ifRii =" @) T AriSN T &ii

Which of the following statement/s is/are true about types of folds ?

i. The difference in the intensity and magnitude of compressive forces also causes
variations in the characteristics of fold.

ii. Recumbent folds are formed when the compressive forces are so strong that both
the limbs of the fold become parallel but not horizontal,

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

Fr=fafea § 9 H9-91/8 FF a9 & UK & 9] § g 28 ?

i. Hde® o @ e oI g\ § A of gaw 9 Rdwaret ¥ gReds
T HIOT FAaT B | .

ii. TIET GO Hies T AT ¥ T FAHG B A Towm S B R dee B
SHl ST FHEIAR & S ¥ afe &t 98 8

(1) Pae i (2) e ii () idlRiid=A  (4) 7 ik 7 i

Which of the following statement/s is/are true about sliding continental theory of Daly
on mountain building ?

i. A solid crust was formed much later after the origin of the Earth.
ii. Mountains have formed by the folding of geosynclinals sediments as a result of

lateral pressure exerted by the sliding of the continental crust towards the
geosynclinals seas.

(1) Only i (2) Only ii (3) Bothiandii (4) Neitheri nor ii

THa o ox 3l B wiElET Sfedew o § an § frefated & @

BT-TT/8 T G &8 7

L gl i IO & 9gd 9% ¥ O S qued &1 HEir geT |

i. PreffRTT Tl ) o merddiy s & Ragsy @ S 919 @ B
IRuTTEEY REAfiRTS daee $ 98 ST YSTSt & e gem B

(1) Faari (2) Ha ii (3) iMiiEHT . (4) F ari s 9 &ii

PG-EE-June, 2023/(Geography)(SET-X)/(C) P.T. O.
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cess "Kaolinization" ?

53.  Which of the following chemical weathering involves the pro
(1) Hydration (2) Hydroloisis (3) Chelation (4) Carbonation
P & @ R R o 3 e s i §
(1) SR ) e (3) A (4) FHEATT
54. Which of the following statement/s is/are true about Slope development ?
i. In Slope replacement, the steepest part of the slope progressively decreascs in
angle, accompanied by the development of a convexity and concavity.
In slope decline, the maximum angle decreases through replacement from below by
gentler slopes, causing the greater part of the profile to become occupicd by the

concavity.

ii.

(4) Neither i nor ii

(1) Only i (2) Only ii ~ (3) Bothiandii
ﬁwﬁr@ﬁﬁﬁaﬁﬂ—m/ﬁwmﬁm%aﬁﬁ g es/e ?
Saear o7} ofaqedr & fa@md

T e #, oo Bl 999 do Bl
3 GreT-re o7 F IEL gedl S 8 |
Wmﬁ,amwmmm%ﬁw%mm

i.

ii.
ﬁm%,mﬁmww%wmﬁmm%n
(1) ®ad i (2) @4 ii @) i (4) T QiAo T A
55.  Consider the following statements : :
iginated prior to the uplifiment of land

i, Antecedent streams are those which are ori
surface.

ii Antecedent stream is a type of insequent drainage system.

iii. Superimposed Drainage System is a type of obsequent streams.

Which of the statements given above are correct ?

(1) iandiionly  (2) iiand iii only (3) iand iii only (4) i, ii and iii

Prfafag HuEr 9} g #ifeT :
mﬁ%%ﬁgﬁﬁw%vﬂmﬁqﬁmg%

i, gaaar

ii. @aﬁ’m@maﬁmwﬁaﬂﬁwﬁ%r

iii. gRErdvs 3T Rieew T TR B AR g 2

S Ry T FEEl § Q@ B9 qeTE 7 ,

(1) Faisl}ii  (2) Fad ii AT 3) @aeri i (4) i, i A dii

Which of the following landforms is a result of erosion and deposition both at the same

56.
time ?
(1) Structural benches (2) River terraces .
(3) Meanders ‘ (4) Gorges = o 8t |
Wﬁ%#—wWW»ﬁWﬁm@awﬁW%?
(1) GXEATHS S | (2) S<t afeenr PRI
(3) A=H Py (4) TSE

PG-EE-June, 2023/(Geography)(SET-X)/(C)
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37= Which of the following statement/s is/are frue about sand dunes in an arid location 9

.. Longitudinal dunes are generally formed in the heart of trade wind deserts.
ii. In Barchan dunes, the horns always project upwind.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

ﬁwﬁf@aﬁ%%-wﬁwwgg&swﬁiﬁ%aﬁ%mﬁm
B/E 7

. aﬁdﬁmﬂmﬁtwaﬂmﬁzﬁmmﬁ%%ﬁaﬂﬁﬁl
ii. aﬁqﬁs—snﬁ,sjw(ﬁﬁ)aﬁsnwwwmﬁ%l
(1) ae i (2) Baa ii () iR @) F qislk T A

Which of the following statement/s is/

are frue about ecological approach of Man-
Environment relationship ?

i. A man is not considered as an integral part of nature/environment.

ii. It lays emphasis on rational exploitation of resources and optimum utilization but
not the recycling of resources. :

(1) Only i - (2) Only ii (3) Bothiandii  (4) Neitheri nor ii

HIHI -Gt ﬁa%mﬁﬁaﬁmg&zﬁw%aﬁﬁ Fre=fafea & ¥ H=-ar,q
AT T B/E ?

i AT B AR/ qataRer H SR o T8 W S 2

FETEAT B T ) A B Syl -
(1) Pt i (2) B ii (3) i  (4) 7 Niadw T i
Which of the following statement/s is/are frue about ec\:’osys’tem ?

1. Low species diversity of a mature ccosystem representing a 'climax community is
related to more stability of natural ecosystem, - ‘ ¥

ii. Ecosystem instability results when an ecosystem becomes unable to adjust with
environmental change.

(I) Onlyi  (2) Onlyii © (3) Bothiandii  (4) Neither i nor i

Wﬁﬁﬂﬁiﬁﬁﬂ%aﬁﬁﬁﬂﬁ%ﬁﬁ%ﬁﬁ-ﬁ/ﬁiﬁww%/ﬁ?‘

i @‘Wﬂmmﬁﬁﬁawﬁmﬁmwmaﬁﬁ
=7 sty fafererar orepfors TR ot @t oTfrs Remar & wefT 2

i IR O @ sierar w1 9RYH @9 BT § S9 U aRReREr o

TateRer aRads & e ARG S 7 eeHe 8 oer B ,
(1) Fasi Q) dawii () iARIEA (@) T iR T i

PG-EE-June, 2023/(Geography)SET-X)C) .= = . PTO.
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60.

61.

62.

63.

i. Richer the biodiversity, the food web becomes

ut Food chain and food web ? ;

Which of the following statement/s is/are frue abo .
longer and more complicated. y

ii. A more complicated food web is more stable. - ' 3}
(1) Only i (2) Only ii (3) Both i and ii (4) Neither i nor il .
ﬁmﬁ@ﬁﬁﬁaﬁq—m/ﬁma@ﬂj@mmwaﬁ%aﬁﬁ T /T 7
i. ﬁaﬁﬁwmﬁﬂg@aﬁ,@@mmﬁrwaﬁaﬁﬁm;
ST | :
i o e S @Ed S S e an # | ;
(1) Faei (2) B ii (3) il A (4) 7 i ohT T A
Which of the following . statement/s is/are correc( about Rostow's stages of

development ?
It assumes that socialism is the underlying structure of society.

ii. In the drive to maturity stage, diversification of industries take place.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

FEY B Faeprd B IO @ AR Frefied #§ § @e-ara T2 /E?

.z war & R GHER ST S St dE §

. Wgﬁeﬁﬁﬁ@wﬁa@ﬁwﬁrﬁreﬁwaﬁ%l |

(1) Fad i (2) adT ii @3) isiRiiddar  (4) 7 i T DA

Which of the following regions was a part of Midland basin proposed by Mackinder in

1943 ? ,
(1) Japan (2) North Atlantic Ocean

(3) South America (4) Northern Africa :
ﬁwﬁf@ﬁﬁaﬁﬂ—waawuﬁﬁwgmmﬁaﬁsﬁgwsﬁr

feer ar ? ,

(2) S0 oTewifeE HEMFR

(1) s

(3) aferer SR (4) ST STHIHT
'Rimland' Theory was propounded by ?

(1) Spykman (2) Karl Haushofer

(3) Klaus Dodds (4) Saul Cohen
Toaets’ e fras g gfaaiea f&Har @ or 2
(1) ErEHAT (2 F AEEwT

(3) I SIgE (4) ST B

PG-EE-June, 2023/(Geography)(SET-X)/(C)
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64. Which of the following statement/s is/are correct about Frontiers and Boundaries ?

65.

67.

i. Frontiers are inner oriented while Boundariqs are outer oriented.

ii. Boundaries are areal while Frontiers are linear in Nature.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
FrafafRaa & § HF-91/8 Fo9 g X daredt & s F gt /& ?

i. Frontiers 3Tidfkeh I{@ €rAt & STafe Boundaries &0 I=J@ BRIt B |

ii. Boundaries &=/ &kl ¥ ST=f% Frontiers uspiy & Yeim &t ¥ |

(1) ae i (2) Fae i - @B) i iid=at @) F ar i3 T & i

Which of the following statement/s is/are correct about Rank Size Rule ?

i. Forces of unification result in the emergence of few large settlements.

ii. Rank Size relationship is absent in India at the national level. |

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

TH AR FEm & IR Frefaiad ¥ § S9-ar,8 sue gd T 7

i @waﬁsﬁﬁ%ﬁmﬁaa@aﬁmﬁwaﬁwg@t

ii. Yo STHR e R F Ush wWX W oTuRed B '

(1) as i (2) BT ii B)idAR iidA @) T AT i T & i

Which of the following statement/s is/are correct about Concentric Zone Model ?

i. It was proposed by Homer Hoyt and M. R. Davis.

ii. Zone III is the zone of transition characterized by residential deterioration. ‘

(1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Frafafaa § @ S9-a1/8 a9 a3 &5 ofsa @ I § g 2,8 ?

i. I8 BT B¥T SR WHo Ao MWH IR uwamea fear T o

ii. ST 11 eTreamei Frge & st EshHoT 1 & )

(1) Pas i (2) &« ii B) iR iiI_ @) F A i} 7 &

Which of the following is a built up area created by the coalescence of once separated

~ urban settlements ?

(1) Conurbation : (2) Urban Sprawl
(3) Megalopolis (4) Rural-Urban Continuum

PR & & H9-a1 oh Bifa 89 ¥ St o A ot &F sl afadt @
Qe @ g & 7

(1) B¥e= | (2) &l FerE

(3) AR (4) aroT-9I8 8 9T

PG-EE-June, 2023/(Geography)(SET-X)/(C) P.T.O.
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68.

69.

70.

71.

C .‘

Which of the following river drainage pattern is found in the Western Ghats of India ?
(1) Radial (2) Herringbone (3) Centripetal (4) Rectangular

ART B yiRerht @et # Frafaiad ¥ @ Se-ar 99 Aude gRkied 9rEr Sien © 7
(1) sz (2) 2RE= (3) HETERE  (4) SATIAATHIT

Which of the following is an essential characteristic of Quantitative Revolution ?

1. Positivism

ii. Hypothesis Buildings
iii. Mental Maps

iv. Human Perception
(1) Only i (2) i1, 1i,iii, and iv (3) i and ii (4) i, ii and iii

Wﬁﬁ%—mwﬁ%#wm&w%ﬁw%?
i. HIedae

ii. sUrRifag f&fesT :

ili. AR AR

iv. HF9G 1T :

(1) Fa« i (2) i, ii, iii X iv  (3) i ii (4) i, ii 3T iii
Bhat and Rao presented the regionalization scheme of India based on :

(1) Resources and Agncultural Land use b e

(2) Physiographic factors
(3) Industries and Trade
(4) Rivers and watershed .

we IR XE ¥ ARG B AfgHTer S B ST feRar :

(1) Hare o iy iy Sua

(2) Arfee HRH -

(3) TENRT SR AT

4) FRIT MR ae®=

Which of the following statement/s is/are correct about orlgln of Himalayas ?

i. Great Himalayas were formed in the first phase that commenced about 120 million

'years.
ii. The Himalayas have attained the isostatic equxllbnum
(1) Onlyi (2) Only ii (3) Bothiandii (4) Neither i nor ij

fermer @ Il B aR ¥ Frafefeg § @ SE-a1,9 Fu TET R/ 7

b %%mmwﬁﬁw@mﬁgmmﬁﬁmlzoﬁ%ma&sg@

g o |

ii.%mm%aﬁs@éﬁzﬁﬂgawmﬁaﬂm%n G
(1) @as i ~ (2) Faw i (3)1@?’@1@% (4) T i 7 & i

PG-EE-June, 2023/(Geography)(SET-X)/(C) -
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72. Which of the following statement/s is/are correct about the Peninsular plateau of India ?
i. Garo, Khasi and Jayantiya hills are the parts of Peninsular Plateau of India.
ii. Naga and Mizo hills are the parts of Peninsular Plateau of India. .
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
AT & IEgEdE 9oR & SR # Frefftaa & @ fw-ar,q a9 g 28 ?

(1) Fae i (2) A ii @G) iR iiaA @) FX iR T & i
73. Which of the following statement/s is/are correct about the River drainage system in
India ?

i. Himalayas rivers are mostly superimposed, and rejuvinated resulting in trellis,
radial, and rectangular patterns. :

ii. Most of the Peninsular rivers are in youthful stage.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

FefaRed 3 & $F-91/8 o 9RT § 79 ogaE ot B i ¥ g@ T ¢

i oA @ GREl sEER gredce &, ok sEmer @ uRemmEsT X
Ve MR SR Yeif ¥ | ' :

ii. AR grEgEaqg ARt gar o ¥ ¥

(1) et i ) e ii (3) i idF @) T QiR T & i
74. For the Assertions (A) and Reasons (R), choose the correct alternative from the
following :

Assertion (A) : There is a sudden burst of monsoon in India after 1st June.

Reason (R) : The easterly Jet stream sets in after the westerly Jet stream has
withdrawn from the region. ‘

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.
(3) Ais true but R is false.
(4) Ais false but R is true. '
ST (A) ok ®wRer (R) 3 R Frfefeg & 9 et T g -
AR (A) - L7 & 919 9Ra § Mg 61 =S g aar 2
BT (R) : gt Se & a9 § 9iedht Se €9 3 geqd 3 aw o B
(1) AR RN &g ¥ 3R R, A& 98 = B
(2) AT RANT &= ¥ AfpT R, A @ aren 78 ¥
() AV & =g Re™d 2|
(4) AT ® wg R& B
PG-EE-June, 2023/(Geography)(SET-X)/(C) . . P.T.O.
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75. The pre-Monsoon shower is known as 'Mango shower' in which of the fo_lloWing
states ?
(1) Maharashtra  (2) Karnataka (3) Assam (4) West Bengal
Wﬁamwﬁmmaﬂfaﬁr By qEc’ & AH H ST ST

?

(1) werrs; (2) wHATeH (3) erEH (4) afz=m ST

76. Which of the following states in India exhibit Dfc type of climate as per Koppen's
classification ? ; :
(1) Western Rajasthan (2) Assam
(3) Arunachal Pradesh (4) Uttar Pradesh and Bihar
IRa § Prefiad § @ HF-a1 U590 BT B @i @ STgErR Dfc TR @l
STTarg Ief3f HIar B P
(1) af=rdt o= () ITEH
(3) STHUTERT U=eT (4) ITAX Fa9 X feX

77. Which of the following statement/s is/are correct about the Troplcal Evergreen Forest

in India ?

i. They are found in the warm and humid areas with annual precipitation over 200
em '

ii. They are found in the hills of North-Eastern region in India.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Wﬁwmﬁaeﬁuﬂmmaw%aﬁﬁﬁwﬁmﬁﬁﬁﬁ#m/@rw

@&l 28/8 7
i. azoowammwma-ﬁmmaﬁﬁwwa%r

i ¥ AR ¥ IoO-udt & @ geifsdr & 9 o g1 |
(1) aa i @ @FEdii (3) i i TA (4)=ra‘rla?ﬁ=ré1u\

78. Which of the following is the first Biosphere reserve in India ? :
(1) Nanda Devi (2) Nilgiri (3) Sunderbans:  (4) Pachmarhi »
' ﬁmﬁf@aﬁ@aﬁﬁ—mwﬁqﬁa@w&aé%?
(1) =T %Eﬁ (@) R (3) gaxed (@) gEEE
Which of th_e,following .statement,/s is/are correct about the soils in India ?
- Bhangar alluvial soil are found in the low areas and valley bottom. - ‘

Regur soﬂ is the largest soil group by geographlcal area in India.
(3)-Bothiandii . (4) Nelther i nor ii

79.

ii.
(1) Only i ; (2) Only ii

' PG-EE-June, 2023/(Geography)(SET-X)/(C)
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Prfefed # ¥ HH-91/8 T 9Rg § A & IR T @@ 2 ?
AR See g FEe & o) 'l 9« ¥ i awh '

i, TR A ara A A & & e 99 W w2

(1) Baa i (2) dad ii @) iR iigqt @) Fariehw T & i
Consider the following statements about population growth in India.

i. 1901-21 is characterized by stagnant population.

ii. 1951-81 is characterized by steady growth.

iii. 1981-2011 is charactrized by high growth but signs of slowing downs.
Which of the statement/s is/are correct ?

(1) Only i (2) Only ii (3) iand iii (4) iandii
Wﬁaﬂmq@%aﬁﬁﬁmﬁ@aaﬁaﬁwﬁwﬁﬁm

i. 190121 1 ReR SEEN § ST SA@r ¥

ii. 1951-81 ¥ ghe & ST S B

iii. 1981-2011 3= fqebre & STAT ST B QAfb fiAr 89 & d@da &
HA-F1/8 FIT G /T ?

(1) dad i (2) Fad i (3) i3 iii (4) i ii
81. Which of the following is #rue about map scale ?

i. Large-scale maps show large portions of the Earth's surface.

ii. Small-scale maps are less detailed.
(1) Only i (2) Only ii (3) Bothiandii (4) Neitherinori ii

e & WM 9R § efefiaa § @ f9-ar g8 e ?
i. a%hﬁ%qmﬁag&zﬁﬁﬂﬁg%a%%ﬁaﬁrﬁ@rﬁ%l

ii. Bl M & AmfTE &9 Rwga aa g

g

80.

(1) Faei (2) Fad i (3) idARiiTA  (4) T @risl} T i
82. Which of the followmg defines the orthographic projection based on the source of
light ?

(1) The light emanated from the center of the globe
(2) Light source is at the point opposite the point of tangency
(3) The light emanated from the infinity |

(4) None of the above
Frfafag & @ @9 gmg & @19 3 oTHR UX Sitimithes YaqoT @ g

HIT & ?
(1).’@3%%‘?%ﬁwmﬂ

(2) TFre € 'R $ fada g o R
() S°T q Frepar SehTer

(4) ST & q P &

PG-EE-June, 2023/(Geography)(SET-X)/(C) P.T.O.



24

~ 85.

83.

84.

Cc

Which of the follow
System ?
i

ing is frue about The Universal Transverse Mercator (UTM)

Itis a coordinate system that covers the entire world from 84° South to 84° North.
It is subdivided into 66° zones that are elongated in the north-south direction.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii
WWW(Um)m%aﬁﬁﬁmﬁiﬁﬁﬁ@%*W‘w

ii.

1 TE O wEem gomeh ¥ oo qf gfvar @ 84° Efarr @ 84° ITT 9% FAT

FHET T |
ii. I8 66° &= F Iu-Renfora ® o sax-afeer R ¥ RAega 81
(1) Fasi (2) Had i (3) ialTiiaFt  (4) T aAiAT T Aii

Which of the following is Jalse regarding maps ?
(1) Chorochromatic : When different objects are shown by different colors.

(2) Choropleth : When different degree of value is shown by different shades of lines
or a single color.

(3) Choro-schematic : When different values are shown by different types of diagrams.
(4) Isopleth : All those maps in which lines of equal values are shown.

qEfeEl & de g 7 Frafoiaa § @ S9-91 o T B 7

(1) REpAfes : o9 - aggstt & Br=-fr= 3 8 Ramar sar 21

(2) BRI : ST& S-S T H W3 qT Th &l TT & STRET-ST T
HET H ged @ S ¥ |

(3) FA-AoAES : 59 (A= geR & IREl &} ¥ 71 R s 21

(4) FEE @1 : A G AEEE B g e o6 3@y  9iE S ¥

Which of the following statements are frue about dot density method ?

i. It is an effective way of illustrating variations in spatial density.

ii. Large ranges in data values is suitable for this technique.

(1) Onlyi - . (2 Onlyii

(3) Bothi and ii . (4) Neither i nor ii

Rig T Ry & ) § Prefateg § ¥ S99 T g ¥

i. gg i o H A B g2 1 9 g9 a2 )

jii. 39 T@Ne B [T 87 Iy H S IS IugE B | .

(1) Fati : (2) Hadii :

(3) i ST ii IAf (4) T AT T A

PG-EE-June, 2023/(Geography)(SET-X)/(C)
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86. Which of the following statement/s is/are frue about atmospheric interaction of
electromagnetic radiation ?

i. All electromagnetic radiation detected by a remote sensor has to pass through the
atmosphere once.

ii. Non-selective scattering resﬁlts in haze in photography and blue sky.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

FefafEea & @ S9-ar,3 sue fagga-guhta faferor @ agasdy o=

BeaT & I ¥ gy 23 2 ) .

i ﬁﬁﬁaﬁmmwaﬂmwmﬁiﬁgﬁg@aﬁamzﬁr@w
AIAEROT | ETRAT g7 2| ‘

ii. ?—Wwﬂq%qﬁwmwﬁmaﬁrﬁmmﬁgum

|
(1) asti (2) Faaii @) idRiiga @) T AriedR T fii

87. Which of the following objects spatial reflectance curves shows the peak and valley
configuration ?

(1) Vegetation  (2) Water (3) Soil (4) Glaciers
ﬁm%?aﬁé%—wmwﬁm%wﬁwﬁmﬁ%ﬁmﬁ
qelar & ?

(1) ga=fa (2) qr=it 3) F= (4) fRERT

88. Which of the following statement/s is/are #rue about Geostationary satellites ?
i. They are located at an altitude of about 36,000 km and above.
ii. GOES and METEOSAT are some of the satellites under this category.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
JeAferes Iumel & I & Frafaiad & @ A9-a1/8 Fu7 g S8 ?
i. A T 36,000 FFH MR IEH ot A SuE wx fer ¥
ii. GOES ek METEOSAT 39 2°ft & HB ITTE T |
(1) Pasi (2) Had ii () i  (4) 7 @i T Hii

89. Which of the following type of resolution is the capability to differentiate the spectral
reflectance between various targets ?

(1) Spectral (2) Spatial

(3) Temporal ' (4) Radiometric

= & @ fpg wopR & W R @@t & S aolede guads &
ST HEA P &THAT T&ar 8 7

(1) Qg (2) T
(3) ¥R ORELIRIES
PG-EE-June, 2023/(Geography)(SET-X)/(C) | P.T.O.
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90.

91.

92.

(4)

Which of the following pairs is false ?

(1) RADARSAT - India (2) OCEANSAT - India
(3) IKONOS — USA (4) CARTOSAT - India
Freffed & & S9-91 TH sT@FT B 7

(1) BRAT - 9IRA - (2) S8 - ARG
(3) g - JIET (4) FE¥E - WA

Which of the following statemnt/s is/are correct about temparate cyclone ?
i. These move from east to west direction.

ii. These originate over ocean and land.
(1) Only i ~ (2) Onlyii (3) Bothiandii  (4) Neither i nor ii
AT =ha F SR F g § & $E-A/8 BAT el s/g ?
i agé%qﬁanﬁsnﬁahaa?ﬁ%l

3 §x R 9 & FW ST B Bl 4
(1)%@'1 (2) ad ii RO AT (4) T arisiR 7 fii

Which of the followmg pairs is incorrect ?
(1) Rainfal — precipitation in the form of water
(2) Hail — Small and rounded solid pieces of ice
(3) Sleet — very fine raindrops :

(4) Frost—Ice crystal of water droplets
Frfifag # & H9-a1 g9 a7 8 ?

() a5t - 5T & &9 F quor

(2) oiwmafe - w%@%aﬁtﬁamﬁ
(3) et ot - S wEW At R

: (4) Cirrus H
T 41 Ay F=HE S e |§ S



C : y 27
ﬁﬁqaﬁww%awﬁw%f@aﬁﬁaﬁq—m/ﬁwmm%aﬁﬁ
wer 2/2 ?

i. T YHEREE 8 B STHUH 8 T |

ii. 39 SErg # g6 hias o)X gut fiethe § ST o B

(1) Fawi (2) ®ad ii
(3) iR ii et (4) 9 ArisT 7 &ii
95.. In which part of the ocean floor does the Canyons and trenches are observed ?
(1) Continental Slope (2) Continental Shelf
(3) Deep Sea plains (4) Along mid Oceanic ridges
Wm%ﬁ;ﬁmﬁa@raﬁ@w%‘wﬁﬁ%? i
(1) FerEdg o (2) FErdd AF:
() ™ TE F == (4) 990 HEEFTAT Hedl B 9y

96. Which of the following statement/s is/are correct about Oceanic salinity ?
i. Salinity lower in Black sea than Mediterranean sea.
ii. Salinity is higher in Arabian sea than Bay of Bengal.
(1) Only i . (2) Only ii
(3) Bothiand ii (4) Neither i nor i |
eI aerar & R % e & @S-, s97 g 38 2
L. A" §FR & goT 3 Her 9vR & q@@ouEr a5 2
ii. S B GGl B GAT F oRT R F qgoEr o D)
(1) Pai (2) Faa i '
(3) i3 ii At (4) T @ik 7 i
97. Which of the following statement/s is/are correct about tides ?
i.  The gravitational force of Sun is more dominant than the Moon.

ii. On the opposite side of the carth to moon, centrifugal force is more dominant than
gravitational force.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
w%aﬁﬁﬁqﬁmﬁﬁﬁaﬁq-wmm TR /R ?
. W B TEEEREST g9 AT @ e gaw aer B

g@wm%ﬁ%%ﬁmwmwﬁwﬁ
HiYp gt Sar )

(1) FEdi () Fadii (3)ieﬁ%ii.af?r @) T Aiskk 7 @i
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98. Which of the following statement/s is/are correct about Geostrophic winds ? |

i. They ongmate when pressure gradient force and Coriolis force balanccs each
other. : ,

ii. It occurs near the equator on the earth surface. :
(1) Only i - (2) Onlyii (3) Bothiandii (4) Neither i nor ii
frefafaa & 9 SA-a1/8 wuE gad sael & s § g@ v/E °

i. %ﬁ@ﬂ@%%mwmwaﬁm@mm@@?aﬁ
- Hgfeaa & 21

'ii.uaﬁqw%@%qmq&ﬁaﬁwwam%l . -
(1) Fasi (2) dad ii @) ieiRiidEt (4 7 @isdR T i

99. Which of the following is/are frue regarding BSh climate as per Koppen's cllmate 3
classification ? .

i. Potential evaporation exceeds precipitation.

ii. Average annual temperature is more than 18°C. .
iii. They are found along thc fringes of sub-troplcal deserts PRE . ’-
(1) iand ii (2) i, ii, and iii (3) only i (4) only iii

ﬁh%mwﬁw%mﬁwm%waﬁﬁwﬁ@aﬁﬁ
 HFA-E1/A GI /B 7

i. dwfaa aredieter aut § v T
ii. oNaa aiffe aaw™= 18°C & siftes B
‘ g “tﬁwﬁi%ﬁﬁﬂww%l
, (4) Hae iii
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Which of the following statement/s is/are correct about Rostow's stages of
development ?

i. It assumes that socialism is the underlying structure of society.

ii. In the drive to maturity stage, diversification of industries take place.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii
IR F o & =Tt d ar § F=fafag § @ fI9-a1/8 a9 g8t 8 /8 7
i. e " @ 6 gEeER '9eT # efdiifed @aET B

i, gET T ARE &S H IER @ g e 21

(1) &as i (2) ®ad ii 3) iAiiAA (4) T A T &
Whic}; of the following regions was a part of Midland basin proposed by Mackinder in
1943 7

(1) Japan (2) North Atlantic Ocean

(3) South America (4) Northern Africa

FafaRea & @ f9-a1 89 1943 7 AfFsy arr gdfaa fBscls afaa @
Begr o ?

(1) Sa= (2) IAA Iediied HBENTT

(3) afarer AR (4) I ITHIHT

'Rimland' Theory was propounded by ?

(1) Spykman (2) Karl Haushofer (3) Klaus Dodds  (4) Saul Cohen

Roctes’ e feas g ufawfea fear mar ar ?
(1) =gHaT (2) FIet SRR (3) FTE SIS (4) ST Hled

Which of the following statement/s is/are correct about Frontiers and Boundaries ?

i. Frontiers are inner oriented while Boundaries are outer oriented.

ii. Boundaries are areal while Frontiers are linear in Nature.

(1) Only i (2) Only i1 (3) Bothiandii  (4) Neither i nor ii
frfafag § @ Hi-ar/a FF GHid AR el & 9 F g8 88 ¢

i. Frontiers {iaite I~ Kl & =i Boundaries IEd IgE exl ¥ |

ii. Boundaries &=/ &)t & ST Frontiers IHhia § T Bkl © |

(1) ad i (2) Had i B) iR iig=t (4) T ar i3 T & i

Which of the following statement/s is/are correct about Rank Size Rule ?

i.  Forces of unification result in the emergence of few large settlements.

ii. Rank Size relationship is absent in India at the national level.

(1) Only i (2) Onlyii . (3) Bothiandii  (4) Neitherinor ii

P L. O



H AHR o & g § Frefafag § @ PA-A1/8 U ger e/8 7

i THE H AR D aRorHeEEy gy g9 aRadl B 3%F g

ii. ¥ MBI Hew AR F Usfg &Y 9 SRS B

(1) &as i (2) AT ii (3) i3 ii AT 4) F @ iR 7 & i

6. Which of the following statement/s is/are correct about Concentric Zone Model ?
1. It was proposed by Homer Hoyt and M. R. Davis. ,
ii. Zone Il is the zone of transition characterized by residential deterioration.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i norii
Frfefad & @ H-a1,/8 T2 dad O died & g 7 7@ e/T 7
i. Ig BHX B™e 3R WHo Ro faq gy uyxdfad fhar 74T 41|
i, S I SEeE fREe & s d@6Eor & e 2
(1) &ad i (2) Faw ii (3) il it (@) T ar i T A

7. Which of the following is a built up area created by the coalescence of once separatcd
urban settlements ?

(1) Conurbation (2) Urban Sprawl
(3) Megalopolis (4) Rural-Urban Continuum

Prefifag & ¥ F9-a1 o FfT a9 ¥ S Uh IR oI g2 el aiadl @
gt & s 8 7

(1) S (2) Ed T
(3) AN (4) THTOT-BY 1A

8. Which of the following river drainage pattern is found in the Western Ghats of India ?
(1) Radial (2) Herringbone  (3) Centripetal (4) Rectangular
aRg 3 ufdert grel ¥ efafad § @ H9-9r T Aqae 9fasy 9@ S r 8 7
(1) T (2) =FREEA (3) FETERE  (4) STIATHR

9. Which of the following is an essential characteristic of Quantitative Revolution ?
i. Positivism
ii. Hypothesis Buildings
iii. Mental Maps
iv. Human Perception

(15 Only i (2) i, ii, iii, and iv  (3) i and ii (4) i, ii and iii
frfaiag § @ $9-91 9T [Aale & Th JEgs [aLwdar 8 7
i. gogeEs

ii. sEorifg &S

ili. A A=A

iv. AEG 413

(1) Fad i (2) 1, ii, iii ATiv  (3) i AR i (4) 1, ii 3NT iii
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10. Bhat and Rao presented the regionalization scheme of India based on :
(1) Resources and Agricultural Land use
(2) Physiographic factors
(3) Industries and Trade
(4) Rivers and watershed
e X TG X wRa & AAFHIT AT H GEIT R
(1) e IR Fy gfy I9gm
(2) MTH FHH
(3) I PR =W
(4) AT & grews

11.  Which of the following statemnt/s is/are correct about temparate cyclone ?
i. These move from east to west direction.
ii. These originate over ocean and land.
(1) Only 1 (2) Only ii (3) Bothiand ii (4) Neither i nor i
TefidreT =mpard ® SR F frfatead & & SE-91/8 A qeT /8 ?
i, ¥ gd § afegy Rem & R =l €
ii. ¥ ggx ol 9yff & W I B ¥
(1) had i (2) &ad i (3) i3 ii AT (4) T a@vishe 7 @il

12. Which of the following pairs is incorrect ?
(1) Rainfal — precipitation in the form of water
(2) Hail — Small and rounded solid pieces of ice
(3) Sleet — very fine raindrops
(4) Frost — Ice crystal of water droplets

frefefed & @ S=-91 IH Tad s ?

() asf - ST & &9 F gHT

) ofgie - g% & B2 I N SE Ihs
(3) fesft @i - aga WA aw I

(4) 9Tl - U @ G BT a6 BT R

13. Which of the following type of cloud is formed by loss of heat or mixing of air

masses ?

(1) Cumulus (2) Stratus (3) Nimbus (4) Cirrus

Frer % & g 9B &1 gad T @ gHAE A1 arg &eAHE b Feer § A
g7

(1) =g () §eH (3) =g 4) faE
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14. Which of the following statement/s is/are correct about Cs climate as per Koppen
classification ?

i.  They occur around equatorial zone.
ii. This climate is characterised by dry winters and rainy summers.

(1) Only i (2) Only ii

(3) Bothiandii - (4) Neither i nor ii

Eﬁ'a;‘;%‘”%?”l & AR Frfafag & @ @F-ar/A HoF Cs Foag & a
TeTe/8 7

i I qHEREE 89 B orEaE B ¥
ii. ¥ Sf@Erg A geh figwe o gt deTehrr & A1 AT S |

(1) Fasti (2) 39 ii
(3) i3l ii =T (4) F arielR 7 &ii
15. In which part of the ocean floor does the Canyons and trenches are observed ?
(1) Continental Slope (2) Continental Shelf
(3) Deep Sea plains (4) Along mid Oceanic ridges
eI dd & R 9T & grdt ok @rsat 9 ot & ?
(1) HeTENE o (2) HETEdg ITh
(3) TEX g F HaH (4) 9 HeTERTOY &Hedhi b AT

16.  Which of the following statement/s is/are correct about Oceanic salinity ?
i.  Salinity lower in Black sea than Mediterranean sea.
ii. Salinity is higher in Arabian sea than Bay of Bengal.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
HETERY d9UreT & ) H Frefaiad § § H9-91/8 99 get /8 ?
i gHE GFR @ o J el @R ¥ 9T &9 2
ii. ST W @@L FH JAT H IRF G H Fgorar aife ¥
(1) &ad i (2) Fad ii (3) iARiiaAT  (4) T Arietw T i

17. Which of the following statement/s is/are correct about tides ?
i.  The gravitational force of Sun is more dominant than the Moon.

ii. On the opposite side of the earth to moon, centrifugal force is more dominant than
gravitational force.

(1) Only i (2) Only ii (3) Both iandii  (4) Neither i nor ii

R $ ) #§ Frfafag § @ S9-a1/8 FUa9 ge@r 2 ?

. g4 FH TEEERNT g T=H 9 A mEd e 2

i, g OX = & el R H SEeERs 96 [eemser a9 1 qerer §
31 gHTEr ear B

(1) Haeri (2) Had ii @) iR @) T i T i
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19.

20.

Which of the following statement/s is/are correct about Geostrophic winds ?

i.  They originate when pressure gradient force and Coriolis force balances cach
other.

1i. It occurs near the equator on the earth surface.

(1) Only i (2) Only ii

(3) Both i and ii (4) Neither i nor ii

Friffa & & fr-ar,/a wom Rad saet & o § ge 2/ 7

i. QWW@%%WWWW@Tﬁmwwﬁﬁ
AT e B

. T qAey W@ B 99 gt @ gas 9 T B

(1) T i - (2) Fad ii

(3) i ii AT (4) T aArisix 9 &ii

Which of the following is/are true regarding BSh climate as per Koppen's climate

classiﬁcatio_n ?

1. Potential evaporation exceeds precipitation.

ii. Average annual temperature is more than 18°C.

iii. They are found along the fringes of sub-tropical deserts.

(1) iand ii (2) 1, ii, and iii

(3) onlyi (4) only iii

m%mm-%wmm%ﬁéaﬁﬁmﬁf@aﬁé

PHH-E1/8 FF e/ 7

i, gGwfag arsdremer auf § s T |

ii. oNgg aifde argH™ 18°C @ sifye ®

iii. g8 SNSRI WA B R 9T oy

(1) i 3 ii (2) i, ii M iii

(3) & i (4) I iii

Which of the following is a cold current ?

(1) Gulf stream (2) California Current

(3) North Atlantic Drift (4) Brazilian Current

Py f @ B9 S AT R ?

(1) TF E (2) R Pie

() el Srees T (4) TSR e
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21. Which of the following statement/s is/are frue about types of folds ?

i. The difference in the intensity and magnitude of compressive forces also causes
variations in the characteristics of fold.

il. Recumbent folds are formed when the compressive forces are so strong that both
the limbs of the fold become parallel but not horizontal.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither inor ii

Fr=fifaa & & H9-a1,/8 9 aoq 3 g & ar § g /8 ?

i. ddew Tl B Aaar ox aftmrer § siqw off gom @ Edwaredt # 9feads
BT BT I B | ,

ii. T g BIeS TG T ¥ AT FIRGT B 3 Ao A B B Bes B
A ST TR & T ¥ AT Afer w8 8 |

(1) dai (2) Badtii 3) ioliia=t  (4) T a@ri el 7 i

22. Which of the following statement/s is/are frue about sliding continental theory of Daly
on mountain building ?

i. A solid crust was formed much later after the origin of the Earth.

ii. Mountains have formed by the folding of geosynclinal$ sediments as a result of
lateral pressure exerted by the sliding of the continental crust towards the
geosynclinals seas.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

gda FHIOT 9X STl & WRfET #feded = & ar # Fefatag d &

HA-AT/H FIT TF /8 ?

i. 9T & IR & Fgd oG H T 31 YU i FHIOT g3 |

ii. FNfERRT F9aT #l AR ABEdy e & Rgashd 9 IT— U a9 &
gfomEaEy EffTa dase & 98 X1 Y8Ts! &l e g 2 |

(1) &Hadi (2) FHad ii () iARIIAT  (4) T AiAR T B

23. Which of the following chemical weathering involves the process "Kaolinization" ?
(1) Hydration (2) Hydroloisis (3) Chelation (4) Carbonation
frfafaa & @ fpg g oTgerd # “GrellicmTgsie” ufthar et & ?
(1) ST ) eEgifaad (3) A (4) FHEHIA

24. Which of the following statement/s is/are frue about Slope development ?

i. In Slope replacement, the steepest part of the slope progressively decreases in
angle, accompanied by the development of a convexity and concavity.

ii. In slope decline, the maximum angle decreases through replacement from below by
gentler slopes, causing the greater part of the profile to become occupied by the

concavity.
(1) Only i (2) Only 11 (3) Bothiandii  (4) Neither i nor ii

PG-EE-June, 2023/(Geography)(SET-X)/(D)



F=foRag § @ S9-a1/8 Fy9 oo g & aTR § g 2/8 ?

. Tae gfermgs # oA & 999 o e S9ddr R faaad & [
% -9 Ho7 F IFAGL g SAdr S |

ii. saM FREe §, sifmay @7 &8 oo ga@)T A § gk & Areny
q gedr g, WWW@%@TW@WW%|

(1) aei (2) e ii 3) iARiigAr (4 T AiAR T i

25. Consider the following statements :

i. Antecedent streams are those which are originated prior to the uplifiment of land
surface.

i1 Antecedent stream is a type of insequent drainage system.

iii. Superimposed Drainage System is a type of obsequent streams.

Which of the statements given above are correct ?

(1) 1and ii only (2) iiandiiionly (3) iandiiionly (4) i, iiand iii

Fr=fRad e o) e Hifsi

i WW&%%%@#W%W%Q@%W@%
. qdadit 9T U W Fl HHE ST Rl gl ©

. W@HWWW@WW%!

SR A W™ A F q HH-7 G E ?

(1) Bad iRl (2) Dawii Aiii (3) Iawwi Al  (4) i, i A ii

26. Which of the -following landforms is a result of erosion and deposition both at the same

time ?

(1) Structural benches (2) River terraces

(3) Meanders (4) Gorges

e § @ H9-9T AR TG AR 89T A4 F1 TH & gHg F gy
g7

(1) SEATHS o9 (2) =< Afdem

(3) A=d (4) MSE

27. Which of the following statement/s is/are frue about sand dunes in an arid location ?
i. Longitudinal dunes are generally formed in the heart of trade wind deserts.
ii. In Barchan dunes, the horns always project upwind.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor i
Prafefed § @ H9-91/8 F9F T I & J 3 & il » aR F g
g/2 7

i, oY e AR W AMRS Taw AT & = F a°d B
ii. w9 fea #, g (SF) RS &A1 H TAIT HA E |
(1) ad i (2) dad ii (3) ieRiiaAr  (4) T ari AR J &ii
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28. Which of the following statement/s is/are frue about ecological approach of Man-
Environment relationship ?

i. A man is not considered as an integral part of nature/environment.

ii. It lays emphasis on rational exploitation of resources and optimum utilization but
not the recycling of resources.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii

AHE-qHEReT e & MR gieder & ar § Frefited & @ fe-ar/d

T FH /8 7

i. AT B Ui /gaiaRer &1 AR ST qE A S B

i, g d9EAl B dedTa S olR gwdad SUAnT U S AT 8 dfeh
HEEAT & gAEhoT 9X e |

(1) aai (2) Had ii (3) iaMRiiaqar  (4) 7 iy 7 @i

29. Which of the following statement/s is/are true about ecosystem ?

i. Low species diversity of a mature ecosystem representing a 'climax community is
related to more stability of natural ecosystem.

ii. Ecosystem instability results when an ecosystem becomes unable to adjust with
environmental change.

(1) Only i (2) Only ii (3) Bothiandii - (4) Neitherinorii

qRRaRE o & ar § Freafatad § @ ae-and s g 28 7

i. T ‘IXEIEhY GHE’ H AR 6id ar U qikge qriRiRefient IF @
ey gemifer fafaear i aiRafedr o5 @ eifye Rexar & d&fva 31

ii. gRafya dF @ ARYxar @ Ry d9 a7 & 99 Wb ariiRfen
qataRor aikads & arr gHEsTd e § oraHe & ST © |

(1) Fadi (2) Bad ii B) idRiiAAT (@) T Ari R T i
30. Which of the following statement/s is/are true about Food chain and food web ?

i. Richer the biodiversity, the food web becomes longer and more complicated.

ii. A more complicated food web is more stable. _

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Frfefag ¥ & F9-ar,/3 FuF @Rd ST AR TEd a9 B IR § §F 5/8 7
. S fafywar R @gs @, @gg S I @ dsT R Sfeq B

STIQT |
i. o S Afew gy sw s wWE T B
(1) o i (2) e ii 3) i ATii A (4) 7 qVislx 7 i
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31. Which of the following is frue about map scale ?
i.  Large-scale maps show large portions of the Earth's surface.
1. Small-scale maps are less detailed.
(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii
A & e $ e § Frefatag ¥ § SH-ar g8 v
i TS TE F gEfas g @ gde @ a2 RE @ e ¥
ii. Bl TM & gmfes w9 faega B 2

(1) &I i (2) ad ii (3) idMRiiga=ar  (4) T @i A i
32. Which of the following defines the orthographic projection based on the source of
light ?

(1) The light emanated from the center of the globe

(2) Light source is at the point opposite the point of tangency
(3) The light emanated from the infinity

(4) None of the above

Frfafed & @ ®F gsbier & A ® SR IR SATenfthes Heiqor Sf af e
HIAT & 7
(1) T B Bz A FIpar Toher
(2) 19l Wa wWeREn & [{udd fog w '
(3) A= @ FAehelr gemrer
(4) IUAFT F A HE TE ‘

33. Which of the following is frue about The Universal Transverse Mercator (UTM)
system ?
i. Itis a coordinate system that covers the entire world from 84° South to 84° North.
ii. It is subdivided into 66° zones that are clongated in the north-south direction.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
mmﬁwrw%%ﬁﬁ%ﬁaﬁqu

i. %@WW%@T@WZ&SMW%SM@ﬂ{dchcbcu

HIA B |
ii. ge 66° AFT A Iu-fira ® S IR-afRrer feen # fawga B
(1) Paeti (2) had ii B) iARiIIE @) F AR T i

34. Which of the following is false regarding maps ?
(1) Chorochromatic : When different objects are shown by different colors.

(2) Choropleth : When different degree of value is shown by different shades of lincs

or a single color.
(3) Choro-schematic : When different values are shown by different types of diagrams.

(4) Isopleth : All those maps in which lines of equal values are shown.

PG-EE-June, 2023/(Geography)(SET-X)/(D) P.T.O.
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35.

36.

37.

AR & dey d FrsfaRag 3 @ He-ar orger ¥ ?

(I)Wm:m%—fﬁwa@aﬁaﬁrfﬁ?—&mtﬁﬁmmﬁl

(2) BT © S IEET-ITRET A A [l a1 U & T BN SHET-STAT
g R smar @)

(3) PRA-AorE= : st i ger 3§ ot g R Jm Rame s # )

(4) T @ Y [ wEE R aae Ay @ Yand qetd Sl # |

Which of the following statements are frue about dot density method ?

i Itis an effective way of illustrating variations in spatial density.

il. Large ranges in data valucs is suitable for this technique.

(1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii

g o fRfyr & I & Frafefag & @ A9-9 Fo7 g & 7

i ¥E e aqe § RAfggdiett # qaf @& ow gurEdr qdewr 2

ii. 8 JHAP & e 3o g & 9 I Suged B

(1) Pasi (2) Pad ii (3) iefTiid=  (4) F aried T &ii
Which of the following statement/s is/are frue about atmospheric intcraction of
electromagnetic radiation ?

i.  All clectromagnetic radiation detected by a remote sensor has to pass through the
atmosphere once.

ii. Non-selective scattering results in haze in photography and blue sky.

(1) Only i (2) Only ii

(3) Bothi and ii (4) Neither i nor ii

Frfefad & & S-91/8 ®o fegd-gem R & agasdam o=

frar & s & g 2/8 7 .

i. R 69X @@ 9 e W el Regga g e @ o 9w
FIATEReT q IEAT ISl © |

i, I-TEEs g & aReTTEET G ok AR e & gy A
2

(1) &aati (2) Fatii

(3) i M ii AT 4) T @i T &ii

Which of the following objects spatial reflectance curves shows the peak and valley
configuration ?

(1) Vegetation (2) Water (3) Soil (4) Glaciers
fFrafafaa & & $9-91 o) @Fe quaa a% (e o g fare @
g B 7

(1) aeafe (2) 9t 3) & (4) ey
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Which of the following statement/s is/are true about Geostationary satellites ?

1. They are located at an altitude of about 36,000 km and above.

ii. GOES and METEOSAT are some of the satellites under this category.

(1) Onlyi (2) Only ii (3) Bothiandii  (4) Neither i nor ii
TfF Iumel & an ¥ fFrafafaa & @ fH-a1/8 FaF g7 8/8 7

i A T 36,000 R olR SHE eifus @ Farg WX Red B

ii. GOES 3k METEOSAT 3@ a°ft & ®5 3Iuue 2 |

(1) &aai (2) Fad ii @) ifTiiaqar  (4) T @A T i

Which of the following type of resolution is the capability to differentiate the spectral
reflectance between various targets ?

(1) Spectral (2) Spatial (3) Temporal (4) Radiometric

e & & fpd vt &1 Wegee R wedt & 4= aofspdg gaadT @
T HIA W AT T B 7

(1) SFga (2) Tenfen (3) THORA (4) ?%ﬁﬁ@zs‘
Which of the following pairs is false ?
(1) RADARSAT - India (2) OCEANSAT — India
(3) IKONOS — USA. . (4) CARTOSAT - India
. frafafea d @ a9-a1 gH sraw & 7
(1) TTRAT - IR (2) MR - 9T
(3) FHIE - JuEY (4) FEET - ART

Which of the following Union Territory of India has the highest proportion of ST

population as per 2011 census ? _

(1) Andaman and Nicobar Islands (2) Lakshadeep

(3) Dadar and Nagar Haveli (4) Daman and Diu -

2011 & TROET & FAJIAR ARG & F=feiad § 9 fFa d= afaag gker F
STTIICr &1 SAETET &l STIIT Fad 3A¥F & ?

(1) =AM R FHER @9 998 (2) @&y

(3) TEY IR T &l (4) T I} I

Which of the following statement/s is/are incorrect about the irrigation in India ?

i. Tank irrigation is popular in the North-Eastern part of India.

ii. The canal irrigation is popular in the Northern plains of India.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinorii
Prefefag & @ H-ar/8 HIF 9 A A & aR & 77 /8 7

i, WRT & SU-gdl wET # arre = b @

i, 9eY R ard @ I8 el § A 2

(1) &ad i (2) Pad ii (3) i ii AT (4) 9 ar islX 7 & ii

PG-EE-June, 2023/(Geography)(SET-X)/(D) P.T.O.
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43.

44.

45.

46.

Which of the following statement/s is/are correct about the agriculture in India ?
i. India has a low percentage of reporting area under cultivation.

ii.  About 3/4 of total cropped area is under irrigation.

(1) Onlyi (2) Only i

(3) Both i and ii (4) Neither i nor ii

FefaRaa & @ P-a1,/Q FoT g § Fy $ ar T @& 8/2 7

i WA # @t & qed R &85 ar afqed w7 2

ii. BB ®HEA &F BT AT 3/4 RifE a3 B

(1) Pad i (2) &ad i

(3) i3 ii AT (4) F arisfhx 9 2 i

Which of the following statement/s is/are incorrect about Cotton cultivation in India ?
i. It required uniformly high temperature above 30°C.

1i. It is a Rabi crop that takes 6 to 8 months to mature.

(1) Only i (2) Only ii

(3) Both i and ii (4) Neither i nor ii -

ARG § H9E H A & AR 7 Frafataa § § 9 a8 FE Toag 28 7
i 38 30°CH Y @9 ©9 § I=g A9 P STETHRAT Bl B |

ii. I8 I & wEd & Y 9 F 69 8§ HEM B 9HT @ar 2

(1) ad i (2) Had ii

(3) i3 ii ST @ FaidAR T &

Which of the following is incorrectly matched about Iron ore deposit in India ?
(1) Gorumahisani — Chhattisgarh (2) Kiriburu — Odisha

(3) Kundem Surla — Goa (4) Bababudan hills — Karnataka
frrfafad & & PF-91 9T & dlg 3% B Y9ER P Qi § TerT gafed B 7
(1) eI - BaiETe (2) fpRgE - offean 4

(3) HSH FIAT - TMar (4) IYET YBISAT - FAtes
Which of the following states in India has the largest Lithium reserve ?

(1) Karnataka , (2) Jammu and Kashmir

(3) Jharkhand (4) Rajasthan

aRa ® Freafafaa 3 4 g 1o ¥ [AEs o |99 937 sgr 2 2
(1) &ATe® (2) ST 3R HAX

(3) FIREs (4) ToTERIT

PG-EE-June, 2023/(Geography)(SET-X)/(D)
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47. Which of the following is incorrectly matched about Petrolium Refinery Industry in
India?
(1) Mathura — Indian Oil Corporation  (2) Mumbai — Hindustan Petrolium
(3) Jamnagar — Reliance Industries Ltd (4) Manali — ONGC
i & @ P-ar 9ra & I0fkE ReEad s & ar § qag ais
q A @rar ® 7
(1) 7Y - ST e FARew (2) g8 - fege= Iferaw
(3) TR - Rem=d gsiisr fafiee (4) 79l - ONGC
48. Which of the following is incorrectly matched ?
(1) Nathpa-Jhakri in Himachal Pradesh — Hydroelectricity
(2) Tanda in Uttar Pradesh — Hydroelectricity

(3) Bargi in Madhya Pradesh — Nuclear Power Plant
(4) Kalakot in Jammu and Kashmir — Thermal

= H | I9-ar 7 A9 @ar ® 7

(1) feHT=T weder # Frear-snhd - SAfded
.(2)G?ITQ%3TETET€T—GEIT§'§?T

(3) ST Heg Uaer H - qRATY Foll HIH
(4) ST-HHR F HIehle - gHA

49. The book "Nature of Geography" was written by :

(1) Ratzel (2) Hettner (3) Hartshorne (4) Immenuel Kant
‘AR STH SHITH’ & fhde arT e R 7
(1) oI (2) BT (3) eréens (4) AL FHie

50. What does the word "Entropy" mean ?
(1) A region typically characterized by a culture
(2) A measure of the disorder within a system
(3) A phenomenon of widespread dispersal of innovation
(4) A location from Awhich a particular culture has evolved
TTd e T T IR § 7
(1) T & FH STHAR G AATA b HEpiy &7 g SR 2
(2) T FOTRA & HdY a6 & A
(3) AR & ATYH Bed A HeAT
(4) Ts T ST A T A w@epl et g @

PG-EE-June, 2023/(Geography)(SET-X)/(D) P.T. O.
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51. Which of the following statement/s is/are correct about models ?
i.  Iniconic model, the real world is represented by just a change in the scale.
ii. In analogue model, real world properties are represented by other properties.
(1) Only i (2) Only ii
(3) Bothi and ii (4) Neither i nor ii
et & aR & Frafaiad ¥ & De-ar,a wu gd 2E ?
L Hffe S ¥, arafam g & 4 & geaE  qaRT &9 S ¥
. QAT Hew H, awdfas g qor o7 et g geie o ¥
(1) Fad i (2) Pae ii
(3) i3 ii QT (4) 7 arisfe 7 i

52. The term Ecumene represents which of the following in Geography ?

(1) Inhabitated portion which remain sparsely populated and contain few resources.

(2) Empty Space with no foreseable development
(3) War zone

(4) Biodiversity rich ecosystems with no human population.

Ecumene st st # frfoiRaa & @ o sfafafye & 2
(l)a@rgq%@ﬁwawm‘?aﬁw%%ﬁﬁﬁﬁ@swa#éﬁ%l
(2) @Rt T8 el Mo wiasy & 2 g 78 2

(3) F= &=

(4) fomr A9 enar A S fafuar T9w aRRefs O

53. Theory of intervening opportunities of migration was propounded by :

(1) Ravenstein (2) Stouffer (3) G.K. Zipf (4) Bogue
W%m%mwmmmuﬁmﬁﬁmwm?
(1) A+ (2) ETHT (3) sflo®o B (4) g

54. Which of the following statement/s is/are correct about Population Pyramids ?
i." A stationary population produces a wide-based and regularly tapering pyramid.
ii. A regressive population produces regularly tapering pyramid.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ij
sHEE e & ar # fFrafalag § @ S9-91/8 S99 g8 &8 ¢
i. UH R el o Aum-AeRG IR FEfa w9 § gdqer Rty g9

2
ii. ue gl Sadear Fafg w9 @ gaar s g9 2
(1) Padi (2) Fad ii (3) ieMiiAFT @) T Frielk 7 i
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55. The flow theory given by E. L. Ullman, which of the following is nof a factor affecting
interactions between regions ?
(1) Complementarity (2) Intervening opportunities
(3) Size of the population (4) Transferability
$o Tdo 399 BRI f&ar T wae fusr<, Frefaiad § 9 #H-a1 s 8=
® &= ofa:fRar ® uaifad 78 #ar B 7
(1) 9ehar (2) BW8T & ATEX
(3) SEIERET T BT (4) EETEOIT
56. Which of the following statement/s is/are correct about Earth as a system ?

i. Earth's energy equilibrium is an example of an open system.
ii. Earth's physical matter is an example of a closed system.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
Th Ul & &9 H gy & ar F efatag § & dA-a/8 w9 gel
2/8 7 -

i. gl %1 o1 Hged T Gl TOTel @l U JEERT 2 |
ii. get % N qeref s dg gOTRA H T I&EI ¢ |

(1) Paai (2) dad ii ) iNTiiaqar  (4) T ariefw T i
57. For the Assertion (A) and Reason (R), choose the correct alternative from the

following :

Assertion (A) : In the second stage of Demographic Transition Theory, population

expands. ‘

Reason (R) : At this stage, the process of industrialisaion, urbanization and
modernization becomes prominent.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.

R (A) 3R &R (R) & fog, =folReaa § @ @8 feew & =99
HIvTY
Mﬁ?(A):WWM%WWﬁW@TWW
glaT € | - .

HROT (R) : 39 A H SN iaer, edeter X myfeiener @ gfkar
g 8 Sl B

(1) ASTRRIAT G & 3R, A S &l reAm B

(2) ASIRR AT § T qfT R, A& G& Jrear & © |

(3) AFT 8 9] R oTEH B |

(4) AT B AT REA B

PG-EE-June, 2023/(Geography)(SET-X)/(D) P.T. O.
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58. Which of the following statement/s is/are incorrect about Central Place theory ?

i. For each hierarchical level of central places, there is corresponding network of
hexagonal complementary areas of higher order.

ii. The concept of threshold is related to minimum distance to be covered.
iii. The range of goods is the minimum volume of business necessary.
(1) iandii (2) ii and iii (3) i, ii and iii (4) Only iii
PR T R B AR § Frafifag § @ de-ar,a wee 7w 88 7
i BT WA B IQ® YEEEET WX B R, g HH B e O3
&S T T Aeds aar B
ii. %ﬂ%ﬁ&ﬁwmﬁmﬁaﬁﬁwﬁﬁw%l
iii. 7T @ AN FAHE B STaTh AT HE 2 |
(1) i Mii (2) ii SR i (3) i, i 3N ii (4) Had iii
59. Which of the following statement/s is/are correct about Von Thunen Model of
Agricultural Landuse ?

i.  The prodcution of fresh milk and vegetables is concentrated in the zone I.
ii. Zone VI is good for the production of Firewood and Lumber production.

(1) Only i (2) Only ii

(3) Bothiandii (4) Neither i nor ii

BN 4 I B g g disd d ar 7 Fefied § & AE-91,8 Hud
e e/8 7

i. T Y AR AiSTgl & I S [ 7 HiEd B
ii. S VI ST dhe! AR dhel & IR & g a1y B

(1) Faeti (2) ®ad ii
(3) i3 ii T 4) T @ie} 9 ANii

60. Which of the following statement/s is/are correct about Weber's Theory of Industrial
Location ?

i. For a weight losing industry, the location will be near to the market.
ii. Isodapane is the line joining the points of equal additional transportation cost of
production and supply of finished product.

(1) Onlyi = (2) Onlyii (3) Bothiandii  (4) Neither i nor ii
TR & N @ & g & ar 7 FEciRea 5§ 9 d9-a91,/9 w5
qeT /8 ?

i, g9 HF HA g I B T WIF GO & ASTErh 8N |

ii. oTzAERN R SR B IEEA AR YR B T RfReR
AT @ fargall @ Sie A @ 8 | :

(1) P i (2) ad i @) iefRiidA (4 T AidAR T i
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61.  Which of the following statement/s is/are correct about origin of Himalayas ?
i.  Great Himalayas were formed in the first phase that commenced about 120 million

years.
ii. The Himalayas have attained the isostatic equilibrium.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii

ferea 9t Sofy & ar ¥ PrefRag § @ S9-a1,Q BuT gd 28 ?
i. ﬁz%qmwﬁﬂhqzﬁwﬁgaﬂ'mvﬁwuoﬁﬁmﬁaﬁgﬁ

BT o1 |
ii. fodema 3 szaefes dgaa o w¢ for B
(1) W i (2) B i 3) i iigAr  (4) T ar i T & i

62. Which of the following statement/s is/are correct about the Peninsular plateau of India ?
I.  Garo, Khasi and Jayantiya hills are the parts of Peninsular Plateau of India.
ii. Naga and Mizo hills are the parts of Peninsular Plateau of India.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
MR B UEEENE JeR & 9) § Frafiag § @ f-a1,/8 wud g8 /8 ?
i R, G SR ST geifsdl wRd $ uEEdiay terR & REy ¥
i, AT IR ST geifedl WRd & grEed T 9er B 9T ¥

(1) Pas i (2) Had ii B) iR iig= @) Farisik 7 & i
63. Which of the following stat ‘ment/s is/are correct about the River drainage system in
India ?

i. Himalayas rivers are mostly superimposed, and rejuvinated resulting in trellis,
radial, and rectangular patterns.

ii. Most of the Peninsular rivers are in youthful stage.

(1) Only i (2) Only ii (3) Bothiandii (4) Neither i nor ii

frfafed & & HF-a1/8 HeF 9RT ¥ T8 ofuae guel & 9 ¥ @ S8 ?

i, feamE @ ARIT SRR guigHcs ¥, iR $Emhe & qRomTEET 29,
e AR EAEER YT € |

i, oTfrepier gragddE AfRET gar ofgwer F ¥

(1) Faa i (2) dad ii @) iR iidE @ Farisihk 7 & ii
64. For the Assertions (A) and Reasons (R), choose the correct alternative from the
following :

Assertion (A) : There is a sudden burst of monsoon in India after 1st June.

‘Reason (R) : The ecasterly Jet stream sets in after the westerly Jet stream has
withdrawn from the region. |

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A is true but R is false.

(4) A is false but R is true.
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65.

66.

67.

SRR (A) 3R SR (R) 3 R Fr=fitaa & @ gef fFwed g1
SR (A) 1S B 9 R A ATET B STEES TEge i B
FOT (R) : T e &9 & A Rl e FEH F ged $ A< A L
(1) A3k R3MT & ¥ ok R A 9& = R

2) AT R3AFT 9 & AT R A S T8 e TE 8 |

(3) AT § T=J RaEd 2|

(4) ASTE™ & W RTd B

The pre-Monsoon shower is known as 'Mango shower' in which of the following
states ?

(1) Maharashtra  (2) Karnataka (3) Assam (4) West Bengal
Rrfafad § @ Rea wog F f-amee awt @, N e $ A [ S S
g7

(1) e (2) Hteh (3) eraH (4) qf= T

Which of the following states in India exhibit Dfc type of climate as per Koppen's

classification ?
(1) Western Rajasthan (2) Assam
(3) Arunachal Pradesh (4) Uttar Pradesh and Bihar

qa F Sretiag § 9 SE-ar 59 BT & aiiieer & Jgar Dic TR H
STqarg WefRid &ar § 7

(1) of3=Hr o= (2) ITEH

(3) STHUM=A H=LT (4) ITX woy AR fEr

Which of the following statement/s is/are correct about the Tropical Evergreen Forest
in India ?

i. They are found in the warm and humid areas with annual precipitation over 200
cm. ‘

ii. They are found in the hills of North-Eastern region in India.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
qg § SR ek a9 & 9R § FEfaed § |/ a9 || w9
e 2 /E 7

L 200 T F otfe aiies auf A T I o &S H w9 ¥
i ¥ AR ¥ Su-g & @ gerfsdt ¥ Ui S g
(1) Fad i (2) Ha i (@) i A (@) T @ idR T &
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68. Which of the following is the first Biosphere reserve in India ?

(1) Nanda Decvi (2) Nilgiri

(3) Sunderbans (4) Pachmarhi
Fefefaa & & @ ara & qear amedEe fod 207
(1) Fer 24 (2) rafrh

(3) ava= (4) T=HET

69.  Which of the following statement/s is/are correct about the soils in India ?
i. Bhangar alluvial soil are found in the low arcas and valley bottom.
i, Regur soil is the largest soil group by geographical area in India.
(1) Only i (2) Only ij (3) Bothiandii  (4) Neither i nor ii
Frfefaa & & @m-a1,4 w97 ama # foft & a & a8t 22 7
.\ Sele g FEe a3t o0 ard a9 #& 91 S 2
ii. VT A awa # deifers am amr gea aer g AgE 2
(1) A i (2) Faa ii (3) isfiiiaqt  (4) F @ i 3T T B i

70. Consider the following statements about population growth in India.
i. 1901-21 is characterized by stagnant population.
ii. 1951-81 is characterized by steady growth.
iii. 1981-2011 is charactrized by high growth but signs of slowing downs.
Which of the statement/s is/are correct ?
(1) Only i (2) Only ii (3) iand iii (4) iandii
qd # e gfa & g ° Fefafaa w991 ov fa=re $ifsm
i. 1901-21 =1 RET SE@AT A AR ST 2
ii. 1951-81 e gfes | 511 I 2
iii. 1981-2011 I== faehrd & A1 S & Afpd 6 29 & d@3a ¥

HH-91/8 FI9 BT /& 7
(1) a9 i (2) A i (3) i iii 4) i3 ii
71. Which of the following is correct about tropical evergreen forest biome ?
i. Presence of climbers, creepers and cpiphytes.
ii. The germination of plant seeds and sapling growth is extremely slow.
iii. The moisture content in the air decreases from the uppermost canopy downward to
the ground surface.
(1) iandiionly  (2) iiandiiionly (3) iandiiionly (4) i, ii and iii
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SeTEfd TeEeR a ArE & A § freried § 3 @ ger e
i, ST, Tdr N} IIfaEy i IuRfT |
i, N B G P siger X O B gha Jew Al AT B
i, zar & R # 9ET 99d SU wad § Y @ ol S @ dde dF DA
Bl St 2

() Baaial}ii  (2) Basii Wiii (3) PaariWiii  (4) 1, i SN il

72. For the Assertion (A) and Reason (R), choose the correct alternative from the
following :
Assertion (A) : The primary ecological productivity of the tropical rainforest biome is
the highest.

Reason (R) : There is maximum competition among thc various members ol
vegetation communities of the tropical evergreen rainforest biome to get light.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A s true but R is false.

(4) A is false but R is true.

sf¥ere (A) o) HRET (R) & forg, Ffafed & @ el fawea g -
m(A):WEﬁHWWﬁWWWW
I=dH & |

HROT (R) : THIT T HIA & [T IWHieddid da@eX auiad aram &
gaef el # Rt 9ewl & dra stfteras ufirgef 2

(1) AT REA! 9 & SR, A&l HEl e 2 |
(2) AR RIAT G € dAfpT R, Al Tl AT [81 2 |
(3) A9 & TX=J Ra™d 2|
(4) ASTHE B 9] R&H 2|
73. Which of the following statement/s is/are correct about marine biome ?
i. Distributions of marine plants and animals are less widespread in nature.
ii. The food chains and food webs of the marine biome are simple.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
JE AW & ar |# Frefafiag § @ SE-ar/8 wua g8 §/8 ?
i, FgE Nt oM Aa @1 e ggfa § w9 s B
ii. S9N aAm H wEd gEan o @Rg W @3 |
(1) &ad i (2) &Had ii (3) iARiIigA  (4) T ariedw T &
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74.

75.

76.

g
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Which of the following factors is nof associated with coral bleaching ?
(1) Global warming (2) El Nino Phenomenon
(3) Subsistence Fishing (4) Black Band Disease
Fefiiaa & & D-a1 e gare Ao @ defad 727 & 7

(1) et anf¥fer (2) AT AT FgEAT
(3) et g g+ (4) =p F= T
Isohypse connects the places having same values of :

(1) Fluid velocity (2) Precipitation
(3) Elevation (4) Temperature
STEHEEH T9F gedf aml @iy @y sfedr & 7

(1) =7 an (2) aeoT

(3) = (4) I

Which of the following statement/s is/are correct about Composition of the
Atmosphere ?

1. The volume of CO, and other gases is constant over the years.
ii. Water vapour increases from equator to poles.

iii. The highest concentration of dust particles is found in sub-tropical region than
equatorial region.

(1) iandii (2) ii and iii (3) 1, i1 and iii (4) Only iii

grIgHSd Hl GEAT & dR H FreAafaiad § § d-ar/8 w9 g8 28 7

i. CO, 3R =g AT &t 7=A7 ast § R ¥

ii. STaTST YHeA W@ G gal @ IR el B |

iil. gHEREE &5 B godr F INwRREd &9 ¥ gad d FHol @ Ieudw
qigdr aig S B

(1) i3 () iieMiii . (3) i, ii Aiii (4) B iii

Which of the following statemnt/s is/are correct about tropopause ?

i.  Air temperature at this area varies from equator to poles.

ii. The vertical temperature at this layer varies.

(1) Only i ~(2) Only ii (3) Bothiandii  (4) Neitherinor ii

frfafag & @ AH-91/8 HUF a9aH & R J g8 /8 7

i, =9 8y ¥ sa1 H AUHE YHE @ q gdi d% deaar Bl ¢ |

i, 39 W WX HEER qIEE B e B

(1) Fad i (2) FHad ii (3) iMiiA= (4) F F@riAR A i

P.T. O.
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78. For the Assertion (A) and Reason (R), choose the correct alternative from the
- following :
Assertion (A) : Equator receives comparatively less insolation than the tropics.

Reason (R) : Maximum insolation is received at sub-tropical area due to less
cloudiness.

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) A s true but R is false.

(4) A is false but R is true.

R (A) X HROT (R) & fog, Fr=fafaa & @ @@ fawed o1 =97

BRI L

SRETT (A) : SETHERT B AT F qHe Y@ JAAEH T HH FA
uTel Il B

FROT (R) : I~ 9 8 & HROT SAWEBeHg & F Ahdd FATT
o< BT 2 | » -

(1) A@TR?H’TW T RR AFH & AT B

2) ASIRRAIA! T & QAfehd R, A%l | e & 2|
(3) AT ¥ Ui R 7TH T |

(4) A ST9E B APT RET B

79. Which of the following correctly defines Albedo ?
(1) The difference between reflected solar radiation and scattered solar radiation.

(2) The difference between shortwave solar - radiation and long wave terrestrial
radiation ¢ ‘

(3) The percentage of absorbed solar radiation by dust particles.

(4) The percentage of visible light reflected by an object.

Frfofag & @ @ cRaS! & G811 & JRwiNT Hr ® ?

(1)%%%%%@@%%%%%

(2) JTET AR AeueE ok Jf=T A9 RRgIS AWy & " X

(3) g1 & Fol L@ SENa A QAfRTer H afaea »

(4) Fpel T BT OXERi g WehIeT i

PG-EE-June, 2023/(Geography)(SET-X)/(D)



D 23

80. For the Assertion (A) and Reason (R), choose the correct alternative from the
following :

Assertion (A) : Tropical cyclones are not formed near equator.

Reason (R) : At the equator, the coriolis force is zero and wind blows perpendicular to
the isobars. ’

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false.

(4) Ais false but R is true.

FHIT (A) R FROT (R) B g, Fr=feiad & & gt Repea &1 o=+ FfmT :
SHIT (A) : T T B I IwBeS T gehare A S ¥ |

HROT (R) : A @1 WX, HIRSNAH g LI 1 & AR sl FHaE @
% dggd g ¥

(I) ASTRR A & & oiRR, A& 91 e B

(2) ASIRRAN! ¥ 2 AfT R, A @& e =8 2

(3) AFH T TR RaTH B

(4) ASTHH & Jfhd REH 2 |

81. Which of the following statement/s is/are frue about Geometric correction in Remote
Sensing ?
i. It is the transformation of a remotely sensed image into a map with a scale and
projection properties.
ii. The performance of the sensors is continuously monitored by applying Geometric

correction.
(1) Only i (2) Only ii (3). Both i and ii (4) Neither i nor ii
;ﬁ;?ﬁfﬁﬂﬁwﬁ?ﬁagm%aﬁﬁﬁwﬁ‘mﬁﬁaaﬁw—m/ﬁmw q
/8 7
i, g8 U & aed By @ YAM IR UAUY YO F qy uF Aeres f
gRad 2| '
ii. ST U A1 & d9X & 9899 @ SR FERET @ ol 2
(1) dad i (2) dad ii (B) iR @) T qAiAR T i

82. Which of the following statement/s is/are frue about Digital Image Classification ?
It is a procedure to automatically categorize all pixels in an image of a terrain into

land cover classes.
Classification methods that relay on use of training patterns are called supervised

classification methods.
(1) Onlyi (2) Onlyii - (3) Bothiandii  (4) Neither i nor ii

1.

ii.

| PG-EE-June, 2023/(Geography)(SET-X)/(D) P.T.O.
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83.

84.

85.

Rftres By aftwor & at § Freffad § @ HF-a1/8 Fu @ 8/8 7
i %ﬁ—mmﬁﬁﬁ—waﬁmﬁmﬂh@aaﬁmﬁﬁmé
Fipd HIA & Teh IHAT © |

i T B a9 o uREe et & ouge 9x B ek, gadrEd
FfteRer Oy seaa &)

(1) @aai (2) Faetii (3) iefRii At (4) 7T i T i
The term 'Base Level' was proposed by ?

(1) J. W. Powell (2) W. M. Davis

(3) James Hutton ‘ (4) Dutton )

‘AT g’ = fRES g gEnfad fear = ar ?

(1) Sto S=go Ufaw (2) s=go wHo fqH

(3) S/ ®ed (4) seq

Which of the following statement/s is/are true about Davis Cycle of Erosion ?

i. Landforms are the evolved products of the interactions of endogenetic (diastrophic)
forces only.

ii. There is a long duration of upliftment and it goes hand in hand with erosion.

(1) Only 1 (2) Only ii (3) Bothiandii  (4) Neither i nor ii

M =k B AEd » IR F F=faRea § @ IF-Ar/8 =E g 22 ?

i g-mmm(m)wﬁmzmﬁ%mw
| : .

ii. I @ S ofafy Bl ® SN F' &R F WE-E Tl 2 |

(1) Bae i (2) Paeii (3) iTii T (4) 7 iR T i

Which of the following statement/s is/are frue about Seismic Waves ?

i. 'P'waves, are analogous to light waves.

ii. The speed of L wave is greater than P and S waves.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
i ao $ S} § Feafafed § & F-a1/8 w9 g 28 7

i. P Tt HHIYT qET B SHATET Bl 2|

i, L o @ ARy P ool S ad @ s a B

(1) Fadi (2) Fad ii (@) iMiidA  (4) T Aishk T ;i
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The concept of sea floor spreading was propounded by :

(1) Mckenzie and Parker (2) Hary Hess

(3) Alfred Wegener (4) Vine and Mattheus
IR T BA H SR B BRT iR # o ?
(1) A X gz (2) & 29

(3) IThE I (4) arzd X ey

Which of the following statement/s is/are frue about magnetic anomalies along the mid
oceanic ridges ?

i.  Normal and reverse magnetic anomalies are found in alternate manner on either
side of the mid-oceanic ridges.

ii. There is absence of parallelism in the magnetic anomalies on either side of the
mid-oceanic ridges.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neitherinor ii

9% HeTdN{E Hhesh B @y gahg faEnfat & e # Fefatad 7 @

DT-A1/H HIT FF 2/8 ?

i. AY-HEMERRE &Hehl b IAAT X Jhfeass ®F J g AR fagda
g RerieEt o o ¥

ii. A HEM™EFRT &Hehl @ a1 AR gade efaat § gamar & a9 2

(1) Fa i (2) Fa i (3) idRiia_t  (4) T @i} T ;i

Which of the following statement/s is/are frue about Isostasy ?

i. This term denotes the horizontal mechanical balance of various landforms on the
earth's crust.

ii. Airy's views on Isostasy was influenced by law of Compensation.

(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i norii

AR IR A7 FEfafed § @ F9-a1,/8 U g 28 7

i. %sigﬁﬁa%qﬁwﬁﬁ?ﬁ—am%éﬁaaﬁmﬁwﬁ
gL ¥ 1 .

i, TaRefe X T8 B e afgft & g @ gwfag @)

(1) dadi (2) Had ii (3) iARiIA (@) T Qqishk T &

Which of the following Intrusive Igneous rocks formation resembles to a bowl shape ?
(1) Sills (2) Lopoliths (3) Laccoliths (4) Phacoliths
frefalRag & @ dF-91 A<adl AFAT At H1 FHT HEAR B SMHR AGT
g & 7

(1) e (2) safered (3) TrepifeTed (4) Bpifered
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97. Which of the following statement/s is/are true ?
i. The Upper Quartile has 75% of the items of the distribution below it.
1i.. The second Quartile has 50% of items above it. _
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither inorii
fFr=fafaa d q HF-ar/8 #29 g /8 ?
i ST Tguiy § g9 Y faarer & 75% omged g
i, gER TgEe H 3D HUX 50% IFeH |

(1) Faai (2) &Had ii 3) islxiiddt  (4) T @i T i
98. Type Il error refers to :
(1) Rejecting true hypothesis (2) Rejecting false hypothesis

(3) Accepting true hypothesis (4) Accepting false hypothesis
@z 11 Ffe d=hia & @ - :

(1) T GReeTTT & SENHR HAT (2) T IIRBeadT &l FEHIE HLAT
(3) I URFBAT H HER AT (4) TS GRBeIAT B TBE HIAT

99. One Sample T test is used in which of the following cases ?
i.  When population variance is unknown.
ii. When the sample size is big. ) ,
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
forfaRaa & @ fha ama | o AT S GHET &1 IuFNT Rar Sr & 2
i, g SEEd Qe T el
ii. St9 Yoo AT ST
(1) Fawi ~ (2) BAAii 3) ieMRiidAT  (4) 7 ArisR T &ii
100. Which of the following statement/s is/are frue regarding correlation ?
i. Correlation measures causation.
ii. A scatter diagram is a correlation technique for visual examination.
(1) Only i (2) Only ii (3) Bothiandii  (4) Neither i nor ii
qedey & gay § frafaiad § @ sF-91/8 BF g 28 ?
i, geddy HE-HRT H AYAT 2 |
ii. Hex SHUM 39T UeT & Y Th AEHE Thelh © |
(1) Fasi (2) Faaii @) iATHAT (@) T Arielx 7 i
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